
Version 2
2018

MCSTFSMGSMASMAS SPS

Modular Assembly System Modular Conveyor System

Machine Guard System Stair and Platform System

Tubular Framing System



Modular
Assembly Technology

®

Profession Devotion Keep Improving 

Company Information



Complete product info
CAD library
Quick & Easy configurator
Calculation of profile deflection
Drawing conversion for profiles
Layout Designer for fast, easy planning

Planning Software

Availability of all components
Pre-assembled modules, complete frames
Prompt shipping and exemplary delivery reliability

On-time, rapid delivery

Company Information
Modular
Assembly Technology

®



Modular
Assembly Technology

®

Product Information

Modular Assembly System (MAS) is composed of industrial aluminum profiles and 
accessories. You can quickly find a solution for all tasks with the complete 
specification and variety of accessories from MAT.

Machine Guard System (MGS) is designed for customers with advanced guarding need. 
The special design of guarding profiles offer better appearance and unique fastening 
elements bring faster and safer connections. 

Stair and Platform System (SPS) is commonly used for overpass bridges over machinery 
and equipment. The assembly can be realized easily by simply fastening screws without 
any machine work. The system is very easy and convinent to use.

The Modular Conveyor System (MCS) includes belt conveyor, roller conveyor, chain belt 
conveyor, chain conveyor, pallet conveyor,  rotary, lift unit and etc. They are widely used in 
car component production, pharmaceutical, electronics, tobacco, packing and other industries.

MAS MGS MCSMAS SPS TFS

MAS SPSMGS MCSMASS TFS

MAS MGS MCSMASS SPS TFS

MAS MGS MCSMASS SPS TFS

M
A
S

M
G
S

Tubular Framing System (TFS) is a flexible modular system composed of special profile 
tubes and accessories to build a diverse range of flow racks and material shuttles. TFS 
is simple and quick to use, also low cost.

MAS SPSMGS MCSMASS TFS

T
F
S

S
P
S

M
C
S



Modular Assembly System---
safe, quick, reliable

Use our comprehensive range
to effectively cut working hours and costs.

Short planning times
Faster construction
�������	
����
�
���
����������
��
�������������
Reusable components
Available worldwide

Modular Assembly System

Modular
Assembly Technology

®

Product Information

Version 2
2018



Modular
Assembly Technology

®

Application Samples



Application Samples
Modular
Assembly Technology

®



Modular
®

Application Samples



Modular
Assembly Technology

®

Application Samples



Modular
Assembly Technology

®

Application Samples



Assembly Technology

®

Application Samples
Modular



Modular
Assembly Technology

®

Application Samples



Modular
Assembly Technology

®

Application Samples



Modular
Assembly Technology

®

1 Aluminum Profile

2 Fastening Elements

P. 1-06 P. 1-07 P. 1-08

P. 1-21P. 1-17P. 1-11 P. 1-22

P. 2-06 P. 2-08

P. 2-02

P. 2-05

P. 1-23

P. 1-24

P. 2-07

P. 2-03 P. 2-04

Products Index  



3 Connecting Elements

Modular
Assembly Technology

®

4 Profile Accessories

P. 3-03

P. 4-02

P. 3-07 P. 3-12

P. 3-32P. 3-31

P. 3-44P. 3-43P. 3-42

P. 3-34 P. 3-40

P. 4-04

P. 3-41

Products Index



Modular
Assembly Technology

®

5 Floor Elements 

P. 5-02 P. 5-03 P. 5-04

P. 5-14

6 Panel Installation Elements 

P. 6-02 P. 6-03 P. 6-04

P. 6-05

P. 5-15 P. 5-16 P. 5-17 P. 5-18

Products Index

P. 5-07 P. 5-11P. 5-10P. 5-08



Modular
Assembly Technology

®

7 Door and Window Elements

8 Additional  Accessories

P. 7-02 P. 7-03

P. 7-11P. 7-10P. 7-09P. 7-06

P. 7-14 P. 7-16 P. 7-17

P. 8-02 P. 8-03 P. 8-04

P. 8-05 P. 8-09P. 8-07

P. 7-04

P. 7-05

P. 7-12 P. 7-13

Products Index



Modular
Assembly Technology

® 

P. 1-06

1.11-1.41

P. 1-23 P. 1-24

Conduit Profile

1

Aluminum Profile

1-01
MGSMASMASS SPS TFS



Technical Data

Modular
Assembly Technology

®

1

2

3

4

5

6

7

8

9

F

f

L

F
F

F

f

2
2

1

1

L
L

L

F

f

L

F

f

1/2

L

fF

L

F
fm

L
fF

a b

L

fF

L

F

f

L

4

3

103 ��
�

�
IE
LFf

4

3

108 ��
�

�
IE
LFf

4

3

102948 ����
�
�

�
�
	 


�
�

IE
L
m
LFf

4

3

10384
5

��
�

�
IE
LFf

LIE
baFf
���

��
� 4

22

103

4

3

10384 ��
�

�
IE
LFf

4

3

10192 ��
�

�
IE
LFf

4

3

1048 ��
�

�
IE
LFf

4

2
22

2
11

3

103 ��
��
��
�

�
IE

LLFLLFLFf

Tensile Strength:min.185N/mm 2

Yield Strength:min.145N/mm 2

Elongation�������	
���
��
�������	
�
�	����
E-Module:approx.70,000N/mm 2

Brinell Hardness :HB 75 2.5/187.5
Coat Thickness: �11μ

Bending Strength

�
����








 Type of load 
�
�����






 Deflection

�
�����






Profile length
I (cm4��







������
��
�������
E (N/mm2��

���!"��
��
�"�#��$��%

Standard length of delivery profiles is 5800mm.
Extruded aluminum profile as per GB5237-2008, surface satin anodized.

Aluminum Profile

1-02
MGSMASMASS SPS TFS



1. Type of load F in N 

3. Move cross point on the diagonal 

4 

5. Cross point with the diagonal to be vertically
    extended to the bottom 

Example:

1. F=2,000N
2. L=1,000mm
3. Move cross point on the diagonal

4. I=80.8cm4 

    (1.1�	&�	�&����	�')�

    (1.1�	&�	�&����	�')�
5. Cross point with the diagonal to be vertically extended to the bottom

Type of load 1:       f=9.5mm

Type of load 4:       f=0.6mm

Type of load 8:       f=0.15mm

30000

200000

100000
90000
80000
70000
60000
50000

40000

20000

10000
9000
8000
7000
6000
5000

4000

3000

2000

1000
900
800
700
600
500

400

300

200

100
90
80
70
60
50

80.8

10
00

80
0

10
0

20
0

30
0

40
0

50
0

60
0

70
0

90
0

20
00

30
00

40
00

50
00

60
00

2000

1000
900
800
700
600
500

400

300

200

100
90

70
60
50
40

30

20

10
9
8
7
6
5
4

3

2

1
0.9
0.8
0.7
0.6
0.5

1

2

4

3

5

6

0.1 1 10 100 1000 mm

0.01 0.1 1 10 100 mm

0.001 0.01 0.1 1 10 100 mm

Deflection f in mm

Profile length L in mm 

Lo
ad

 F
 in

 N
 

Mo
me

nt 
of 

ine
rtia

 I i
n c

m
4

F

f
fF1/2

l

l

l

F

f

Type of load 4

Type of load 8

Type of load 1

Modular
Assembly Technology

®

Aluminum Profile

1-03
MGSMASMASS SPS TFS



Flatness tolerance

Modular
Assembly Technology

®

Straightness tolerance

Twist tolerance

����� 1 2 3 4 5 6
*����� 0.7 1.4 2.1 2.8 3.5 4.2

could be calculated according to the formula below:

L1

L2

h2

h1

+����
�����

���� ����
�&� 0.052xW 0.123xW

�&���� 0.026xW 0.087xW
������ 0.017xW 0.052xW

Putting the profile on a horizontal surface, the max bending height h2 in any 
"��;�*
��
������
�
�#
���
����
�*��
�	�����
<�����>
*
��	����	
?����
��

�*�
��""�@��;
��J"�
���
�*�
J�����;
*��;*�
*�
��
�*�
�!""
"��;�*
K����"�
����	

J���� @����
�&� 0.3

�&���� 0.5
������� 1.0

�*�
�"����##
��"����$�
@
���;!"��
��"����$��
�����#
��
!��O!�"
#���#
��
�*�
#*�����

side of the angle, i.e. it is measured from the longer side.

Aluminum Profile 

MGSMASMASS SPS TFS
1-04



T Slot Symbol

Parts compatible with T slot symbolized and incompatible with faded symbolized as below.

Modular
Assembly Technology

®

T Slot Symbol Cross Section Q���
)�"�
R Slot Width Slot Depth Wall Thickness Profile Group

            5.0             6.2              6.0   2.0 PG15
PG20

          10.0            8.2             8.0   2.2 PG30

          12.0            10.2             11.0   4.0 PG40

          12.0            10.2             13.0   6.0
PG45
PG50
PG60

10.2

11

4

U�
���&�

10.2

13

6

U�
���&�

6.2

6

2

U���'�

8.2

8

2.2

U�����
�

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

Machining Symbol

Aluminum Profile

Drilling Angle cutting Thread tapping

1-05
MGSMASMASS SPS TFS



1.11.15
Modular
Assembly Technology

®

.00

15x15 2 slots 15x30 3 slots

6.2
15

15

2

6

30
6.2

15

6 2

Description
Moment of 

Inertia
Ix(cm4�

Moment of 
Inertia
Iy(cm4�

Moment of 
?�#�#���$�

Wx(cm3�

Moment of 
?�#�#���$�

Wy(cm3�

Mass
�V;X�� Part No.

0.2 0.4 0.3 0.5 0.4 1.11.15.015015.02

0.7 1.8 0.8 1.2 0.6 1.11.15.015030.03

15x30 3 slots15x15 2 slots

Connector selection  

P. 3-12 P. 3-31 P. 3-32Inner Bracket Linear Bar Connector 

Aluminum Profile

MGSMASMASS SPS TFS
1-06



1.11.20
Modular
Assembly Technology

®

.00

6.2
20

20

U���'�

2
6

20
40

20

U���'� 6.2

2
6

40
60

20
U���'� 6.2

2
6

Description
Moment of 

Inertia
Ix(cm4�

Moment of 
Inertia
Iy(cm4�

Moment of 
?�#�#���$�

Wx(cm3�

Moment of 
?�#�#���$�

Wy(cm3�

Mass
�V;X�� Part No.

0.6 0.6 0.5 0.5 0.45 1.11.20.020020.?Z�	�


0.8 0.8 0.8 0.8 0.5 1.11.20.020020.04

1.4 5.1 1.4 2.5 0.9 1.11.20.020040.06

2.0 15.8 2.0 5.3 1.3 1.11.20.020060.08

2.6 35.9 2.6 9.0 1.7 1.11.20.020080.10

8.9 8.9 4.5 4.5 1.3 1.11.20.040040.08


�[
�
?Z�


#"��#

20x20 4 slots
�[
�
?Z�


#"��# 20x40 6 slots 20x60 8 slots

20
60
80

20

U���'� 6.2

2
6

20x80 10 slots

20
40

2040

U���'� 6.2

2
6

60°

40x40 8 slots

Aluminum Profile

20x20 4 slots 20x40 6 slots 20x60 8 slots 20x80 10 slots 40x40 8 slots


�[
�
?Z�


#"��#

20

20

2

U���'�

3

3

6

6.2

Connector selection  

tekcarBtsaCeiD P. 3-07

P. 3-12

P. 3-31Inner Bracket

P. 3-32Linear Bar Connector 

1-07
MGSMASMASS SPS TFS



1.11.30

15x90 7 slots

Modular
Assembly Technology

®

30x30 2 slots Type A 30x30 4 slots Light30x30 2 slots Type B 30x30 3 slots 

30x60 6 slots 30x90 8 slots 30x120 10 slots 

60x60 8 slots 60x60 L 8 slots 60x120 12 slots

.00

30x30 4 slots 

Connector selection  

Strut profile PG30 featuring 8mm T-slot is designed for constructing medium weight assemblies such as machine structure frame, trolley, work station, 
partition and display frames etc.

Aluminum Profile

��[��
?Z�


#"��#

30x150 12 slots 

P. 3-15

P. 3-42 Screw ConnectorP. 3-31Inner Bracket P. 3-32Linear Bar Connector

tekcarBtsaCeiD P. 3-08Anchor Connector P. 3-03

MGSMASMASS SPS TFS
1-08



2.5 1.6 1.2 0.9 0.8 1.1�	��	������	?Z�	�


2.6 2.6 1.8 1.8 0.8 1.11.30.030030.04L

2.9 2.9 2.0 2.0 0.9 1.11.30.030030.02A

2.8 3.2 1.9 2.1 0.9 1.11.30.030030.02B

3.0 2.9 2.0 1.9 0.9 1.11.30.030030.03

2.9 2.9 2.0 2.0 0.9 1.11.30.030030.04

5.3 19.9 3.5 6.7 1.6 1.11.30.030060.06

7.7 62.0 5.1 13.8 2.2 1.11.30.030090.08

1.11.30

15x90 7 slots

Modular
Assembly Technology

®

.01

��[��
?Z�


#"��#

8.2 30

11.5
302.2

U���
��
�

U&
	��

�'
�

8

30x30 4 slots Light

23
30

2330

&	�[&	���'�

8.2
2.2

U�����
�

8

30x30 2 slots Type A

23
30

2330

U&	�
��'�

U&	���'� U�����
�

8
8.2

2.2 23
30

2330

U&	���'�

8.2
2.2

U�����
�

8

30x30 2 slots Type B 30x30 3 slots 

23
30

2330

U&	���'� U�����
�

8
8.2

2.2

Description
Moment of 

Inertia
Ix(cm4�

Moment of 
Inertia
Iy(cm4�

Moment of 
?�#�#���$�

Wx(cm3�

Moment of 
?�#�#���$�

Wy(cm3�

Mass
�V;X�� Part No.

1.4 40.4 1.9 9.0 1.5 1.11.30.015090.07

30
53
60

2330

U&	���'� U�����
�

2.2
8.2

8

30x60 6 slots30x30 4 slots 

23
30

2330

U&	���'�

8.2
2.2

U�����
�

8

60
83
90

2330

U&	���'� U�����
�

8.2
2.2

8

30x90 8 slots

Aluminum Profile

90

15 6.2

1.5
5.5

60
30

8.2

8

2.2

Strut Profile PG30 15x90 7 slots

Strut Profile PG30 30x300 4 slots Light

1-09
MGSMASMASS SPS TFS



1.11.30
Modular
Assembly Technology

®

.02Aluminum Profile

30
90

113
120

2330

U&	���'� U�����
�

8.2
2.2

8

30x120 10 slots

60
120
143
150

2330

U&	���'� U�����
�

8.2
2.2

8

30x150 12 slots

30
53
60

305360

U&	���'� U�����
�

8.2
2.2

8 30
53
60

305360

8.2

U�����
�

U&
	��

�'
�

2.2

8

30

3023

60x60 8 slots 60x60 L  8 slots

30
90

120

3060

U�����
�

60°

2.2

88.2

Description
Moment of 

Inertia
Ix(cm4�

Moment of 
Inertia
Iy(cm4�

Moment of 
?�#�#���$�

Wx(cm3�

Moment of 
?�#�#���$�

Wy(cm3�

Mass
�V;X�� Part No.

10.1 139.9 6.7 23.3 2.9 1.11.30.030120.10

Strut Profile PG30 30x150 12 slots 12.5 264.4 8.3 35.3 3.4 1.11.30.030150.12

35.3 35.3 11.8 11.8 2.5 1.11.30.060060.08

35.2 17.6 8.5 5.0 2.3 1.11.30.060060L.08

74.7 252.6 24.9 42.1 4.8 1.11.30.060120.12

60x120 12 slots

MGSMASMASS SPS TFS
1-10



1.11.40

&�[&�
?Z�


#"��#

Modular
Assembly Technology

®

40x120 8 slots Heavy 40x160 10 slots 40x160 10 slots Heavy40x120 8 slots 

80x80 8 slots Heavy 80x80 L 8 slots 80x120 10 slots 80x160 12 slots 80x200 14 slots 

.00

40x40 4 slots Super Light40x40 2 slots Type A 40x40 2 slots Type B 40x40 4 slots Light40x40 3 slots 40x40 4 slots 

40x40 4 slots Heavy 40x80 6 slots Super Light 40x80 6 slots Light 40x80 6 slots 40x60 4 slots 40x80 6 slots Heavy

heavy weight assemblies, such as machine structure frame, trolley, work station, 
Strut profile PG40 featuring 10mm T-slot is designed for constructing medium or 

Connector selection  

40x40 T45 2 slots

Aluminum Profile

40x40 1 slots

80x80 8 slots ��[��
?Z�
'
#"��#


120x120 12 slots 

partition and display frames etc. �\����"�
\]&�
�#
���O!���"%
!#���	

P. 3-15

P. 3-42Screw ConnectorP. 3-31Inner Bracket P. 3-32Linear Bar Connector 

tekcarBtsaCeiD P. 3-09Anchor Connector P. 3-03

1-11
MGSMASMASS SPS TFS



1.11.40
Modular
Assembly Technology

®

.01Aluminum Profile

MGSMASMASS SPS TFS
1-12

10
.2 40

15

40

4

11

U�
�
��&)

�[
��

�'
�

40x40 R90 2 slots 40x40 T45 2 slots

40x40 4 slots Super Light

30
40

3040

�[���'� U�
���&�

10
.2

4
11

40x40 2 slots Type A

�[���'�

30
40

U�
���&�

11
10

.2
4

3040

U���
'�

40x40 4 slots Light

30
40

3040

�[���'� U�
���&�

10
.2

4
11

40x40 2 slots Type B

�[���'�

30
40

U�
���&�

11
10

.2
4

3040

40x40 4 slots 40x40 4 slots Heavy

30
40

3040

�[���'� U�
���&�

10
.2

4
11

30
40

3040

U���'� U�
���&�

10
.2

4
11

40x40 3 slots

30
40

3040

�`���'� U�
���&�

10
.2

11
4

40x40 1 slot

10.2

4

U�
���&�

11

30
40

3040

U���'�

Description
������
��


Inertia

j[�$�4)

������
��

Inertia
j%�$�4)

������
��

Resistance

+[�$�3)

������
��

Resistance

W%�$�3)

��##
�V;X�� Part No.

8.3 4.8 3.0 1.9 1.3 1.11.40.040040.R90.02

'	� '	� 3.25 3.25 1.21 1.11.40.040040.T45.02

Z	' Z	' 4.5 4.5 1.5 1.11.40.040040.02A

Z	' �	' 4.8 4.3 1.5 1.11.40.040040.02B

9.1 �	' 4.5 4.3 1.5 1.11.40.040040.03

9.1 9.1 &	' &	' �	' 1.11.40.040040.04

11.5 11.5 5.8 5.8 2.0 1.11.40.040040.04H

10.4 10.1 5.2 5.0 �	'� 1.11.40.040040.01

�	' �	' 4.3 4.3 1.5 1.11.40.040040.04L

7.3 7.3 �	' �	' 1.3 1.11.40.040040.04SL

40

40

15

�[
��

�'
�

10
.2

11

4

U�
�
��&)

Strut Profile PG40x40 T45 2 slots



1.11.40
Modular
Assembly Technology

®

Description
������
��


Inertia
j[�$�4)

������
��

Inertia
j%�$�4)

������
��

Resistance

+[�$�3)

������
��

Resistance

W%�$�3)

��##
�V;X��

Part No.

13.3 
q	' '	' 9.2 2.3 1.1�	&�	�&��'�	�&

14.3 52.0 7.2 13.0 2.3 1.1�	&�	�&����	�'{�

15.8 59.1 7.9 14.8 2.5 1.1�	&�	�&����	�'�

�'	' '�	
 8.3 15.8 2.7 1.1�	&�	�&����	�'

22.2 80.8 11.1 20.2 �	' 1.1�	&�	�&����	�')

.02

&�[��
'
#"��#
)��|%

40
70
80

3040

U���'� U�
���&) 10.2

11
4

&�['�
&
#"��#

50
'�

3040

U�
��

'�

U�
���&�

10
.2

11

4

&�[��
'
#"��#
{!K��
��;*�

40
70
80

3040

�[���') U�
���&� 10.2

11
4

40
70
80

3040

�[���') U�
���&� 10.2

11
4

&�[��
'
#"��#
��;*� &�[��
'
#"��#

40
70
80

3040

�[���') U�
���&� 10.2

11
4

Aluminum Profile

1-13
MGSMASMASS SPS TFS



1.11.40
Modular
Assembly Technology

®

80
110
120

3040

�[���'� U�
���&� 10.2

11
4

80
110
120

3040

U���'� U�
���&� 10.2

11
4

40x120 8 slots 40x120 8 slots Heavy

Description
������
��


Inertia
j[�$�4)

������
��

Inertia
j%�$�4)

������
��

Resistance

+[�$�3)

������
��

Resistance

W%�$�3)

��##
�V;X��

Part No.

24.1 194.8 12.1 32.5 3.8 1.11.40.040120.08

33.0 255.3 �'	� &
	' 5.2 1.11.40.040120.08H

��	' 435.7 15.8 54.5 4.8 1.1�	&�	�&��'�	��

43.7 582.2 21.8 72.8 '	� 1.1�	&�	�&��'�	��)

.03

&�[�'�
��
#"��#

40
120
150
�'�

3040

�[���'� U�
���&� 10.2

11
4

&�[�'�
��
#"��#
)��|%

40
120
150
�'�

3040

U���'� U�
���&� 10.2

11
4

80x80 8 slots

40
70
80

407080

�[���'� U�
���&�

11
4

10
.2

Aluminum Profile

109.9 109.9 27.5 27.5 4.2 1.11.40.080080.08

MGSMASMASS SPS TFS
1-14



1.11.40
Modular
Assembly Technology

®

.04

Description
������
��


Inertia
j[�$�4)

������
��

Inertia
j%�$�4)

������
��

Resistance

+[�$�3)

������
��

Resistance

W%�$�3)

��##
�V;X�� Part No.


{��!�
\����"�
\]&�
��[��
?Z�
'
#"��#


{��!�
\����"�
\]&�
��[��
'
#"��#
)��|%

109.5 �'	& �Z	' 10.2 3.4 1.1�	&�	������	?Z�	�'

148.2 148.2 37.1 37.1 5.7 1.11.40.080080.08H

111.8 �'	� 20.1 11.9 4.0 1.11.40.080080L.08

222.1 449.2 55.5 74.8 8.3 1.11.40.080120.10

80x80 8 slots Heavy

80x80 L 8 slots 80x120 10 slots

80
120

4080

U�
���&�

'�}

10.2

11
4

��[��
?Z�
'
#"��#

40
70
80

407080

U���'� U�
���&)

11
10

.2
4

40
70
80

407080

U�
���&)
40

10
.2 30 40

�[
��

�'
)

11

4

Aluminum Profile

40

80

80

4030

40

40

4

10
.2

11

U�
���&�

�[
��

�'
�

1-15
MGSMASMASS SPS TFS



1.11.40
Modular
Assembly Technology

®

.05

80
�'�
200

4080

'�}

U�
���&�

4
11

10.2

80x200 14 slots

Description
������
��


Inertia
j[�$�4)

������
��

Inertia
j%�$�4)

������
��

Resistance

+[�$�3)

������
��

Resistance

W%�$�3)

��##
�V;X�� Part No.

287.5 975.5 71.9 121.9 10.4 1.1�	&�	����'�	�


353.1 1789.8 88.3 179.0 12.3 1.11.40.080200.14

'�Z	� '�Z	� 109.9 109.9 11.5 1.11.40.120120.12

80
120

8012
0

4

10.2

11

U�
���&�U�
���&)

U'2

'�}

120x120 12 slots

40
120
�'0

4080

U�
���&) 10.2
11

4

'�}

��[�'�
�

#"��#

Aluminum Profile

MGSMASMASS SPS TFS
1-16



45x45 4 slots 45x45 4 slots Heavy

1.11.45

45x45 R90 2 slots

Modular
Assembly Technology

®

&�['�
&
#"��#
 &�[Z�
'
#"��#
 &�[Z�
'
#"��#
)��|%

90x90 8 slots 90x90 8 slots Heavy 90x90 L 8 slots 90x180 12 slots

.00

45x45 4 slots Light45x45 2 slots Type A 45x45 2 slots Type B

&�['�
& &�[Z�
' &�[Z�
'  

45x45 3 slots 

Connector selection  

P. 3-15

P. 3-42Screw ConnectorP. 3-31j����
~��$V�� P. 3-32Linear Bar Connector 

teVcarBtsaCeiD P. 3-10tsarotcennoCrohcnA P. 3-03

{��!�
\����"�
\]&�
����!���;
����
��#"��
�#
��#�;���
���
$��#��!$���;
*��|%
@��;*�
�##��J"��#
#!$*
�#
��$*���
#��!$�!��
�����
���
@��V#*�K
K��������
��$	

Aluminum Profile

45x180 10 slots
45x180 10 

1-17 MGSMASMASS SPS TFS



1.11.45

45x45 R90 2 slots

Modular
Assembly Technology

®

�'	�
45

U�
�
��&�

13

'

10
.2 45

�[
��

��
��

.01

45x45 4 slots Light

33
45

3345

�[������ U�
���&)

13
10

.2
'

45x45 2 slots Type A

33
45

3345

U�
���&)

13
10

.2
'

�[�����)

U���
��)

45x45 2 slots Type B

33
45

3345

�[������ U�
���&�

13
10

.2
'

Description
������
��


Inertia
j[�$�4)

������
��

Inertia
j%�$�4)

������
��

Resistance

+[�$�3)

������
��

Resistance

W%�$�3)

��##
�V;X��

Part No.

10.5 '	& 3.5 2.4 1.5 1.11.45.045045.R90.02

10.5 10.5 4.7 4.7 �	' 1.11.45.045045.04L

12.9 12.9 5.7 5.7 1.9 1.11.45.045045.02A

13.7 12.1 '	� 5.4 1.9 1.11.45.045045.02B

12.9 12.1 5.7 5.4 1.8 1.11.45.045045.03

12.1 12.1 5.4 5.4 1.8 1.11.45.045045.04

�'	� �'	� 7.4 7.4 2.4 1.11.45.045045.04H

45x45 3 slots 

33
45

3345

�`�����) U�
���&�

13
10

.2
'

33
45

3345

�[�����) U�
���&�

13
10

.2
'

45x45 4 slots Heavy

33
45

3345

�[������ U�
���&�

13
10

.2
'

45x45 4 slots 

Aluminum Profile

MGSMASMASS SPS TFS 1-18



45
78
90

3345

�[������ U�
���&� 10.2

'
13

1.11.45
Modular
Assembly Technology

®

.02

Description
������
��


Inertia
j[�$�4)

������
��

Inertia
j%�$�4)

������
��

Resistance

+[�$�3)

������
��

Resistance

W%�$�3)

��##
�V;X�� Part No.

�'	
 27.8 7.2 9.3 2.4 1.1�	&�	�&��'�	�&

24.2 89.3 10.8 19.9 3.2 1.1�	&�	�&��Z�	�'

32.5 122.2 14.5 27.2 4.4 1.1�	&�	�&��Z�	�')

48.4 '&�	' 21.5 71.2 5.8 1.11.45.045180.10

�'�	
 �'�	
 �'	� �'	� 5.0 1.11.45.090090.08

48
'�

3345

�[������ U�
���&)

'
10

.2
13

&�['�
&
#"��#
 &�[Z�
'
#"��#

45
78
90

3345

�[������ U�
���&� 10.2

'
13

&�[Z�
'
#"��#
)��|%

90x90 8 slots

45
78
90

457890

�[������ U�
���&�

13
'

10
.2

Strut Profile PG45 90x90 8 slots

Strut Profile PG45 45x180 10 slots

Aluminum Profile

45
 

180

135
45

35

�'�

�[������ 10.2

'
13

U�
���&�

45x180 10 slots

1-19 MGSMASMASS SPS TFS



1.11.45
Modular
Assembly Technology

®

.03

Description
������
��


Inertia
j[�$�4)

������
��

Inertia
j%�$�4)

������
��

Resistance

+[�$�
3)

������
��

Resistance

W%�$�3)

��##
�V;X�� Part No.

�'�	& 80.3 
�	' 15.2 &	' 1.11.45.090090L.08

454.9 1585.7 101.1 �q'	
 12.7 1.11.45.090180.12

90x90 L 8 slots

45
78
90

457890

U�
���&�
45

�[
��

��
��

10
.2 33 45

'

13

45
135
180

4590

'�}

U�
���&� 10.2

13
'

90x180 12 slots

Aluminum Profile

45
78
90

457890

�[�����) U�
���&�

13
'

10
.2

90x90 8 slots Heavy

222.9 222.9 &Z	' &Z	' '	� 1.11.45.090090.08HStrut Profile PG45 90x90 8 slots Heavy

MGSMASMASS SPS TFS 1-20



1.11.50
Modular
Assembly Technology

®

.00

Description
������
��


Inertia
j[�$�4)

������
��

Inertia
j%�$�4)

������
��

Resistance

+[�$�3)

������
��

Resistance

W%�$�3)

��##
�V;X�� Part No.

20.19 20.19 �	�' �	�' 2.35 1.11.50.050050.04L

25.0 25.0 10.0 10.0 3.0 1.11.50.050050.04

&'	
 184.4 18.5 �'	Z 5.0 1.1�	��	������	�'

331.1 331.1 ''	
 ''	
 8.5 1.11.50.100100.08

35
50

3550

'	�['	�����

'
13

U�
���&�

10
.2

50
85

100

3550
'	�['	����� U�
���&) 10.2

13
'

50
85

100

508510
0

'	�['	����� U�
���&�

13
10

.2
'

��[���
'
#"��#

100x100 8 slots

50x50 4 slots50x50 4 slots Light

��[���
'
#"��# 100x100 8 slots50x50 4 slots

Connector selection  

P. 3-15

P. 3-42Screw Connector

Aluminum Profile 

50x50 4 slots Light

teVcarBtsaCeiD P. 3-11

Light

1-21 MGSMASMASS SPS TFS

35

50

50

U�
���&)

10
.2

'
13

'	�['	�����



1.11.60
Modular
Assembly Technology

®

.00

Description
Moment of 

Inertia
Ix(cm4)

Moment of 
Inertia
Iy(cm4)

Moment of 
Resistance

Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

47.7 47.7 15.9 15.9 3.8 1.11.60.060060.04

60x60 4 slots

60
10.2

60 10
.2

U�
���&�

13

6
14

x1
4(

M1
6)

60x60 4 slots

Connector selection  

P. 3-15

P. 3-42Screw Connector

Aluminum Profile

MGSMASMASS SPS TFS
1-22



Modular
Assembly Technology

®

12
20

10
0

15

12 20
100

60°U&	
����

Description Mass
(kg/m) Part No.

0.3 1.31.2020.03

0.6 1.31.3030.04

0.9 1.31.3535.04

2.3 1.31.5050.09

1 1.31.4040.05

8.5 1.31.100100.15

1.31.01

6
12

35

612
35

4

U'

U&	
���� 60°

Angle Profile 40x40x5

Angle Profile 40x40x5

12
50

20

12
50

20

U&	
����

60°

9

30

30

4

20

20

3

Angle profile is mainly used for producing angle bracket which has a wide range of applications with its good flexibility.
The surface treatment of the finished product can be natural anodized, black anodized, electrophoretic paint etc.

Note: The maximum delivery length of angle profile 100x100x15 is 4000mm, the others are all 5800mm.

Aluminum Profile

40

40

5

Angle Profile 40x40x5

1-23
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Description Mass 
(kg/m) Part No.

0.82 1.41.40.040040

1.41 1.41.40.040080

2.80 1.41.40.060120

1.94 1.41.40.080080Conduit Profile 80x80

Conduit Profile 60x120

Conduit Profile 40x80

Conduit Profile 40x40

Conduit Profile 80x160 3.64 1.41.40.080160

Conduit Profile 80x200 4.89 1.41.40.080200

Partition profile 16x48

1.the partition profile is used for partition and arrangement of cables 
   inside of big conduit profiles to realiza the reasonable design.

Note:

2.the partition profile is used for partition and arrangement of cables 
   inside of big conduit profiles to realiza the reasonable design.

0.35 1.31.1648.02

80
120


�U&

11

6.2

6

10.2

2

60


�U&

40

��U&

72
10.2

11

1.5

80

Partition profile-16x48

8.2
32

40

8

��U�

40 1.2

1.41.01

Conduit Profile

Aluminum Profile

100
160

80

6.2

6

40 10.2

11

2

&[U&

80x200

80

200
140

80

2.5

10.2

11

6.2

6

'�U&

Conduit Profile-80x80

10.2

11

72

80

80

2

3-U&

MGSMASMASS SPS TFS
1-24



2 Fastening Elements 

P. 2-02

2.11-2.51

P. 2-04

P. 2-05 P. 2-06 P. 2-07 P. 2-08

P. 2-03

T Nut 

Subsequent Nut 

Anti-torsion Subsequent Nut

T Bolt

Hole Reducer Bolt

Pre-set Nut

Square Nut

Modular
Assembly Technology

® 

Fastening Elements

2-01
MGSMASMASS SPS TFS



Pre-set Nut Sleeve-10 0.4 2.11.10.01

Pre-set Nut Sleeve-8 0.3 2.11.08.01

2.11

Fastening Elements

Pre-set Nut

Description D
Mass

(g/pcs) Part No.

Pre-set Nut-6-M4 M4 2.11.06.M4

Pre-set Nut-6-M5 M5
3

2.11.06.M5
10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Description D
Mass

(g/pcs) Part No.

Pre-set Nut-8-M4 M4 2.11.08.M4

Pre-set Nut-8-M5 M5 2.11.08.M5

Pre-set Nut-8-M6 M6

8

7

8

2.11.08.M6

Description D
Mass

(g/pcs) Part No.

Pre-set Nut-10-M4 M4 2.11.10.M4

Pre-set Nut-10-M5 M5 2.11.10.M5

Pre-set Nut-10-M6 M6 2.11.10.M6

Pre-set Nut-10-M8 M8

15

14

16

16

2.11.10.M8

Material: Pre-set Nut-nickel plated steel    Pre-set Nut Sleeve-EVA

.01
Modular
Assembly Technology

®

D

9.4

610

1.5

4.5

815

6.2

1.4

13.4

D

14.616.2

5.6

1018

9

3

18

D

19.2 19.2

6.8

Fastening Elements

Pre-set Nut can be only put into T slot from profile end, with low assembly efficiency, but with 
good connection and stability. The sleeve is to avoid any sliding when using the pre-set nut 
for assembly and can be fixed at any required position, especially in vertical position.

Reliability

Efficiency

Economical

MGSMASMASS SPS TFS
2-02



2.12
Modular
Assembly Technology

®

Fastening Elements

.01

Square Nut

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Material: zinc plated steel

Square Nut Clip-8 2.12.08.01

Description D Mass
(g/pcs) Part No.

Square Nut-8-M4 M4 2.12.08.M4

Square Nut-8-M5 M5 5

0.4

2.12.08.M5

Square Nut-8-M6 M6 2.12.08.M6

Description D Mass
(g/pcs) Part No.

Square Nut-10-M4 M4 2.12.10.M4

Square Nut-10-M5 M5

9

8

10

10

2.12.10.M5

Square Nut-10-M6 M6 2.12.10.M6

Square Nut-10-M8 M8 2.12.10.M8

The clip is to avoid any sliding when using the square nut for assembly and can be fixed 
at any required position, especially at vertical position. 

Fastening Elements

1515

3

D

1818

4

D

Square Nut Clip-10 2.12.10.010.5

2-03
MGSMASMASS SPS TFS

Reliability

Efficiency

Economical



2.21

T Nut

Modular
Assembly Technology

®

Description D
Mass

(g/pcs) Part No.

T Nut-8-M4 M4 2.21.08.M4

T Nut-8-M5 M5

4

4 2.21.08.M5

T Nut-8-M6 M6 3 2.21.08.M6

Description D
Mass

(g/pcs) Part No.

T Nut-10-M4 M4 2.21.10.M4

T Nut-10-M5 M5

8

8 2.21.10.M5

T Nut-10-M6 M6 7 2.21.10.M6

T Nut-10-M8 M8 6 2.21.10.M8

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Description D
Mass

(g/pcs) Part No.

T Nut-6-M4 M4 2.21.06.M4

T Nut-6-M5 M5
2

2.21.06.M5

Material: nickel plated steel

Fastening Elements

T Nut can be inserted directly at the assembly point, which makes the assembly very 
efficient, however the connection strength and stability is not as good as pre-set nut. 

.01

610

6

1

4

D

815

8

1.5

6.5

D

1019

10

9

3

D

Fastening Elements

MGSMASMASS SPS TFS
2-04

Reliability

Efficiency

Economical



2.31
Modular
Assembly Technology

®

Subsequent Nut

Subsequent Nut with a spring leaf can be inserted directly at the assembly point. The spring assists with assembly and 
positioning. The connecting strength and stability is same as t nut.

Description D
Mass

(g/pcs) Part No.

Subsequent Nut -8-M4 M4
8

7

2.31.08.M4

Subsequent Nut -8-M5 M5 2.31.08.M5

Subsequent Nut -8-M6 M6 2.31.08.M6

Subsequent Nut -8-M8 M8 2.31.08.M8

Description D
Mass

(g/pcs) Part No.

Subsequent Nut -10-M4 M4 2.31.10.M4

Subsequent Nut -10-M5 M5 2.31.10.M5

Subsequent Nut -10-M6 M6
9

10

2.31.10.M6

Subsequent Nut -10-M8 M8 2.31.10.M8

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

8
12

1
5.5

D

20

20

1410

1.5

6.5

D

Fastening Elements

.01

Material: zinc plated steel

Fastening Elements

Cost 

2-05
MGSMASMASS SPS TFS

Reliability

Efficiency

Economical



Anti-torsion Subsequent Nut

Modular
Assembly Technology

®

Description
Mass

(g/pcs) Part No.

Anti-torsion Subsequent Nut-8 (with top thread) 10 2.32.08.M6
6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Description
Mass

(g/pcs) Part No.

Anti-torsion Subsequent Nut-10 (with top thread) 15 2.32.10.M6

2.32.01

Fastening Elements

Material: nickel plated steel

Fastening Elements

Prevent profiles with screw connectors from torsion.

MGSMASMASS SPS TFS
2-06

8

7.8

16
4

5.5

8.6
M6

M6x8

6.5

10.6

9.7

1020
6

M6

M6x10



2.41

T Bolt

Modular
Assembly Technology

®

Similar to T nut, T bolt can be inserted directly at assembly point, with high assembly efficiency. 
The connection strength and stability are same as T nut.

Description L
(mm)

Mass
(g/pcs) Part No.

T  Bolt-8-16 16 7 2.41.08.16

T Bolt-8-20 20 8 2.41.08.20

T Bolt-8-25 25 9 2.41.08.25

Description L
(mm)

Mass
(g/pcs) Part No.

T Bolt-10-20 20 13 2.41.10.20

T Bolt-10-25 25 15 2.41.10.25

T Bolt-10-30 30 17 2.41.10.30

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

L

8

6.5

8
15

1.5

M6

L
3

10

9

10
19

M8

.01

Fastening Elements

Material: nickel plated steel

Fastening Elements

2-07
MGSMASMASS SPS TFS



Hole Reducer Bolt - M16/M8 M16 M8 20 19 2.51.16.08

2.51

Hole Reducer Bolt

Modular
Assembly Technology

®

Description D G L
(mm)

Mass
(g/pcs) Part No.

Hole Reducer Bolt - M10/M6 M10 M6 15 8 2.51.10.06

Hole Reducer Bolt - M12/M6 M12 M6 20 11 2.51.12.06

Hole Reducer Bolt - M14/M8 M14 M8 20 14 2.51.14.08

Hole Reducer Bolt - M14/M10 M14 M10 20 8 2.51.14.10

L

G
D

Hole Reducer Bolt M10/M6
PG45 with square corner hole-8x8(M10)

Hole Reducer Bolt M12/M6

Hole Reducer Bolt M14/M8
PG40/PG45/PG50/PG60 with core hole-U�
(M14)

Hole Reducer Bolt M16/M8
PG60 with square corner hole-14x14(M16)

.01

Fastening Elements

To reduce the hole diameter of the profile and improve the thread connection strength.

Material: nickel plated steel

Fastening Elements

MGSMASMASS SPS TFS
2-08



Modular
Assembly Technology

®

P. 3-03

3.11-3.92

P. 3-31 P. 3-32

P. 3-34 P. 3-41

P. 3-07 P. 3-12

Anchor Connector 

Die Cast Bracket 

P. 3-40 P. 3-42 P. 3-43

Inner Bracket

Linear Bar Connector 

Joining Plate

Butt Connector 

End Connector 

Screw Connector 

Cubic Connector

Connecting Elements

Connecting Elements

3

3-01
MGSMASMASS SPS TFS



Anchor Connector Die Cast Bracket Angle Profile Bracket Inner Bracket Butt Connector End Connector Screw Connector

Modular
Assembly Technology

®

Connecting Elements

Recommended Suitable Unsuitable

High feed force

High moment

High torsional moment

������"
���#*��;
@��V

Minimal assembly

Low parts costs

Subsequent mounting in closed frame

Adjustment possible

Internal connection (concealable)

Angle connection

Selection Reference

MGSMASMASS SPS TFS
3-02



Connecting Elements

Modular
Assembly Technology

®

3.11.01-02Connecting Elements

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

PG

(1~2)

H
PG

A
U�

PG
A

U�

H
PG

(1~2)

Anchor Connector

Material: zinc plated steel

Universal

3-03
MGSMASMASS SPS TFS

U�� U��

L

U�

H

H1

U�


L1

L2

Description Mass A D H H1 (g/unit) Part No.

PG30-Universal 38

58

60

15211230

20271532

L

45

52

52

D1

14

18

1822.5

L1

7

7

7

L2

4

5

5

D2

9.9

11.9

11.929.51530

3.11.30.01

PG40-Universal 3.11.40.01

PG45-Universal 3.11.45.01

D3

8

8

10



Connecting Elements

Modular
Assembly Technology

®

3.11.03-04Connecting Elements

PG
A

U�

(1~2)

H

PG

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

PG

A
U�

(1~2)

H

PG

Anchor Connector

Material: zinc plated steel

Standard (Model C)

Standard (Model P)

MGSMASMASS SPS TFS
3-04

H1

U��
U�

H

W

L

U�


L1

L2

Description Mass A D H H1 (g/unit) Part No.

PG30-Standard (Model P) 38

58

60

15211230

20271532

L

45

52

52

W

8

10

1022.5

L1

7

7

7

L2

4

5

5

D1

14

18

18

D2

9.9

11.9

11.929.51530

3.11.30.02

PG40-Standard (Model P) 3.11.40.02

PG45-Standard (Model P) 3.11.45.02

W

U�

H

U��

L

H1

U�


L1

L2

Description Mass A D H H1 (g/unit) Part No.

PG30-Standard (Model C) 38

58

60

15211230

20271532

L

45

52

52

W

8

10

1022.5

L1

7

7

7

L2

4

5

5

D1

14

18

18

D2

9.9

11.9

11.929.51530

3.11.30.03

PG40-Standard (Model C) 3.11.40.03

PG45-Standard (Model C) 3.11.45.03



PG
A

U�

(1~2)

H
PG

A Rotate

PG
A

U�

(1~2)

H
PG

A Rotate

A

PG

A

30°~150°

PG

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

Connecting Elements

Modular
Assembly Technology

®

3.11.05-06Connecting Elements

PG

A

30°~150°

PG

U�

H

(1~2)

Anchor Connector

Material: zinc plated steel

Oblique (Model C)

Oblique (Model P)

3-05
MGSMASMASS SPS TFS

�'�}���'�}

U��

�

L

U�

H

U��

H1

U�


L2

L1

Description Mass A D H H1 (g/unit) Part No.

PG30-Oblique (Model P) 55

72

78

15211230

20271532

L

38.8

43

43

D3

8

10

1022.5

L1

2.2

4

6

L2

5

6

5

D1

14

18

18

D2

9.9

11.9

11.929.51532

3.11.30.04

PG40-Oblique (Model P) 3.11.40.04

PG45-Oblique (Model P) 3.11.45.04

L

U��


�

H�'�}���'�}

U�

U��

H1

U�


L2

L1

Description Mass A D H H1 (g/unit) Part No.

PG30-Oblique (Model C) 55

72

78

15211230

20271532

L

38.8

43

43

D3

8

10

1022.5

L1

2.2

4

6

L2

5

6

5

D1

14

18

18

D2

9.9

11.9

11.929.51532

3.11.30.05

PG40-Oblique (Model C) 3.11.40.05

PG45-Oblique (Model C) 3.11.45.05



Connecting Elements

Anchor Connector

Modular
Assembly Technology

®

3.11.07Connecting Elements

Material: zinc plated steel

A A

H H

U�U�

(1~2) (1~2) A-A Rotate

AA

85°~180°

PG

PG AA

Miter (Model P)

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

Miter (Model C)

A

U�

H
PG40

(1~2)

A

U�

27
PG

40

(1~2)

85°~180°

A A

H H

U�U�

(1~2) (1~2) A-A Rotate

MGSMASMASS SPS TFS
3-06

L

� U�

H��}������}

U��

H1

U�


Description Mass A D H L (g/unit)

PG30-Miter (Model P) 63

97

100

38.8211230

43271532

4329.5

H1

15

20

22.5

D1

8

10

101532

3.11.30.06

PG40-Miter (Model P) 3.11.40.06

PG45-Miter (Model P) 3.11.45.06

Part No.D2

9.9

11.9

11.9

L

��}������}

�

U�

H

U��

H1

U�


Description Mass A D H L (g/unit)

PG30-Miter (Model C) 63

97

100

38.8211230

43271532

4329.5

H1

15

20

22.5

D1

8

10

101532

3.11.30.07

PG40-Miter (Model C) 3.11.40.07

PG45-Miter (Model C) 3.11.45.07

Part No.D2

9.9

11.9

11.9



10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

3.21.20.00
Modular
Assembly Technology

PG20-20x20 M4x8 Bolt
zinc plated

M4 T Nut
nickel plated

Fastening SetM
M4x8 Bolt
zinc plated

M4 Pre-set Nut
nickel plated

Fastening Set Z

4.5

18

6
818

3 Description Fastening Set Mass
 (g) Part No.

PG20-20x20 (pcs) 5 3.21.20.2020

PG20-20x20 (set M) 2xM 3.21.20.2020.STM

PG20-20x20 (set Z) 2xZ
12

3.21.20.2020.STZ

Connecting Elements

Connecting Elements

Die Cast Bracket

Material: diecast aluminum

3-07
MGSMASMASS SPS TFS



6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

3.21.30
Modular
Assembly Technology

PG30-30x30

PG30-60x60

PG30-30x60

26

27
10

11

66.5

10
12

16
12

57

6.5
26

6

10
12

16
12

57

30
56

6.5

6

Connecting Elements

.00Connecting Elements

Die Cast Bracket

Material: diecast aluminum

M6x14 Bolt
zinc plated
M6 Washer
zinc plated
M6 Pre-set Nut
nickel plated

Fastening SetB
M6x14 Bolt
zinc plated 
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening Set A

Description Fastening Set Mass
 (g) Part No.

PG30-30x30 (pcs) 21 3.21.30.3030

PG30-30x30  (set A) 2xA 42 3.21.30.3030.STA

PG30-30x30  (set B)

Bracket Cap-PG30-3030 

2xB 48 3.21.30.3030.STB

PG30-30x60 (pcs) 53 3.21.30.3060

PG30-30x60  (set A) 4xA 93 3.21.30.3060.STA

PG30-30x60  (set B) 4xB 105

3

12.4

3.21.30.3060.STB

3.22.30.3030

3.22.30.3060

PG30-60x60 (pcs)

Bracket Cap-PG30-3060  

120 3.21.30.6060

PG30-60x60  (set A) 8xA 200 3.21.30.6060.STA

PG30-60x60  (set B)

Bracket Cap-PG30-6060

8xB 224 3.21.30.6060.STB

13.9 3.22.30.6060

Bracket Cap-PG30-3030 

30

30

R30

60

60

R60

Bracket Cap-PG30-3060 Bracket Cap-PG30-6060

60

60

R60

MGSMASMASS SPS TFS
3-08



10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

3.21.40
Modular
Assembly Technology

M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 Pre-set Nut
nickel plated

Fastening SetE
M8x20 Bolt
zinc plated 

M8 Washer
zinc plated 
M8 Pre-set Nut 
nickel plated 

Fastening SetG

M8 Spring Washer 
zinc plated 

Description Fastening Set Mass
 (g) Part No.

PG40-40x40 (pcs) 50 3.21.40.4040

PG40-40x40 (set C) 2xC 92 3.21.40.4040.STC

PG40-40x40 (set D) 2xD 92 3.21.40.4040.STD

PG40-40x40 (set E) 2xE 106 3.21.40.4040.STE

Bracket Cap-PG40-4040 6 3.22.40.4040

PG40-40x80 (pcs) 125 3.21.40.4080

PG40-40x80 (set C) 4xC 210 3.21.40.4080.STC

PG40-40x80 (set F) 4xF 220 3.21.40.4080.STF

PG40-40x80 (set G) 4xG 250 3.21.40.4080.STG

Bracket Cap-PG40-4080  22.6 3.22.40.4080

PG40-80x80 (pcs) 260 3.21.40.8080

PG40-80x80 (set C) 8xC 428 3.21.40.8080.STC

PG40-80x80 (set F) 8xF 452 3.21.40.8080.STF

PG40-80x80 (set G) 8xG 508 3.21.40.8080.STG

Bracket Cap-PG40-8080 25.6 3.22.40.8080

PG40-40x40

8.5
36

14
.5

15
.5

36

8

PG40-80x80

40
76

14
.5

20
.5

16
.5

15
.5

76

8.5

8

PG40-40x80

8.5
36

14
.5

20
.5

16
.5

15
.5

76

8

Connecting Elements

.00

M8x20 Bolt
zinc plated

M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening Set F

M8 Spring Washer
zinc plated

Connecting Elements

Die Cast Bracket

Material: diecast aluminum

Bracket Cap-PG40-4040 

40

40

R40

80

80

R80

Bracket Cap-PG40-4080 Bracket Cap-PG40-8080

80

80

R80

M8 Flange Nut
zinc plated

M8x20 T Bolt
nickel plated

Fastening Set C
M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening Set D

3-09
MGSMASMASS SPS TFS



10.2
6.0

6.2
2.0

8.2
2.2

10.2
4.0

3.21.45
Modular
Assembly Technology

PG45-45x45

PG45-90x90

PG45-45x90

8.5
41

15
.5

19
.5

41

9

8.5
41

15
.5

23
.5

16
.5

23
.5

86

9

45
86

15
.5

23
.5

16
.5

23
.5

86

8.5

9

Die Cast Bracket

Connecting Elements

Material: diecast aluminum

.00

M8x25 Bolt
zinc plated

M8 Washer
zinc plated
M8 Pre-set Nut
nickel plated

Fastening SetK

M8 Spring Washer
zinc plated

Description Fastening Set Mass
 (g) Part No.

PG45-45x45 (pcs) 72 3.21.45.4545

PG45-45x45 (set H) 2xH 118 3.21.45.4545.STH

PG45-45x45 (set J) 2xJ 122 3.21.45.4545.STJ

PG45-45x45 (set K) 2xK 134 3.21.45.4545.STK

Bracket Cap-PG45-4545 7.6 3.22.45.4545

PG45-45x90 (pcs) 190 3.21.45.4590

PG45-45x90 (set H) 4xH 282 3.21.45.4590.STH

PG45-45x90 (set J) 4xJ 290 3.21.45.4590.STJ

PG45-45x90 (set K) 4xK 314 3.21.45.4590.STK

Bracket Cap-PG45-4590  28.7 3.22.45.4590

PG45-90x90 (pcs) 390 3.21.45.9090

PG45-90x90 (set H) 8xH 574 3.21.45.9090.STH

PG45-90x90 (set J) 8xJ 590 3.21.45.9090.STJ

PG45-90x90 (set K) 8xK 638 3.21.45.9090.STK

Bracket Cap-PG45-9090 32.5 3.22.45.9090

M8 Flange Nut
zinc plated

M8x25 T Bolt
nickel plated

Fastening Set H
M8x25 Bolt
zinc plated 

M8 Washer
zinc plated 
M8 T Nut
nickel plated 

Fastening Set J

M8 Spring Washer
zinc plated 

Connecting Elements

Bracket Cap-PG45-4545

45

45

R45

90

90

R90

Bracket Cap-PG45-4590 Bracket Cap-PG45-9090

90

90

R90

MGSMASMASS SPS TFS
3-10



10.2
6.0

6.2
2.0

8.2
2.2

10.2
4.0

3.21.50
Modular
Assembly Technology

Die Cast Bracket

Connecting Elements

Material: diecast aluminum

.00

PG50-50x100 (pcs) 235 3.21.50.50100

PG50-50x100 (set H) 4xH 327 3.21.50.50100.STH

PG50-50x100 (set J) 4xJ 333 3.21.50.50100.STJ

PG50-50x100 (set K) 4xK 365 3.21.50.50100.STK

PG50-100x100 (pcs) 484 3.21.50.100100

PG50-100x100 (set H) 8xH 668 3.21.50.100100.STH

PG50-100x100 (set J) 8xJ 680 3.21.50.100100.STJ

PG50-100x100 (set K) 8xK 744 3.21.50.100100.STK

M8x25 Bolt
zinc plated

M8 Washer
zinc plated
M8 Pre-set Nut
nickel plated

Fastening SetK

M8 Spring Washer
zinc plated

Description Fastening Set Mass
 (g) Part No.

PG50-50x50 (pcs) 86 3.21.50.5050

PG50-50x50 (set H) 2xH 132 3.21.50.5050.STH

PG50-50x50 (set J) 2xJ 135 3.21.50.5050.STJ

PG50-50x50 (set K) 2xK 152 3.21.50.5050.STK

Bracket Cap-PG50-5050 9.5 3.22.50.5050

M8 Flange Nut
zinc plated

M8x25 T Bolt
nickel plated

Fastening Set H
M8x25 Bolt
zinc plated 

M8 Washer
zinc plated 
M8 T Nut
nickel plated 

Fastening Set J

M8 Spring Washer
zinc plated 

Connecting Elements

PG50-50x50

PG50-100x100

PG50-50x100

46
8.5

46
14

.5
24

46
8.5

14
.5

25
.5

16
.5

25
.5

9

96
50

8.5

14
.5

25
.5

16
.5

25
.5

96
96

9

9

Bracket Cap-PG50-5050

50

50

R50

3-11
MGSMASMASS SPS TFS



3.31.35
Modular
Assembly Technology

®

Application Description D
(mm)

W
(mm)

Fastening 
Set

Machining 
Code

Mass
(g) Part No.

PG15
15mm 

6.2
2.0

35-15-15 (pcs)

4.5

4.5

4.5

10

8 3.31.35.15.15

35-15-15 (set) 2xN 20 3.31.35.15.15.ST

35-15-15 (M5) M5 8 3.31.35.15.15.M5

35-15-15 (M5 set) 2xN+1xP M5 22 3.31.35.15.15.M5.ST

PG15
30mm 

6.2
2.0

35-15-30 (pcs)

25

21 3.31.35.15.30

35-15-30 (set) 2xN 33 3.31.35.15.30.ST

35-15-30 (M5) M5 21 3.31.35.15.30.M5

35-15-30 (M5 set) 2xN+1xP M5 35 3.31.35.15.30.M5.ST

PG20
20mm 

6.2
2.0

35-20-20 (pcs) 

14

12 3.31.35.20.20

35-20-20 (set) 2xN 24 3.31.35.20.20.ST

35-20-20 (M5) M5 12 3.31.35.20.20.M5

35-20-20 (M5 set) 2xN+1xP M5 26 3.31.35.20.20.M5.ST

PG30
30mm 

8.2
2.2

35-30-30 (pcs) 

6.5 22

19 3.31.35.30.30

35-30-30 (set) 2xR 42 3.31.35.30.30.ST

35-30-30 (M5) M5 19 3.31.35.30.30.M5

35-30-30 (M5 set) 2xR+1xP M5 44 3.31.35.30.30.M5.ST

12

35

12

35

4W

23

23

U
&	



(M

5)


[U�

Material: aluminium, anodized (cutting end not anodized)

35x35x4

Connecting Elements

.01

M5

M5x10

Machining Code

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP
M6x12 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening Set R
M4x10 Bolt
zinc plated 
M4 Washer
zinc plated 
M4 T Nut
nickel plated 

Fastening SetN

Connecting Elements

MGSMASMASS SPS TFS 3-12



PG

12

23

35

12
23

35

W
4

PG

U
&	



(M

5)

&[U�

3.31.35
Modular
Assembly Technology

®

35x35x4

Material: aluminium, anodized (cutting end not anodized)

.02

Connecting Elements

Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining 
Code

Mass
(g) Part No.

PG20
40mm 

6.2
2.0

35-20-40(pcs)

4.5 34 20

29 3.31.35.20.40

35-20-40(set) 4xN 50 3.31.35.20.40.ST

35-20-40(M5) M5 29 3.31.35.20.40.M5

35-20-40(M5 set) 4xN+1xP M5 52 3.31.35.20.40.M5.ST

PG30
60mm 

8.2
2.2

35-30-60(pcs)

6.5 52 30

45 3.31.35.30.60

35-30-60(set) 4xR 88 3.31.35.30.60.ST

35-30-60(M5) M5 45 3.31.35.30.60.M5

35-30-60(M5 set) 4xR+1xP M5 90 3.31.35.30.60.M5.ST

M5

M5x10

Machining Code

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP
M6x12 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening Set R
M4x10 Bolt
zinc plated 
M4 Washer
zinc plated 
M4 T Nut
nickel plated 

Fastening SetN

Connecting Elements

3-13 MGSMASMASS SPS TFS



3.31.35
Modular
Assembly Technology

®

Material: aluminium, anodized (cutting end not anodized)

Connecting Elements

Application Description Fastening Set Machining Code Mass
(g) Part No.

PG20
60mm

6.2
2.0

35-20-60(pcs） 47 3.31.35.20.60

35-20-60(set） 6xN 77 3.31.35.20.60.ST

35-20-60(M5） 47 3.31.35.20.60.M5

35-20-60(M5 set） 6xN+1xP M5

M5

79 3.31.35.20.60.M5.ST

Application Description Fastening Set Machining Code Mass
(g) Part No.

PG20
80mm 

6.2
2.0

35-20-80(pcs) 64 3.31.35.20.80

35-20-80(set) 8xN 103 3.31.35.20.80.ST

35-20-80(M5) 64 3.31.35.20.80.M5

35-20-80(M5 set) 8xN+1xP M5

M5

105 3.31.35.20.80.M5.ST

.03

'[U&	�

20
20

12

23

35

4

54

20
20

12
23

35

U
&	



(M

5)

20

�[U&	�

20

20
20

20
20

12

23

35

4

74
12

23
35

U
&	



(M

5)

35x35x4

35x35x4
M5

M5x10

Machining Code

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP
M4x10 Bolt
zinc plated 
M4 Washer
zinc plated 
M4 T Nut
nickel plated 

Fastening SetN

Connecting Elements

MGSMASMASS SPS TFS 3-14




[U�

12

50

12

10 10

10
10

50

W 9

U
&	



(M

5)

3.31.50
Modular
Assembly Technology

®

50x50x9

Application Description D
(mm)

W
(mm)

Fastening
Set

Machining 
Code

Mass
(g) Part No.

PG20
20mm 

6.2
2.0

50-20-20 (pcs)

4.5 14

31 3.31.50.20.20
50-20-20 (set) 2xU 43 3.31.50.20.20.ST
50-20-20 (M5) M5 31 3.31.50.20.20.M5
50-20-20 (M5 set) 2xU+1xP M5 45 3.31.50.20.20.M5.ST

PG30
30mm  

8.2
2.2

50-30-30 (pcs)

6.5 22

48 3.31.50.30.30
50-30-30 (set) 2xV 71 3.31.50.30.30.ST
50-30-30 (M5) M5 48 3.31.50.30.30.M5
50-30-30 (M5 set) 2xV+1xP M5 73 3.31.50.30.30.M5.ST

PG40
40mm

10.2
4.0

50-40-40 (pcs)

8.5

8.5

8.5

8.5

8.5

8.5

30

66 3.31.50.40.40
50-40-40 (set) 2xD 112 3.31.50.40.40.ST
50-40-40 (M5) M5 66 3.31.50.40.40.M5
50-40-40 (M5 set) 2xD+1xP M5 114 3.31.50.40.40.M5.ST

PG40
60mm

10.2
4.0

50-40-60 (pcs)

50

110 3.31.50.40.60
50-40-60 (set) 2xD 156 3.31.50.40.60.ST
50-40-60 (M5) M5 110 3.31.50.40.60.M5
50-40-60 (M5 set) 2xD+1xP M5 158 3.31.50.40.60.M5.ST

PG45
45mm

10.2
6.0

50-45-45 (pcs)

35

77 3.31.50.45.45
50-45-45 (set) 2xD 123 3.31.50.45.45.ST
50-45-45 (M5) M5 77 3.31.50.45.45.M5
50-45-45 (M5 set) 2xD+1xP M5 125 3.31.50.45.45.M5.ST

PG45
60mm

10.2
6.0

50-45-60 (pcs)

50

110 3.31.50.45.60
50-45-60 (set) 2xD 156 3.31.50.45.60.ST
50-45-60 (M5) M5 110 3.31.50.45.60.M5
50-45-60 (M5 Set) 2xD+1xP M5 158 3.31.50.45.60.M5.ST

PG50
50mm

10.2
6.0

50-50-50 (pcs)

40

88 3.31.50.50.50
50-50-50 (set) 2xD 134 3.31.50.50.50.ST
50-50-50 (M5) M5 88 3.31.50.50.50.M5
50-50-50 (M5 Set) 2xD+1xP M5 136 3.31.50.50.50.M5.ST

PG60
60mm

10.2
6.0

50-60-60 (pcs)

50

110 3.31.50.60.60
50-60-60 (set) 2xD 156 3.31.50.60.60.ST
50-60-60 (M5) M5 110 3.31.50.60.60.M5
50-60-60 (M5 Set) 2xD+1xP M5 158 3.31.50.60.60.M5.ST

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

M6x16 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetV

Material: aluminium, anodized (cutting end not anodized)

Connecting Elements

.01

M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening Set D

M4x14 Bolt 
zinc plated 
M4 Washer
zinc plated 
M4 T Nut
nickel plated 

Fastening Set  U

Connecting Elements

3-15 MGSMASMASS SPS TFS



3.31.50
Modular
Assembly Technology

®

50x50x9

Machining CodeM5

M5x10

M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetD
M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

M4x14 Bolt
zinc plated 
M4 Washer
zinc plated 
M4 T Nut
nickel plated 

Fastening SetU
M6x16 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetV

Material: aluminium, anodized (cutting end not anodized)

Connecting Elements

Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining
Code

Mass
(g) Part No.

PG20
40mm

6.2
2.0

50-20-40 (pcs) 75 3.31.50.20.40
50-20-40 (set) 4xU 95 3.31.50.20.40.ST
50-20-40 (M5) M5 75 3.31.50.20.40.M5
50-20-40 (M5 set)

4.5 34 20

4xU+1xP M5 97 3.31.50.20.40.M5.ST

PG30
60mm

8.2
2.2

50-30-60 (pcs) 114 3.31.50.30.60
50-30-60 (set) 4xV 156 3.31.50.30.60.ST
50-30-60 (M5) M5 114 3.31.50.30.60.M5
50-30-60 (M5 set)

6.5 52 30

4xV+1xP M5 158 3.31.50.30.60.M5.ST

PG40
80mm

10.2
4.0

50-40-80 (pcs)

8.5 70 40

154 3.31.50.40.80
50-40-80 (set) 4xD 240 3.31.50.40.80.ST
50-40-80 (M5) M5 154 3.31.50.40.80.M5
50-40-80 (M5 set) 4xD+1xP M5 242 3.31.50.40.80.M5.ST

PG45
90mm

10.2
6.0

50-45-90 (pcs) 176 3.31.50.45.90
50-45-90 (set) 4xD 262 3.31.50.45.90.ST
50-45-90 (M5) M5 176 3.31.50.45.90.M5
50-45-90 (M5 set)

8.5 80 45

4xD+1xP M5 264 3.31.50.45.90.M5.ST

PG50
100mm

10.2
6.0

50-50-100 (pcs)

8.5 90 50

198 3.31.50.50.100
50-50-100 (set) 4xD 284 3.31.50.50.100.ST
50-50-100 (M5) M5 198 3.31.50.50.100.M5
50-50-100 (M5 set) 4xD+1xP M5 286 3.31.50.50.100.M5.ST

.02Connecting Elements

PG

&[U�

10

10

W

9

12

10 50

10
12

50

PG

U
&	



(M

5)

MGSMASMASS SPS TFS
3-16



3.31.50
Modular
Assembly Technology

®

Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining
Code

Mass
(g) Part No.

PG20
60mm

6.2
2.0

50-20-60 (pcs)

4.5 54 20

119 3.31.50.20.60
50-20-60 (set) 6xU 147 3.31.50.20.60.ST
50-20-60 (M5) M5 119 3.31.50.20.60.M5
50-20-60 (M5 set) 6xU+1xP M5 149 3.31.50.20.60.M5.ST

PG30
90mm

8.2
2.2

50-30-90 (pcs)

6.5 82 30

180 3.31.50.30.90
50-30-90 (set) 6xV 241 3.31.50.30.90.ST
50-30-90 (M5) M5 180 3.31.50.30.90.M5
50-30-90 (M5 set) 6xV+1xP M5 243 3.31.50.30.90.M5.ST

PG40
120mm

10.2
4.0

50-40-120 (pcs)

8.5 110 40

242 3.31.50.40.120
50-40-120 (set) 6xD 372 3.31.50.40.120.ST
50-40-120 (M5) M5 242 3.31.50.40.120.M5
50-40-120 (M5 set) 6xD+1xP M5 374 3.31.50.40.120.M5.ST

Material: aluminium, anodized (cutting end not anodized)

Connecting Elements

50x50x9

.03

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP
M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetD

M4x14 Bolt
zinc plated 
M4 Washer
zinc plated 
M4 T Nut
nickel plated 

Fastening SetU
M6x16 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetV

Connecting Elements

'[U�

10

10

PG

PG

W

PG

PG

10

12

50

10
12

50

U
&	



(M

5)

9

3-17
MGSMASMASS SPS TFS



PG

�[U�

10
10

PG

PG

W

PG

PG

PG

9

12

10 50
10

12
50

U
&	



(M

5)

3.31.50
Modular
Assembly Technology

®

Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining
Code

Mass

(g)
Part No.

PG20
80mm 

6.2
2.0

50-20-80 (pcs)

4.5 74 20

163 3.31.50.20.80
50-20-80 (set) 8xU 199 3.31.50.20.80.ST
50-20-80 (M5) M5 163 3.31.50.20.80.M5
50-20-80 (M5 set) 8xU+1xP M5 201 3.31.50.20.80.M5.ST

PG30
120mm

8.2
2.2

50-30-120 (pcs)

6.5 112 30

246 3.31.50.30.120
50-30-120 (set) 8xV 326 3.31.50.30.120.ST
50-30-120 (M5) M5 246 3.31.50.30.120.M5
50-30-120 (M5 set) 8xV+1xP M5 328 3.31.50.30.120.M5.ST

PG40
160mm

10.2
4.0

50-40-160 (pcs)

8.5 150 40

330 3.31.50.40.160
50-40-160 (set) 8xD 502 3.31.50.40.160.ST
50-40-160 (M5) M5 330 3.31.50.40.160.M5
50-40-160 (M5 set) 8xD+1xP M5 504 3.31.50.40.160.M5.ST

PG45
180mm

10.2
6.0

50-45-180 (pcs)

8.5 170 45

374 3.31.50.45.180
50-45-180 (set) 8xD 546 3.31.50.45.180.ST
50-45-180 (M5) M5 374 3.31.50.45.180.M5
50-45-180 (M5 set) 8xD+1xP M5 548 3.31.50.45.180.M5.ST

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

.04

Material: aluminium, anodized (cutting end not anodized)

Connecting Elements

50x50x9

M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetD

M4x14 Bolt
zinc plated 
M4 Washer
zinc plated 
M4 T Nut
nickel plated 

Fastening SetU
M6x16 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetV

Connecting Elements

MGSMASMASS SPS TFS
3-18



3.31.70
Modular
Assembly Technology

®


�U�

W

10 10

70

70

12

U&	
����12

9

135
°

Application Description D
(mm)

W
(mm)

Fastening
Set

Machining 
Code

Mass
(g) Part No.

PG30
30mm  

8.2
2.2

70-30-30 (pcs)

7 22

71 3.31.70.30.30
70-30-30 (set) 2xV 94 3.31.70.30.30.ST
70-30-30 (M5) M5 71 3.31.70.30.30.M5
70-30-30 (M5 set) 2xV+1xP M5 96 3.31.70.30.30.M5.ST

PG40
40mm

10.2
4.0

70-40-40 (pcs)

9

9

9

9

9

9

30

96 3.31.70.40.40
70-40-40 (set) 2xD 142 3.31.70.40.40.ST
70-40-40 (M5) M5 96 3.31.70.40.40.M5
70-40-40 (M5 set) 2xD+1xP M5 144 3.31.70.40.40.M5.ST

PG40
60mm

10.2
4.0

70-40-60 (pcs)

50

166 3.31.70.40.60
70-40-60 (set) 2xD 212 3.31.70.40.60.ST
70-40-60 (M5) M5 166 3.31.70.40.60.M5
70-40-60 (M5 set) 2xD+1xP M5 214 3.31.70.40.60.M5.ST

PG45
45mm

10.2
6.0

70-45-45 (pcs)

35

113 3.31.70.45.45
70-45-45 (set) 2xD 159 3.31.70.45.45.ST
70-45-45 (M5) M5 113 3.31.70.45.45.M5
70-45-45 (M5 set) 2xD+1xP M5 161 3.31.70.45.45.M5.ST

PG45
60mm

10.2
6.0

70-45-60 (pcs)

50

166 3.31.70.45.60
70-45-60 (set) 2xD 212 3.31.70.45.60.ST
70-45-60 (M5) M5 166 3.31.70.45.60.M5
70-45-60 (M5 Set) 2xD+1xP M5 214 3.31.70.45.60.M5.ST

PG50
50mm

10.2
6.0

70-50-50(pcs)

40

131 3.31.70.50.50
70-50-50 (set) 2xD 177 3.31.70.50.50ST
70-50-50 (M5) M5 131 3.31.70.50.50.M5
70-50-50 (M5 Set) 2xD+1xP M5 179 3.31.70.50.50.M5.ST

PG60
60mm

10.2
6.0

70-60-60 (pcs)

50

166 3.31.70.60.60
70-60-60 (set) 2xD 212 3.31.70.60.60.ST
70-60-60 (M5) M5 166 3.31.70.60.60.M5
70-60-60 (M5 Set) 2xD+1xP M5 214 3.31.70.60.60.M5.ST

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

.01

Connecting Elements
70x70x9-135° 

Material: aluminium, anodized (cutting end not anodized)

M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetD

M6x16 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetV

Connecting Elements

3-19
MGSMASMASS SPS TFS



W
PG

10 10 709

12

12 U&	
����

&�U�

70

135
°

3.31.70
Modular
Assembly Technology

®

Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining
Code

Mass
(g) Part No.

PG30
60mm

8.2
2.2

70-30-60 (pcs)

7 52 30

171 3.31.70.30.60
70-30-60 (set) 4xV 213 3.31.70.30.60.ST
70-30-60 (M5) M5 171 3.31.70.30.60.M5
70-30-60 (M5 set) 4xV+1xP M5 215 3.31.70.30.60.M5.ST

PG40
80mm

10.2
4.0

70-40-80 (pcs)

9

9

9 70 40

227 3.31.70.40.80
70-40-80 (set) 4xD 313 3.31.70.40.80.ST
70-40-80 (M5) M5 227 3.31.70.40.80.M5
70-40-80 (M5 set) 4xD+1xP M5 315 3.31.70.40.80.M5.ST

PG45
90mm

10.2
6.0

70-45-90 (pcs)

80 45

262 3.31.70.45.90
70-45-90 (set) 4xD 348 3.31.70.45.90.ST
70-45-90 (M5) M5 262 3.31.70.45.90.M5
70-45-90 (M5 set) 4xD+1xP M5 350 3.31.70.45.90.M5.ST

PG50
100mm

10.2
6.0

70-50-100 (pcs)

90 50

297 3.31.70.50.100
70-50-100 (set) 4xD 383 3.31.70.50.100.ST
70-50-100 (M5) M5 297 3.31.70.50.100.M5
70-50-100 (M5 set) 4xD+1xP M5 385 3.31.70.50.100.M5.ST

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

70x70x9-135° 

.02

Material: aluminium, anodized (cutting end not anodized)

Connecting Elements

M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetD
M6x16 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetV

Connecting Elements

MGSMASMASS SPS TFS
3-20



'�U�

W

10 10

70

70

12

U&	
����12

9

PG

PG

135
°

3.31.70
Modular
Assembly Technology

®

Connecting Elements

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

.03

Material: aluminium, anodized (cutting end not anodized)

Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining
Code

Mass
(g) Part No.

PG30
90mm

8.2
2.2

70-30-90 (pcs)

7 82 30

270 3.31.70.30.90
70-30-90 (set) 6xV 331 3.31.70.30.90.ST
70-30-90 (M5) M5 270 3.31.70.30.90.M5
70-30-90 (M5 set) 6xV+1xP M5 333 3.31.70.30.90.M5.ST

PG40
120mm

10.2
4.0

70-40-120 (pcs)

9 110 40

357 3.31.70.40.120
70-40-120 (set) 6xD 487 3.31.70.40.120.ST
70-40-120 (M5) M5 357 3.31.70.40.120.M5
70-40-120 (M5 set) 6xD+1xP M5 489 3.31.70.40.120.M5.ST

70x70x9-135° 

M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetD
M6x16 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetV

Connecting Elements

3-21
MGSMASMASS SPS TFS



��U�

W

10 10

70

70

12

U&	
����12

9

PG

PG

PG

135
°

Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining
Code

Mass
(g) Part No.

PG30
120mm

8.2
2.2

70-30-120 (pcs)

7 112 30

369 3.31.70.30.120
70-30-120 (set) 8xV 449 3.31.70.30.120.ST
70-30-120 (M5) M5 369 3.31.70.30.120.M5
70-30-120 (M5 set) 8xV+1xP M5 451 3.31.70.30.120.M5.ST

PG40
160mm

10.2
4.0

70-40-160 (pcs)

9

9 150 40

488 3.31.70.40.160
70-40-160 (set) 8xD 660 3.31.70.40.160.ST
70-40-160 (M5) M5 488 3.31.70.40.160.M5
70-40-160 (M5 set) 8xD+1xP M5 662 3.31.70.40.160.M5.ST

PG45
180mm

10.2
6.0

70-45-180 (pcs)

170 45

558 3.31.70.45.180
70-45-180 (set) 8xD 730 3.31.70.45.180.ST
70-45-180 (M5) M5 558 3.31.70.45.180.M5
70-45-180 (M5 set) 8xD+1xP M5 732 3.31.70.45.180.M5.ST

3.31.70
Modular
Assembly Technology

®

.04

Material: aluminium, anodized (cutting end not anodized)

Connecting Elements

70x70x9-135° 

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP
M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetD
M6x16 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetV

Connecting Elements

MGSMASMASS SPS TFS
3-22



Application Description D
(mm)

W
(mm)

Fastening
Set

Machining 
Code

Mass
(g) Part No.

PG30
30mm  

8.2
2.2

80-30-30 (pcs)

7 22

68 3.31.80.30.30
80-30-30 (set) 2xV 91 3.31.80.30.30.ST
80-30-30 (M5) M5 68 3.31.80.30.30.M5
80-30-30 (M5 set) 2xV+1xP M5 93 3.31.80.30.30.M5.ST

PG40
40mm

10.2
4.0

80-40-40 (pcs)

9

9

9

9

9

9

30

89 3.31.80.40.40
80-40-40 (set) 2xD 135 3.31.80.40.40.ST
80-40-40 (M5) M5 89 3.31.80.40.40.M5
80-40-40 (M5 set) 2xD+1xP M5 137 3.31.80.40.40.M5.ST

PG40
60mm

10.2
4.0

80-40-60 (pcs)

50

151 3.31.80.40.60
80-40-60 (set) 2xD 197 3.31.80.40.60.ST
80-40-60 (M5) M5 151 3.31.80.40.60.M5
80-40-60 (M5 set) 2xD+1xP M5 199 3.31.80.40.60.M5.ST

PG45
45mm

10.2
6.0

80-45-45 (pcs)

35

105 3.31.80.45.45
80-45-45 (set) 2xD 151 3.31.80.45.45.ST
80-45-45 (M5) M5 105 3.31.80.45.45.M5
80-45-45 (M5 set) 2xD+1xP M5 153 3.31.80.45.45.M5.ST

PG45
60mm

10.2
6.0

80-45-60 (pcs)

50

50

50

151 3.31.80.45.60
80-45-60 (set) 2xD 197 3.31.80.45.60.ST
80-45-60 (M5) M5 151 3.31.80.45.60.M5
80-45-60 (M5 set) 2xD+1xP M5 199 3.31.80.45.60.M5.ST

PG50
50mm

10.2
6.0

80-50-50 (pcs) 120 3.31.80.50.50
80-50-50 (set) 2xD 166 3.31.80.50.50.ST
80-50-50 (M5) M5 120 3.31.80.50.50.M5
80-50-50 (M5 Set) 2xD+1xP M5 168 3.31.80.50.50.M5.ST

PG60
60mm

10.2
6.0

80-60-60 (pcs) 151 3.31.80.60.60
80-60-60 (set) 2xD 197 3.31.80.60.60.ST
80-60-60 (M5) M5 151 3.31.80.60.60.M5
80-60-60 (M5 Set) 2xD+1xP M5 199 3.31.80.60.60.M5.ST

3.31.80
Modular
Assembly Technology

®

W

10 10 80

12

9

12

U&	
����


�U�

45
°

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

80x80x9-45° 

.01

Material: aluminium, anodized (cutting end not anodized)

Connecting Elements

M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetD

M6x16 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetV

Connecting Elements

3-23
MGSMASMASS SPS TFS



Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining
Code

Mass
(g) Part No.

PG30
60mm

8.2
2.2

80-30-60 (pcs)

7 52 30

156 3.31.80.30.60
80-30-60 (set) 4xV 198 3.31.80.30.60.ST
80-30-60 (M5) M5 156 3.31.80.30.60.M5
80-30-60 (M5 set) 4xV+1xP M5 200 3.31.80.30.60.M5.ST

PG40
80mm

10.2
4.0

80-40-80 (pcs)

9

9

9 70 40

209 3.31.80.40.80
80-40-80 (set) 4xD 295 3.31.80.40.80.ST
80-40-80 (M5) M5 209 3.31.80.40.80.M5
80-40-80 (M5 set) 4xD+1xP M5 297 3.31.80.40.80.M5.ST

PG45
90mm

10.2
6.0

80-45-90 (pcs)

80 45

240 3.31.80.45.90
80-45-90 (set) 4xD 326 3.31.80.45.90.ST
80-45-90 (M5) M5 240 3.31.80.45.90.M5
80-45-90 (M5 set) 4xD+1xP M5 328 3.31.80.45.90.M5.ST

PG50
100mm

10.2
6.0

80-50-100 (pcs)

90 50

271 3.31.80.50.100
80-50-100 (set) 4xD 357 3.31.80.50.100.ST
80-50-100 (M5) M5 271 3.31.80.50.100.M5
80-50-100 (M5 set) 4xD+1xP M5 359 3.31.80.50.100.M5.ST

3.31.80
Modular
Assembly Technology

®

W
PG

9 80
12

12

10 10

U&	
����
&�U�

45
°

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

80x80x9-45° 

.02

Material: aluminium, anodized (cutting end not anodized)

Connecting Elements

M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetD
M6x16 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetV

Connecting Elements

MGSMASMASS SPS TFS
3-24



Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining
Code

Mass
(g) Part No.

PG30
90mm

8.2
2.2

80-30-90 (pcs)

7 82 30

247 3.31.80.30.90
80-30-90 (set) 6xV 308 3.31.80.30.90.ST
80-30-90 (M5) M5 247 3.31.80.30.90.M5
80-30-90 (M5 set) 6xV+1xP M5 310 3.31.80.30.90.M5.ST

PG40
120mm

10.2
4.0

80-40-120 (pcs)

9 110 40

329 3.31.80.40.120
80-40-120 (set) 6xD 459 3.31.80.40.120.ST
80-40-120 (M5) M5 329 3.31.80.40.120.M5
80-40-120 (M5 set) 6xD+1xP M5 461 3.31.80.40.120.M5.ST

3.31.80
Modular
Assembly Technology

®

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

PG

PG
W

'�U�

10 10 80

12

12

U&	
����

9

45
°
.03

Material: aluminium, anodized (cutting end not anodized)

Connecting Elements

80x80x9-45° 

M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetD
M6x16 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetV

Connecting Elements

3-25
MGSMASMASS SPS TFS



Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining
Code

Mass
(g) Part No.

PG30
120mm

8.2
2.2

80-30-120 (pcs)

7 112 30

337 3.31.80.30.120
80-30-120 (set) 8xV 417 3.31.80.30.120.ST
80-30-120 (M5) M5 337 3.31.80.30.120.M5
80-30-120 (M5 set) 8xV+1xP M5 419 3.31.80.30.120.M5.ST

PG40
160mm

10.2
4.0

80-40-160 (pcs)

9

9

150 40

449 3.31.80.40.160
80-40-160 (set) 8xD 621 3.31.80.40.160.ST
80-40-160 (M5) M5 449 3.31.80.40.160.M5
80-40-160 (M5 set) 8xD+1xP M5 623 3.31.80.40.160.M5.ST

PG45
180mm

10.2
6.0

80-45-180 (pcs)

170 45

510 3.31.80.45.180
80-45-180 (set) 8xD 682 3.31.80.45.180.ST
80-45-180 (M5) M5 510 3.31.80.45.180.M5
80-45-180 (M5 set) 8xD+1xP M5 684 3.31.80.45.180.M5.ST

3.31.80
Modular
Assembly Technology

®

PG

PG

PG

W

10 10 80

12
 

U&	
(M5)

12
��U�

9

45
°
.04

Material: aluminium, anodized (cutting end not anodized)

Connecting Elements

80x80x9-45° 

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP
M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetD
M6x16 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetV

Connecting Elements

MGSMASMASS SPS TFS 3-26



Application Description D
(mm)

W
(mm)

Fastening
Set

Machining 
Code

Mass
(g) Part No.

PG40
40mm

10.2
4.0

100-40-40 (pcs)

9

9

9

9

9

9

30

220 3.31.100.40.40
100-40-40 (set) 2xW+2xJ 324 3.31.100.40.40.ST
100-40-40 (M5) M5 220 3.31.100.40.40.M5
100-40-40 (M5 set) 2xW+2xJ+1xP M5 326 3.31.100.40.40.M5.ST

PG40
60mm

10.2
4.0

100-40-60 (pcs)

50

386 3.31.100.40.60
100-40-60 (set) 2xW+2xJ 490 3.31.100.40.60.ST
100-40-60 (M5) M5 386 3.31.100.40.60.M5
100-40-60 (M5 set) 2xW+2xJ+1xP M5 492 3.31.100.40.60.M5.ST

PG45
45mm

10.2
6.0

100-45-45 (pcs)

35

261 3.31.100.45.45
100-45-45 (set) 2xW+2xJ 365 3.31.100.45.45.ST
100-45-45 (M5) M5 261 3.31.100.45.45.M5
100-45-45 (M5 set) 2xW+2xJ+1xP M5 367 3.31.100.45.45.M5.ST

PG45
60mm

10.2
6.0

100-45-60 (pcs)

50

386 3.31.100.45.60
100-45-60 (set) 2xW+2xJ 490 3.31.100.45.60.ST
100-45-60 (M5) M5 386 3.31.100.45.60.M5
100-45-60 (M5 set) 2xW+2xJ+1xP M5 492 3.31.100.45.60.M5.ST

PG50
50mm

10.2
6.0

100-50-50 (pcs)

40

303 3.31.100.50.50
100-50-50 (set) 2xW+2xJ 407 3.31.100.50.50.ST
100-50-50 (M5) M5 303 3.31.100.50.50.M5
100-50-50 (M5 set) 2xW+2xJ+1xP M5 409 3.31.100.50.50.M5.ST

PG60
60mm

10.2
6.0

100-60-60 (pcs)

50

386 3.31.100.60.60
100-60-60 (set) 2xW+2xJ 490 3.31.100.60.60.ST
100-60-60 (M5) M5 386 3.31.100.60.60.M5
100-60-60 (M5 Set) 2xW+2xJ+1xP M5 492 3.31.100.60.60.M5.ST

3.31.100
Modular
Assembly Technology

®

&[U�

10

10

10

12
20

100

15W

10
12

20
100

U
&	



(M

5)

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

.01

Connecting Elements

100x100x15

Material: aluminium, anodized

M8x30 Bolt
zinc plated

M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening Set W

M8 Spring Washer
zinc plated

M8x25 Bolt
zinc plated 

M8 Washer
zinc plated 
M8 T Nut
nickel plated 

Fastening Set J

M8 Spring Washer
zinc plated 

Connecting Elements

3-27 MGSMASMASS SPS TFS



Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining
Code

Mass
(g) Part No.

PG40
80mm

10.2
4.0

100-40-80 (pcs)

9

9

9 70 40

522 3.31.100.40.80
100-40-80 (set) 4xW+4xJ 730 3.31.100.40.80.ST
100-40-80 (M5) M5 522 3.31.100.40.80.M5
100-40-80 (M5 set) 4xW+4xJ+1xP M5 732 3.31.100.40.80.M5.ST

PG45
90mm

10.2
4.0

100-45-90 (pcs)

80 45

605 3.31.100.45.90
100-45-90 (set) 4xW+4xJ 813 3.31.100.45.90.ST
100-45-90 (M5) M5 605 3.31.100.45.90.M5
100-45-90 (M5 set) 4xW+4xJ+1xP M5 815 3.31.100.45.90.M5.ST

PG50
100mm

10.2
6.0

100-50-100 (pcs)

90 50

688 3.31.100.50.100
100-50-100 (set) 4xW+4xJ 896 3.31.100.50.100.ST
100-50-100 (M5) M5 688 3.31.100.50.100.M5
100-50-100 (M5 set) 4xW+4xJ+1xP M5 898 3.31.100.50.100.M5.ST

3.31.100
Modular
Assembly Technology

®

�[U�

12
20

10 10
100

15
W

PG

PG

10
10

12
20

100

U
&	



(M

5)

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

100x100x15

.02

Material: aluminium, anodized 

Connecting Elements

M8x30 Bolt
zinc plated

M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening Set W

M8 Spring Washer
zinc plated

M8x25 Bolt
zinc plated 

M8 Washer
zinc plated 
M8 T Nut
nickel plated 

Fastening Set J

M8 Spring Washer
zinc plated 

Connecting Elements

MGSMASMASS SPS TFS 3-28



Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining
Code

Mass
(g) Part No.

PG40
120mm

10.2
4.0

100-40-120 (pcs)

9 110 40

824 3.31.100.40.120
100-40-120 (set) 6xW+6xJ 1136 3.31.100.40.120.ST
100-40-120 (M5) M5 824 3.31.100.40.120.M5
100-40-120 (M5 set) 6xW+6xJ+1xP M5 1138 3.31.100.40.120.M5.ST

3.31.100
Modular
Assembly Technology

®

�
[U�

10

10

PG

PG

W

PG

PG

10

12
20

100

15

12
20

10
100

U
&	



(M

5)

.03

Material: aluminium, anodized 

Connecting Elements

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

100x100x15

M8x30 Bolt
zinc plated

M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening Set W

M8 Spring Washer
zinc plated

M8x25 Bolt
zinc plated 

M8 Washer
zinc plated 
M8 T Nut
nickel plated 

Fastening Set J

M8 Spring Washer
zinc plated 

Connecting Elements

3-29 MGSMASMASS SPS TFS



3.31.100
Modular
Assembly Technology

®

�'[U�

PG

10

10

PG

PG

W

PG

PG

PG

10

12
20

100

15

10
12

20
100

U
&	



(M

5)

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

.04

Material: aluminium, anodized 

Connecting Elements

Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining
Code

Mass
(g) Part No.

PG40
160mm

10.2
4.0

100-40-160 (pcs)

9

9

150 40

1127 3.31.100.40.160
100-40-160 (set) 8xW+8xJ 1543 3.31.100.40.160.ST
100-40-160 (M5) M5 1127 3.31.100.40.160.M5
100-40-160 (M5 set) 8xW+8xJ+1xP M5 1545 3.31.100.40.160.M5.ST

PG45
180mm

10.2
6.0

100-45-180 (pcs)

170 45

1293 3.31.100.45.180
100-45-180 (set) 8xW+8xJ 1709 3.31.100.45.180.ST
100-45-180 (M5) M5 1293 3.31.100.45.180.M5
100-45-180 (M5 set) 8xW+8xJ+1xP M5 1711 3.31.100.45.180.M5.ST

100x100x15

M8x30 Bolt
zinc plated

M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening Set W

M8 Spring Washer
zinc plated

M8x25 Bolt
zinc plated 

M8 Washer
zinc plated 
M8 T Nut
nickel plated 

Fastening Set J

M8 Spring Washer
zinc plated 

Connecting Elements

MGSMASMASS SPS TFS 3-30



3.31.100
Modular
Assembly Technology

®

.05Connecting Elements

Machining CodeM5

M5x10

M5x10 Bolt
zinc plated 

M5 Washer
zinc plated 

Fastening SetP

Material: aluminium, anodized 

Connecting Elements

Application Description D
(mm)

W
(mm)

PG
(mm)

Fastening 
Set

Machining
Code

Mass
(g) Part No.

PG40
200mm

10.2
4.0

100-40-200 (pcs)

9 190 40

1477 3.31.100.40.200
100-40-200 (set) 10xW+10xJ 1893 3.31.100.40.200.ST
100-40-200 (M5) M5 1477 3.31.100.40.200.M5
100-40-200 (M5 set) 10xW+10xJ+1xP M5 1895 3.31.100.40.200.M5.ST

100x100x15

M8x30 Bolt
zinc plated

M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening Set W

M8 Spring Washer
zinc plated

M8x25 Bolt
zinc plated 

M8 Washer
zinc plated 
M8 T Nut
nickel plated 

Fastening Set J

M8 Spring Washer
zinc plated 

W

15PG

10

PG

PG

PG
10

100

U
&	



(M

5)

12
20

12
20

10 10
100

�'[U�

PG

PG

PG

PG

3-31 MGSMASMASS SPS TFS



3.41

Inner Bracket (with top thread)

Inner bracket is with low cost and high efficiency, widely used for the assembly 
of door, window and protection frame.

Material: bracket-diecast zinc    top thread-zinc plated steel

Modular
Assembly Technology

®

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Description Mass
 (g/pcs) Part No.

Inner Bracket-6-A (with top thread) 3.41.06A

Inner Bracket-6-B (with top thread)
6

3.41.06B

Inner Bracket-8-A (with top thread) 3.41.08A

Inner Bracket-8-B (with top thread)
18

3.41.08B

Inner Bracket-10-A (with top thread) 3.41.10A

Inner Bracket-10-B (with top thread)
36

3.41.10B

L2

L1

L1<L2

L2

L1

L1<L2

8.52

210

17

27

40

2xM8

13
.55

6 1.5
9

4.8
1.5

20

2xM5

1.4

1.4
8

21
.2 13

30

2xM6

6.7

Inner Bracket-6-A

M5x6

3.41.06A
Inner Bracket-6-B
3.41.06B

Inner Bracket-8-A
3.41.08A
Inner Bracket-8-B
3.41.08B

M6x8

Inner Bracket-10-A
3.41.10A
Inner Bracket-10-B
3.41.10B

M8x10

Type A Type B

.01

Connecting Elements

Connecting Elements

Step 1 Step 2 Step 3

Step 1 Step 2 Step 3

set parts in position tighten L1 top thread tighten L2 top thread

MGSMASMASS SPS TFS 3-32



3.51

Linear Bar Connector (with top thread)

Material: zinc plated steel 

Modular
Assembly Technology

®

Description Mass
 (g/pcs) Part No.

Linear Bar Connector-6 (with top thread) 27 3.51.06

Linear Bar Connector-8 (with top thread) 65 3.51.08

Linear Bar Connector-10 (with top thread) 132 3.51.10

.01

Connecting Elements

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

35105120

8
13.4

6.2 1.4

M6x8

M6x8

M6x8

M6x84xM6

Linear Bar Connector-8

3090100

6
9.4

4.5 1.5 M5x6

M5x6

M5x6

M5x64xM5

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

Linear Bar Connector-6

40120140

4xM8

10
18

9.5

3 

M8x10

M8x10

M8x10

M8x10

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Linear Bar Connector-10

Connecting Elements

3-33 MGSMASMASS SPS TFS

Reliability

Efficiency

Economical



3.52

Linear Bar Connector (with top thread)

Material: zinc plated steel 

Modular
Assembly Technology

®

Description Mass
 (g/pcs) Part No.

Linear Bar Connector-8 (with top thread) 40 3.52.08

Linear Bar Connector-10 (with top thread) 74 3.52.10

.01

Connecting Elements

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

Linear Bar Connector-8

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Linear Bar Connector-10

3090120
4xM6

15

3

M6x8

M6x8

M6x8

M6x8

4

18

40120140

4xM8

M8x10

M8x10

M8x10

M8x10

Connecting Elements

MGSMASMASS SPS TFS 3-34

Reliability

Efficiency

Economical



3.53

Joining Plate

Material: zinc plated steel

Modular
Assembly Technology .01

Connecting Elements

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

PG30-3030-01

PG30-3030-02

PG30-3030-03

Description Fastening Set Mass
 (g) Part No.

PG30-3030-01 (pcs) 58 3.53.30.3030.01

PG30-3030-01 (set A) 5xPG 92 3.53.30.3030.01.STA

PG30-3030-01 (set B) 5xPH 112 3.53.30.3030.01.STB

PG30-3030-02 (pcs) 58 3.53.30.3030.02

PG30-3030-02 (set A) 5xPG 92 3.53.30.3030.02.STA

PG30-3030-02 (set B) 5xPH 112 3.53.30.3030.02.STB

PG30-3030-03 (pcs) 107 3.53.30.3030.03

PG30-3030-03 (set A) 9xPG 168 3.53.30.3030.03.STA

PG30-3030-03 (set B) 9xPH 204 3.53.30.3030.03.STB

Connecting Elements

88
3030

26

26

30
30

88

��U'	�

�<


13

13

26

15
30

26
88

30 30
88

��U'	�
�<


26
60

120
150

26 60 12
0

15
0

Z�U'	��<


M6x10 Bolt
zinc plated
M6 Spring Washer
zinc plated
M6 T Nut
nickel plated

PG Fastening Set

M6x10 Bolt
zinc plated

Fastening SetPH

M6 Spring Washer
zinc plated
M6 Pre-set Nut
nickel plated

3-35 MGSMASMASS SPS TFS



3.53

Joining Plate

Material: zinc plated steel

Modular
Assembly Technology .02

Connecting Elements

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

PG40-4040-01

PG40-4040-02

�<�

36

40
20

11
8

118
4040

36

��U�	�

36

�<�

R5

36

40
118

4018

18
40

11
8

40

��U�	�

PG40-4040-03

Description Fastening Set Mass
 (g) Part No.

PG40-4040-01 (pcs) 147 3.53.40.4040.01

PG40-4040-01 (set X) 5xX 217 3.53.40.4040.01.STX

PG40-4040-01 (set Y) 5xY 257 3.53.40.4040.01.STY

PG40-4040-02 (pcs) 149 3.53.40.4040.02

PG40-4040-02 (set X) 5xX 219 3.53.40.4040.02.STX

PG40-4040-02 (set Y) 5xY 259 3.53.40.4040.02.STY

PG40-4040-03 (pcs) 269 3.53.40.4040.03

PG40-4040-03 (set X) 9xX 395 3.53.40.4040.03.STX

PG40-4040-03 (set Y) 9xY 467 3.53.40.4040.03.STY

36 80 16
0

20
0

4-R5

36

80

160

200

Z�U�	��<�

Connecting Elements

M8x12 Bolt
zinc plated
M8 Spring Washer
zinc plated
M8 T Nut
nickel plated

X Fastening Set

M8x12 Bolt
zinc plated

Fastening SetY

M8 Spring Washer
zinc plated
M8 Pre-set Nut
nickel plated

MGSMASMASS SPS TFS 3-36



3.53

Joining Plate

Material: zinc plated steel

Modular
Assembly Technology .03

Connecting Elements

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

PG40-4040-04

PG40-4040-05

PG40-4040-06

Description Fastening Set Mass
 (g) Part No.

PG40-4040-04 (pcs) 222 3.53.40.4040.04

PG40-4040-04 (set X) 5xX 292 3.53.40.4040.04.STX

PG40-4040-04 (set Y) 5xY 332 3.53.40.4040.04.STY

PG40-4040-05 (pcs) 220 3.53.40.4040.05

PG40-4040-05 (set X) 5xX 290 3.53.40.4040.05.STX

PG40-4040-05 (set Y) 5xY 330 3.53.40.4040.05.STY

PG40-4040-06 (pcs) 355 3.53.40.4040.06

PG40-4040-06 (set X) 7xX 453 3.53.40.4040.06.STX

PG40-4040-06 (set Y) 7xY 510 3.53.40.4040.06.STY

36

40
20

11
8

118
4040

36

�<�

��U�	�

36 80

36
80

160
200

11
8

�<�

q�U�	�

36

36

40
118

4018

18
40

11
8

40

�<�

��U�	�

Connecting Elements

M8x12 Bolt
zinc plated
M8 Spring Washer
zinc plated
M8 T Nut
nickel plated

X Fastening Set

M8x12 Bolt
zinc plated

Fastening SetY

M8 Spring Washer
zinc plated
M8 Pre-set Nut
nickel plated

3-37 MGSMASMASS SPS TFS



3.53

Joining Plate

Material: zinc plated steel

Modular
Assembly Technology .04

Connecting Elements

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

PG40-4080-01 PG40-4080-02

Description Fastening Set Mass
 (g) Part No.

PG40-4080-01 (pcs) 222 3.53.40.4080.01

PG40-4080-01 (set X) 6xX 306 3.53.40.4080.01.STX

PG40-4080-01 (set Y) 6xY 354 3.53.40.4080.01.STY

PG40-4080-02 (pcs) 347 3.53.40.4080.02

PG40-4080-02 (set X) 8xX 459 3.53.40.4080.02.STX

PG40-4080-02 (set Y) 8xY 523 3.53.40.4080.02.STY

PG40-4080-03 (pcs) 523 3.53.40.4080.03

PG40-4080-03 (set X) 12xX 691 3.53.40.4080.03.STX

PG40-4080-03 (set Y) 12xY 787 3.53.40.4080.03.STY

76
40

15
8

36

7640
18

40
40

�<�

'�U�	�

PG40-4080-03

200
160

15
8

12
076

36

40

80

�<�

�
�U�	�

Connecting Elements

118
80

40
40

40

76

36

��U�	�

15
8

18

�<�

M8x12 Bolt
zinc plated
M8 Spring Washer
zinc plated
M8 T Nut
nickel plated

X Fastening Set

M8x12 Bolt
zinc plated

Fastening SetY

M8 Spring Washer
zinc plated
M8 Pre-set Nut
nickel plated

MGSMASMASS SPS TFS
3-38



3.53

Joining Plate

Material: zinc plated steel

Modular
Assembly Technology .05

Connecting Elements

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

PG40-8080-01 PG40-8080-02

Description Fastening 
Set

Mass
 (g) Part No.

PG40-8080-01 (pcs) 730 3.53.40.8080.01

PG40-8080-01 (set I) 12xI 910 3.53.40.8080.01.STI

PG40-8080-01 (set O) 12xO 1006 3.53.40.8080.01.STO

PG40-8080-02 (pcs) 731 3.53.40.8080.02

PG40-8080-02 (set I) 12xI 911 3.53.40.8080.02.STI

PG40-8080-02 (set O) 12xO 1007 3.53.40.8080.02.STO

PG40-8080-03 (pcs) 1043 3.53.40.8080.03

PG40-8080-03 (set I) 16xI 1283 3.53.40.8080.03.STI

PG40-8080-03 (set O) 16xO 1411 3.53.40.8080.03.STO

PG40-8080-03

158
120
40

76

40
15

840
40

76

�<�

�
�U�	�

158
120
40

15
8

40

40
76

76

40
40

�<�

�
�U�	�

40

238

76

40 12
0

15
8

76

120

�<�

�'�U�	�

Connecting Elements

M8x16 Bolt
zinc plated

Fastening SetI

M8 Washer
zinc plated
M8T Nut
nickel plated

M8x16 Bolt
zinc plated

Fastening SetO

M8 Spring Washer
zinc plated
M8 Pre-set Nut
nickel plated

3-39
MGSMASMASS SPS TFS



3.53

Joining Plate

Material: zinc plated steel

Modular
Assembly Technology .06

Connecting Elements

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

PG45-4545-01

PG45-4545-02

PG45-4545-03

Description Fastening Set Mass
 (g) Part No.

PG45-4545-01 (pcs) 209 3.53.45.4545.01

PG45-4545-01 (set I) 5xI 288 3.53.45.4545.01.STI

PG45-4545-01 (set O) 5xO 328 3.53.45.4545.01.STO

PG45-4545-02 (pcs) 209 3.53.45.4545.02

PG45-4545-02 (set I) 5xI 288 3.53.45.4545.02.STI

PG45-4545-02 (set O) 5xO 328 3.53.45.4545.02.STO

PG45-4545-03 (pcs) 381 3.53.45.4545.03

PG45-4545-03 (set I) 9xI 524 3.53.45.4545.03.STI

PG45-4545-03 (set O) 9xO 596 3.53.45.4545.03.STO

Connecting Elements

45 4520.5

20
.5

45
45

133

41

13
3

41

��U�	�

�<�

45 45
133

41

41

22
.5

45

13
3

��U�	�
�<�

41
90

180
225

41 90 18
0

22
5

Z�U�	��<�

M8x16 Bolt
zinc plated

Fastening SetI

M8 Washer
zinc plated
M8T Nut
nickel plated

M8x16 Bolt
zinc plated

Fastening SetO

M8 Spring Washer
zinc plated
M8 Pre-set Nut
nickel plated

MGSMASMASS SPS TFS
3-40



3.61

Material: diecast zinc  nickel plated

Modular
Assembly Technology

®

PG

PG
P

U�
K

PG

PG
P

U�
K

.01

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

2230.5 12

U�q

14

Butt Connector-

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

22.5 9.6

U��

16

11

Butt Connector-

Connecting Elements

Butt Connector is used for profile affiliating connection 
and widely used in clean room.

Butt Connector

Connecting Elements

Butt Connector-10-6 (set B) 1xCE 39 3.61.10.06.STB

Butt Connector-10-6 (set A)
PG45/PG50/PG60

1xS 43 3.61.10.06.STA

Description PG K
(mm)

D
(mm)

P
(mm) Fastening Set Mass

 (g) Part No.

Butt Connector-8 (pcs) 9 3.61.08

Butt Connector-8 (set A) PG30

Butt Connector-8 (set B)

16 13 11 1xQ

1xPG

20

18

3.61.08.STA

3.61.08.STB

Butt Connector-10 (pcs) PG40/PG45/PG50/PG60 15 3.61.10

Butt Connector-10-4 (set A)
PG40

22 17 14

1xT 41 3.61.10.04.STA

Butt Connector-10-4 (set B) 1xCD 37 3.61.10.04.STB

Fastening Set Q

M5 Pre-set Nut
nickel plated

M8x30 Bolt
zinc plated

Fastening Set S

M8 Pre-set Nut
nickel plated

M8x25 Bolt
zinc plated

Fastening SetT

M8 Pre-set Nut
nickel plated

M8x25 Bolt
zinc plated

M8 T Nut
nickel plated

Fastening Set CD
M8x30 Bolt
zinc plated

M8 T Nut
nickel plated

Fastening Set CE
M5x20 Bolt
zinc plated

M5 T Nut
nickel plated 

Fastening Set 

M5x20 Bolt
zinc plated

PG

SH.M5x20.SM

2.11.08.M5.SM

SH.M8x25.SM
SH.M8x30.SM
2.11.10.M8.SM

3-41
MGSMASMASS SPS TFS



3.71

End Connector

Material: nickel plated steel

Modular
Assembly Technology

®

End Connector-

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

U'	� 28814

1.58

End Connector-

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

Description Fastening Set Mass
 (g) Part No.

End Connector-8 (pcs) 7 3.71.30

End Connector-8 (set) 1xFA 23 3.71.30.ST

End Connector-10 (pcs) 13 3.71.40

End Connector-10 (set) 1xFB 38 3.71.40.ST

U�	� 381016

11
2

M6x20 Bolt
zinc plated

Fastening SetFA

��
��'

Hole Reducer Bolt
nickel plated

M8x20 Bolt
zinc plated

Fastening SetFB

��&���

Hole Reducer Bolt
nickel plated

.01

Connecting Elements

End connector is also called butterfly button connector due to its shape which can hide itself completely
in aluminum profile, so it is widely used for frame structures in clean room.

Connecting Elements 

PG

PG30

PG40

MGSMASMASS SPS TFS
3-42



3.81

Screw Connector

A simple and economic way to replace end connector with more connection reliablity.

Material: nickel plated steel

Modular
Assembly Technology

®

Description Mass
 (g) Part No.

Screw Connector-6 7 3.81.06

Screw Connector-8 17 3.81.08

Screw Connector-10 31 3.81.10

.01

Screw Connector-6

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

Screw Connector-8

M6

20 4

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Screw Connector-10

5

M12

20

M14

25 8

Connecting Elements

Connecting Elements

3-43
MGSMASMASS SPS TFS



Description Fastening Set Cap 
(pcs)

Mass
(g) Part No.

Cubic Connector-4545-2 (pcs) 135 3.91.4545.02

Cubic Connector-4545-2 (set) 2x(M14x25)
2

201 3.91.4545.02.ST

Cubic Connector-4545-3 (pcs) 135 3.91.4545.03

Cubic Connector-4545-3 (set) 3x(M14x25)
3

234 3.91.4545.03.ST

3.91.01
Modular
Assembly Technology

®

Cubic Connector

Material: Connector-diecast aluminum   Cap-black ABS

Cubic Connector-4545-2

45

45

U26


�U�&	�

45

45

U
6

��U�&	�
5

U
'

Cubic Connector-4545-3

10.2
6.0

6.2
2.0

8.2
2.2

10.2
4.0

Connecting Elements

Connecting Elements 

MGSMASMASS SPS TFS
3-44



3.92.01
Modular
Assembly Technology

®

Cubic Connector

Material: Connector-diecast zinc  Cap-black ABS 

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

Connecting Elements

a

aa

b

b

b

M6x20 Bolt
zinc plated

CW Fastening Set 

Hole Reducer Bolt
nickel plated

M8x20 Bolt
zinc plated

FI Fastening Set 

Hole Reducer Bolt
nickel plated

Cap-02

Connecting Elements

4545-01 (pcs) 114 3.92.4545.01
4545-01 (set) 3xFI 187 3.92.4545.01.ST
4545-02 (pcs) 123 3.92.4545.02
4545-02 (set) 3xFI 196 3.92.4545.02.ST

4040-01 (pcs) 87 3.92.4040.01
4040-01 (set) 3xFI 159 3.92.4040.01.ST
4040-02 (pcs) 92 3.92.4040.02
4040-02 (set) 3xFI 164 3.92.4040.02.ST

3030-01 (pcs) 35 3.92.3030.01
3030-01 (set) 3xCW 105

1

1

1

3.92.3030.01.ST
3030-02 (pcs) 38 3.92.3030.02
3030-02 (set) 3xCW 108

8.5

8.5

6.5

3.92.3030.02.ST

45

40

30

42

38

28

teS gninetsaFnoitpircseD Cap 
(pcs)

Mass
(g)

Part No.

2020-01 (pcs) 11 3.92.2020.01
2020-01 (set) 3xDY 23

1
3.92.2020.01.ST

2020-02 (pcs) 12 3.92.2020.02
2020-02 (set) 3xDY 24

6.5

3.92.2020.02.ST

20

Dba

18.5

Fastening SetDY

M6x16 Bolt
zinc plated

3-45
MGSMASMASS SPS TFS

b b

b

Cap-01



Modular
Assembly Technology

® 

End Cap 

4

4.11-4.21

P. 4-04P. 4-02

T Slot Cover 

Profile Accessories

MGSMASMASS SPS TFS
4-01



4.11

End Cap

Material and Color: black ABS

Modular
Assembly Technology

®

.01Profile Accessories

Type A

L2L1

T T

L2L1
L2

L1

T

Type B Type C

Type A
End Cap-PG30-3030R 30 30 3 4.11.30.3030R
End Cap-PG40-4040R 40 40 6 4.11.40.4040R
End Cap-PG45-4545R 45 45

5
5

5

7 4.11.45.4545R

Type B

End Cap-PG15-1515 15 15 3 1 4.11.15.1515
End Cap-PG20-2020 20 20 2 4.11.20.2020
End Cap-PG20-4040 40 40

4
4 6 4.11.20.4040

End Cap-PG30-3030 30 30 5
5
5
5
5
5
5
5
5
5

3 4.11.30.3030
End Cap-PG30-6060 60 60 15 4.11.30.6060
End Cap-PG40-4040 40 40 6 4.11.40.4040
End Cap-PG40-8080 80 80 22 4.11.40.8080
End Cap-PG40-120120 120 120 64 4.11.40.120120
End Cap-PG45-4545 45 45 8 4.11.45.4545
End Cap-PG45-9090 90 90 28 4.11.45.9090
End Cap-PG50-5050 50 50 10 4.11.50.5050
End Cap-PG50-100100 100 100 44 4.11.50.100100
End Cap-PG60-6060 60 60 14 4.11.60.6060

Type C

End Cap-PG15-1530 15 30 3 1.1 4.11.15.1530
End Cap-PG20-2040 40

4
4

4 3 4.11.20.2040
End Cap-PG20-2060 60 4 4.11.20.2060
End Cap-PG20-2080

20
20

20 80 5 4.11.20.2080
End Cap-PG30-3060 60 5

5
5
5
5
5
5

8 4.11.30.3060
End Cap-PG30-3090 90 11 4.11.30.3090
End Cap-PG30-30120

30
30

30

120 14 4.11.30.30120
End Cap-PG30-60120 60 120 33 4.11.30.60120
End Cap-PG40-4060 60 9 4.11.40.4060
End Cap-PG40-4080 80 13 4.11.40.4080
End Cap-PG40-40120

40
40

40

120 18 4.11.40.40120

Description L1
(mm)

L2
(mm)

T
(mm)

Mass
 (g) Part No.

End Cap-PG20-2020R 20 20 1 4.11.20.2020R4

4-02 MGSMASMASS SPS TFS



4.11
Modular
Assembly Technology

®

End Cap

Material and Color: black ABS

.02Profile Accessories

TypeEType C

L2
L1

T

L2 L2

T

L1 L1

Type D

Description L1
(mm)

L2
(mm)

T
(mm)

Mass
 (g) Part No.

Type C

Type D

End Cap-PG40 40160 40 160 24 4.11.40.40160
  End Cap-PG40 80120 120 43 4.11.40.80120

End Cap-PG40 80160 80
80

80
160 58 4.11.40.80160

End Cap-PG40 80200 200 72 4.11.40.80200
End Cap-PG45 4560 45 60 11 4.11.45.4560
End Cap-PG45 4590 45 90 16 4.11.45.4590
End Cap-PG45 90180 90 180 72 4.11.45.90180
End Cap-PG50 50100 50 100 18 4.11.50.50100

Type E

End Cap-PG30 6060L 30 60 11 4.11.30.6060L
End Cap-PG40 8080L 40 80 17 4.11.40.8080L
End Cap-PG45 9090L 45 90

5

5
22 4.11.45.9090L

L2
L1

T

End Cap-PG40-4040T 40 40 5.3 4.11.40.4040T5

MGSMASMASS SPS TFS
4-03



4.14
Modular
Assembly Technology

®

.01Profile Accessories

Conduit end cap

To prevent staff from any injury and improve profile end appearance.

Material: stainless steel

Conduit Cap-40x40

Conduit Cap-80x80

Conduit Cap-40x80

Conduit Cap-80x160

Conduit Cap-60x120

100

160
&�U�	�

15
80 61

80
120

5
5060

110

&�U�	�

72

80

4
40

5

��U�	�

32

40

40
4

4

��U&	�

Description Fastening Set Mass
 (g) Part No.

Conduit Cap-40x40(pcs) 24.5 4.14.40.4040
Conduit Cap-40x40(set) 3xDM 29 4.14.40.4040.ST
Conduit Cap-40x80(pcs) 50 4.14.40.4080
Conduit Cap-40x80(set) 3xDK 59 4.14.40.4080.ST
Conduit Cap-60x120(pcs) 113 4.14.60.60120
Conduit Cap-60x120(set) 4xDK

Thinckness
T(mm)

2
125 4.14.60.60120.ST

Conduit Cap-80x80(pcs) 99 4.14.40.8080
Conduit Cap-80x80(set) 4xDK 111 4.14.40.8080.ST
Conduit Cap-80x160(pcs) 203 4.14.60.80160
Conduit Cap-80x160(set) 4xDK 215 4.14.60.80160.ST
Conduit Cap-80x200(pcs) 247 4.14.40.80200
Conduit Cap-80x200(set) 6xDK 265 4.14.40.80200.ST

M4x13 Bolt
stainless steel

Fastening Set DM

M5x13 Bolt
stainless steel

Fastening Set DK

Conduit Cap-80x200

15
80 '�U�	�

61
200

140 

4
80

72

80
��U�	�

5

4-04 MGSMASMASS SPS TFS



4.21

T Slot Cover

To prevent slot from contamination and improve structure appearance.

Material and Color: PP black/blue/grey/orange

Modular
Assembly Technology

®

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

T Slot Cover-6

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

7.2

0.5

6.8

4.5

9.8

0.8

9.3

6.7

1.0

12

7.0

11.5

T Slot Cover-8

T Slot Cover-10

Note:
1. Cut to delivery length is not available, but 4000mm or Max. 5800 delivery length is available upon request.

2. Customized color upon request is subject to 5000 meters minimum order quantities.

.01 Profile Accessories

Description Color Mass
 (g/m) Delivery Length Part No.

T Slot Cover-6  Black

11

2000mm/bar

4.21.06.BK

T Slot Cover-6  Blue 4.21.06.BE

T Slot Cover-6  Grey 4.21.06.GY

T Slot Cover-6  Orange 4.21.06.SE

T Slot Cover-8 Black

22

4.21.08.BK

T Slot Cover-8 Blue 4.21.08.BE

T Slot Cover-8  Grey 4.21.08.GY

T Slot Cover-8  Orange 4.21.08.SE

T Slot Cover-10  Black

38

4.21.10.BK

T Slot Cover-10 Blue 4.21.10.BE

T Slot Cover-10  Grey 4.21.10.GY

T Slot Cover-10 Orange 4.21.10.SE

MGSMASMASS SPS TFS
4-05



5

5.11-5.61

P. 5-18

Floor Elements

Base Plate 

Base Plate

Leveling Foot 

Mounting Plate 

Castor 

Base Angle 

L Base

Foot and Castor 
Components

Leveling Castor

Castor Plate 

Modular
Assembly Technology

® 

Floor Elements

P. 5-03 P. 5-08

P. 5-16 P. 5-17

P. 5-04 P. 5-07P. 5-02 P. 5-10

P. 5-14P. 5-11 P. 5-15

5-01 MGSMASMASS SPS TFS



5.11

Base Plate

Material and surface treatment: cast steel, black electrophoresis

Modular
Assembly Technology

®

Description L
(mm)

A
(mm)

B
(mm)

C
(mm)

D
(mm)

E
(mm) Fastening Set Mass

(g) Part No.

Base Plate-4080 (pcs)

126 40 20 60 40 80

2xAZ 1930 5.11.4080
Base Plate-4080 (set A) x4 C+3xAA+2xAZ 2240 5.11.4080.STA
Base Plate-4080 (set B) x6 C+3xAA+2xAZ 2290 5.11.4080.STB
Base Plate-4080 (set C) x8 C+3xAA+2xAZ 2340 5.11.4080.STC
Base Plate-4560 (pcs)

111 22.5 30 45 60
2xAZ 1600 5.11.4560

Base Plate-4560 (set) x4 C+3xAA+2xAZ 1910 5.11.4560.ST
Base Plate-4590 (pcs)

141 45 22.5 67.5 45 90

2xAZ 2330 5.11.4590
Base Plate-4590 (set A) x4  C+3xAA+2xAZ 2640 5.11.4590.STA
Base Plate-4590 (set B) x6 C+3xAA+2xAZ 2690 5.11.4590.STB
Base Plate-4590 (set C)
Base Plate Gasket

x8 C+3xAA+2xAZ 2740
9

5.11.4590.STC
5.11.01

Floor Elements

Base Plate-4080

Base Plate-4560

Base Plate-4590

.01

Fastening SetAZ

Base Plate Washer
zinc plated

To support strut profile at the bottom. Expansion bolts chocked into floor can offer a high stability.

M8 Flange Nut
zinc plated

M8x25 T Bolt
nickel plated

Fastening SetC

Floor Elements

40x40 80x8040x80

45x45 45x60 60x60

45x45 45x90 90x9 0

10.5 A

20
9

50 10
8

B C

D E

L

B

D

C

E

L

40

40

13

R7

1

Base Plate Gasket

To adjust the degree of vertical profile and uneven ground.

A

A

A

Fastening SetAA

M10x100 expansion bolt
zinc plated

5-02
MGSMASMASS SPS TFS MCS



5.12
Modular
Assembly Technology

®

Floor Elements

.01

Base Plate-4080

Description Fastening Set Mass 
(g) Part No.

Base Plate-4080 (set) 4xDT 975 5.12.40.ST

40x40 40x60 40x80

79

90

40
.4427510
0

UZ

U���'�

80

12

Base Plate

Material and Color: aluminum, spray coating, sliver 

To support strut profile mounted on the floor or between the platforms. Expansion bolts chocked into the floor 
can offer a high stability.

Floor Elements

DT
M6x20 Bolt
zinc plated
M6 Spring Washer
zinc plated
M6 Pre-set Nut
nickel plated

Fastening Set  

5-03 MGSMASMASS SPS TFS



Leveling Foot-Pivot Foot

To support structure where gradual height adjustment is needed, the pivot foot has a small 
swiveling angle to fit slightly uneven floor. The connection between the pivot base and the 
spindle can be released with a tool. 

Modular
Assembly Technology

®

Pivot Foot

59
M14x130

45

45

45

100 7000
70

220 5.21.60.14.130

79
M12x90 188 5.21.80.12.90

M12x130 100 9000

10000

100
100
100

218 5.21.80.12.130
M16x130 328 5.21.80.16.130

99
M12x130 326 5.21.100.12.130
M16x130 436 5.21.100.16.130

Description D     
(mm)

KxL      
(mm)

H min.
(mm)

H max.
(mm)

Max. Static Load
(N)

Mass 
(g) Part No.

M12x90 70 4500 152 5.21.60.12.90

Pivot Foot-PA 6 Base 

U�

Hm
in.

Hm
ax

.

L

K

+2.5°-2.5°

Floor Elements

Material and Color: Base-black PA6   Spindle-zinc plated steel   Pad-black rubber

5.21-22

Leveling Foot-Swivel Foot

To support structure where gradual height adjustment is needed, the swivel foot has a ball joint between the base 
and spindle, thus allowing the foot to swivel to an angle up to 30°. It is suitable to be used on the components 
moved frequently.

Swivel  Foot

Description D     
(mm)

KxL      
(mm)

H min.
(mm)

H max.
(mm)

Max. Static Load
(N)

Mass 
(g) Part No.

Swivel Foot-PA 6 Base 

59 M12x90

45

45

45 70 4500
70

9000

10000

162 5.22.60.12.90
M12x90 198 5.22.80.12.90

79 M12x130 100
100
100
100

228 5.22.80.12.130
M16x130 338 5.22.80.16.130
M12x130 336 5.22.100.12.130

99
M16x130 446 5.22.100.16.130

-30° +30°

U�

Hm
in.

Hm
ax

.

L

K

Material and Color: Base-black PA6   Spindle-zinc plated steel    Pad-black rubber

Floor Elements

MGSMASMASS SPS TFS 5-04



Modular
Assembly Technology

®

5.22-23Floor Elements

5-05 MGSMASMASS SPS TFS

Leveling Foot-Fixed Foot

Fixed foot have a non-moving connection between base and spindle.

Fixed Foot

Hm
in.

Hm
ax

.

L

K

Floor Elements

Material and Color: Base Plate-steel, electrophoresis, black    Spindle-zinc plated steel    Pad-black rubber

Note: M14 Fixed Foot should use an end cap with a punched hole

Description D     
(mm)

KxL
(mm)

H min.
(mm)

H max.
(mm)

Max. Static Load
(N)

Mass 
(g) Part No.

Fixed Foot-Steel Base

40 M12x70 35 50 4000 124 5.23.40.12.70
M12x70 35 50

7000
181 5.23.60.12.70

M12x70 35 50 220 5.23.80.12.70
80 M12x110 35 80 9000 240 5.23.80.12.110

60
M14x70 38 50 225 5.23.60.14.70

M14x70 38 50 283 5.23.80.14.70

Swivel Foot with holes

Description D     
(mm)

KxL      
(mm)

H min.
(mm)

H max.
(mm)

Max. Static Load
(N)

Mass 
(g) Part No.

Swivel Foot with holes
-PA 6 Base 

80

80

M12x130 45

45

100 9000 217 5.22.80.12.130.DH

100 9000M16x130 297 5.22.80.16.130.DH

-30° +30°

P

Hm
in.

Hm
ax

. L

Material and Color: Base-black PA6   Spindle-zinc plated steel    Pad-black rubber

K

2-M8

Note: Expansion bolts not in scope of supply

To support structure where gradual height adjustment is needed, the swivel foot has a ball joint between the base 
and spindle, thus allowing the foot to swivel to an angle up to 30°. It is suitable for uneven surface and fixed with 
expansion bolts.

Leveling Foot-Swivel Foot with holes



5.24-25
Modular
Assembly Technology

®

Floor Elements

MGSMASMASS SPS TFS 5-06

Floor Elements

Leveling Foot-Pivot Foot

Pivot Foot

Pivot Foot-Zinc Plate Steel
M14x128 45

45
100 17000 523 5.24.60.14.130

60
M16x158 120 20000 596 5.24.60.16.160
M20x178 50 130 25000 796 5.24.60.20.180
M12x128 45 100 15000 670 5.24.80.12.130

80 M16x158 45 120 20000 780 5.24.80.16.160
M20x178 50 130 25000 945 5.24.80.20.180

Pivot Foot-Stainless Steel

40 M12x128 100 15000 240 5.24.40.12.130.SS
M12x128 45

45

45
100 15000 480 5.24.60.12.130.SS

60 M16x158 120 20000 600 5.24.60.16.160.SS
M20x178 50 130 25000 803 5.24.60.20.180.SS
M12x128 45 100 15000 675 5.24.80.12.130.SS

80 M16x158 45 120 20000 785 5.24.80.16.160.SS
M20x178 50 130 25000 950 5.24.80.20.180.SS

Description D    
 (mm)

KxL     
 (mm)

H min.
(mm)

H max.
(mm)

Max. Static Load
(N)

Mass 
(g) Part No.

M12x128 100 15000 241 5.24.40.12.13045
40

M14x128 100 17000 290 5.24.40.14.13045
M12x128 100 15000 475 5.24.60.12.13045

Hm
in.

L

K

+2.5°-2.5°

Hm
ax

.

Material: zinc plated steel/stainless steel

To support structure where gradual height adjustment is needed, the pivot foot has a small 
swiveling angle to fit slightly uneven floor. The connection between the pivot base and the 
spindle can be released with a tool.

Cup pivot foot

Material: zinc plated steel

To support structure where gradual height adjustment is needed, the pivot foot has a small swiveling angle to fit
slightly uneven floor. The connection between the pivot base and the spindle can be released with a tool.

Description D     
(mm)

KxL      
(mm)

H min.
(mm)

H max.
(mm)

Max. Static Load
(N)

Mass 
(g) Part No.

Cup pivot foot
45

105
148 5.25.40.12.130

M12x132 50 10000
207 5.25.45.12.13050

Cup pivot foot

Hm
in

Hm
ax

L

-2.5° +2.5°

K



5.31
Modular
Assembly Technology

®

PG40-40x40
PG45-45x45
PG50-50x50

Mounting Plate

Material: diecast aluminum 

PG40-40x60
PG45-45x60

PG40-40x80
PG45-45x90

M6x20 Bolt
zinc plated

Fastening Set FC

�����'

Hole Reducer Bolt
nickel plated

W2
L2

W1L1

D

6

12

&[U

W2
L2

W1L1

6

D

12&[U

W2
L2

W1L1

6

D

12

&[U

Floor Elements

.01Floor Elements

To attach leveling foot to strut profile end, but it does 
not apply for connecting of castors.

Description D R L1
(mm)

L2
(mm)

W1
(mm)

W2
(mm) Fastening Set Mass

 (g) Part No.

Mounting Plate-PG40-4040 M12 6.5

6.5

40 40 30 30 4x(M6x20) 51 5.31.40.4040

Mounting Plate-PG45-4545 M12 45 45 33 33 4xFC 97 5.31.45.4545

Mounting Plate-PG50-5050 M12 8.5 50 50 35 35 4x(M8x30) 130 5.31.50.5050

Mounting Plate-PG40-4060 M12

6.5

6.5

6.5

6.5 60 40 50 30 4x(M6x20) 67 5.31.40.4060

Mounting Plate-PG45-4560 M12 60 45 48 33 4xFC 108 5.31.45.4560

Mounting Plate-PG40-4080
M12

80 40 70 30
4x(M6x20) 78 5.31.40.4080.M12

M16 4x(M6x20) 78 5.31.40.4080.M16

Mounting Plate-PG45-4590
M12

90 45 78 33
4xFC 131 5.31.45.4590.M12

M16 4xFC 128 5.31.45.4590.M16

5-07 MGSMASMASS SPS TFS

Reliability

Efficiency

Economical



5.32
Modular
Assembly Technology

®

PG40-4040
PG45-4545
PG50-5050

PG40-4060
PG45-4560

L1
W1 W2

L2

H

D

L1
W1 W2

L2

H
D L2

W1 L1
W2

H

D

PG30-3060
PG40-4080
PG45-4590
PG50-50100

M6x25 Bolt
zinc plated

Fastening Set FI

�����'

Hole Reducer Bolt
nickel plated

M6x20 Bolt
zinc plated

Fastening SetFZ

��
��'

Hole Reducer Bolt
nickel plated

Mounting Plate

Material and Color: spray coating steel, sliver 

Floor Elements

.01Floor Elements

Description D L1
(mm)

L2
(mm)

W1
(mm)

W2
(mm)

H
(mm) Fastening Set Mass

 (g) Part No.

Mounting Plate-PG40-4040 M12 40 40 30 30

12

12

12

12

12 4x(M6x20) 128 5.32.40.4040

Mounting Plate-PG45-4545 M12 45 45 33 33 4xFI 203 5.32.45.4545

Mounting Plate-PG50-5050 M12 50 50 35 35 4x(M8x20) 218 5.32.50.5050

Mounting Plate-PG40-4060 M12 60 40 50 30 4x(M6x20) 176 5.32.40.4060

Mounting Plate-PG45-4560 M12 60 45 48 33 4xFI 220 5.32.45.4560

Mounting Plate-PG30-3060 M12 60 30 30 23 10 2xFZ 133 5.32.30.3060

Mounting Plate-PG40-4080
M12

80 40 40 30

12

12

12 2x(M14x25)
272 5.32.40.4080.M12

M16 270 5.32.40.4080.M16

Mounting Plate-PG45-4590
M12

90 45 45 33 2x(M14x25)
332 5.32.45.4590.M12

M16 330 5.32.45.4590.M16

Mounting Plate-PG50-50100
M12

100 50 50 35 2x(M14x25)
332 5.32.50.50100.M12

M16 329 5.32.50.50100.M16
M20 327 5.32.50.50100.M20

MGSMASMASS SPS TFS 5-08

Reliability

Efficiency

Economical



5.32
Modular
Assembly Technology

®

W2
L2

W1L1

H

D

M6x20 Bolt
zinc plated

Fastening SetFZ

��
��'

Hole Reducer Bolt
nickel plated

M8x20 Bolt
zinc plated

Fastening SetFY

��'���

Hole Reducer Bolt
nickel plated

Mounting Plate

Material: spray coating steel, sliver 

Floor Elements

.02Floor Elements 

Description D L1
(mm)

L2
(mm)

W1
(mm)

W2
(mm)

H
(mm) Fastening Set Mass

 (g) Part No.

Mounting Plate-PG30-6060
M12

60 60 30 30 10 4xFZ
232 5.32.30.6060.M12

M16 230 5.32.30.6060.M16

Mounting Plate-PG40-8080
M12

80 80 40 40

12

12

12

12

534 5.32.40.8080.M12
M16 4x(M14x25) 532 5.32.40.8080.M16
M20 530 5.32.40.8080.M20

Mounting Plate-PG45-9090
M12

90 90 45 45
664 5.32.45.9090.M12

M16 4x(M14x25) 661 5.32.45.9090.M16
M20 659 5.32.45.9090.M20

Mounting Plate-PG50-100100
M12

100 100 50 50
725 5.32.50.100100.M12

M16 4x(M14x25) 722 5.32.50.100100.M16
M20 720 5.32.50.100100.M20

Mounting Plate-PG60-6060 M12 60 60 40 40 4xFY 330 5.32.60.6060

5-09 MGSMASMASS SPS TFS

Reliability

Efficiency

Economical



5.33
Modular
Assembly Technology

®

W1L1 W2
L2

H

D

W1L1
L2

D

H

W1L1 W2
L2

H

D

M6x20 Bolt
zinc plated

Fastening Set FC

�����'

Hole Reducer Bolt
nickel plated

Mounting Plate

Material and Color: diecast zinc, sliver

Floor Elements

.01

PG40-8080
PG45-9090

PG40-4040
PG45-4545

PG40-4080
PG45-4590

Floor Elements

Description D L1
(mm)

L2
(mm)

W1
(mm)

W2
(mm)

H
(mm) Fastening Set Mass

 (g) Part No.

Mounting Plate-PG40-4040 M12 40 40 30 30 12

12

12

12

12

12

4x(M6x20) 117 5.33.40.4040

Mounting Plate-PG45-4545 M12 45 45 33 33 4xFC 189 5.33.45.4545

Mounting Plate-PG40-4080
M12

80 40 40 2x(M14x25)
277 5.33.40.4080.M12

M16 275 5.33.40.4080.M16

Mounting Plate-PG45-4590
M12

90 45 45 2x(M14x25)
344 5.33.45.4590.M12

M16 342 5.33.45.4590.M16

Mounting Plate-PG40-8080
M12

80 80 40 40 4x(M14x25)
582 5.33.40.8080.M12

M16 580 5.33.40.8080.M16
M20 577 5.33.40.8080.M20

Mounting Plate-PG45-9090

M12

90 90 45 45 4x(M14x25)

714 5.33.45.9090.M12
M16 712 5.33.45.9090.M16

M20 709 5.33.45.9090.M20

MGSMASMASS SPS TFS 5-10

Reliability

Efficiency

Economical



PG30

PG40

PG45

PG

Floor Elements

The castor plate is used for attaching profiles to the castor with plate.

Castor Plate 

Material: zinc plated steel

Modular
Assembly Technology

®

5.34.01

Description L1
(mm)

L2
(mm)

W2
(mm)

U�
(mm) Fastening Set Mass

(g) Part No.W1
(mm)

105

110

120

H
(mm)

10

12

120

130

12 130

30

40

45

15

20

22.5

7

9

9

5.34.30.STA

5.34.30.STB

5.34.30.STC

5.34.30.STD

5.34.40.STA

5.34.40.STB

5.34.40.STC

5.34.40.STD

5.34.45.STA

5.34.45.STB

5.34.45.STC

5.34.45.STD

1056 

1049

1063 

1070

1229 

1222

1236 

1243

1237 

1230

1244 

1251

4xGL+1xGM+4xAM

5xGL+4xAM

3xGL+2xGM+4xAM

2xGL+3xGM+4xAM

4xGJ+1xGN+4xAM

5xGJ+4xAM

3xGJ+2xGN+4xAM

2xGJ+3xGN+4xAM

4xGK+1xGN+4xAM

5xGK+4xAM

3xGK+2xGN+4xAM

2xGK+3xGN+4xAM

Castor Plate A-PG30

Castor Plate B-PG30

Castor Plate C-PG30

Castor Plate D-PG30

Castor Plate A-PG40

Castor Plate B-PG40

Castor Plate C-PG40

Castor Plate D-PG40

Castor Plate A-PG45

Castor Plate B-PG45

Castor Plate C-PG45

Castor Plate D-PG45

6.2
2.0

10.2
6.0

10.2
4.0

8.2
2.2

Floor Elements

75

W2

L2

45

4-M8

L1

H

W1

W1

W2
��U�

Fastening Set 

M8x25 Bolt
zinc plated
M8 Spring Washer
zinc plated
M8 T Nut
nickel plated

GK Fastening Set

M8x20 Bolt
zinc plated
M8 Spring Washer
zinc plated
M8 T Nut
nickel plated

GJ Fastening Set

M6x20 Bolt
zinc plated
M6 Spring Washer
zinc plated

GM Fastening Set

��
��'

Hole Reducer Bolt
nickel plated

M8x25 Bolt
zinc plated
M8 Spring Washer
zinc plated

GN Fastening Set

��&���

Hole Reducer Bolt
nickel plated

M6x20 Bolt
zinc plated
M6 Spring Washer
zinc plated
M6 T Nut
nickel plated

GL Fastening Set

M8x12 Bolt
zinc plated

AM

M8 Washer
zinc plated

Type A

Type C

Type B

Type D

5-11
MGSMASMASS SPS TFS



Floor Elements

The castor plate is used for attaching profiles to the castor with plate-Heavy.

Castor Plate-Heavy

Material: zinc plated steel

Modular
Assembly Technology

®

5.34.02

L1
(mm)

L2
(mm)

W2
(mm)

U�
(mm) Fastening Set Mass

(g) Part No.W1
(mm)

120

125

135

H
(mm)

10PG30

PG40

PG45 12

135

145

12 145

30

40

45

15

20

22.5

7

9

9

5.34.30.H.STA

5.34.30.H.STB

5.34.30.H.STC

5.34.30.H.STD

5.34.40.H.STA

5.34.40.H.STB

5.34.40.H.STC

5.34.40.H.STD

5.34.45.H.STA

5.34.45.H.STB

5.34.45.H.STC

5.34.45.H.STD

1364

1356

1372

1380

1834

1826

1842

1850

1969

1972

1977

1985

4xDO+1xDQ+4xDS

5xDO+4xDS

3xDO+2xDQ+4xDS

2xDO+3xDQ+4xDS

4xDP+1xDR+4xDS

5xDP+4xDS

3xDP+2xDR+4xDS

2xDP+3xDR+4xDS

4xDP+1xDR+4xDS

5xDP+4xDS

3xDP+2xDR+4xDS

2xDP+3xDR+4xDS

Castor Plate-Heavy A-PG30

Castor Plate-Heavy B-PG30

Castor Plate-Heavy C-PG30

Castor Plate-Heavy D-PG30

Castor Plate-Heavy A-PG40

Castor Plate-Heavy B-PG40

Castor Plate-Heavy C-PG40

Castor Plate-Heavy D-PG40

Castor Plate-Heavy A-PG45

Castor Plate-Heavy B-PG45

Castor Plate-Heavy C-PG45

Castor Plate-Heavy D-PG45

6.2
2.0

10.2
6.0

10.2
4.0

8.2
2.2

Floor Elements

Type A

Type C

Type B

Type D

82.5

W2

L2

60

4-M10

L1

H

W1

W1

W2
��U�

M6x20 Bolt
zinc plated    

M6 Spring Washer   
zinc plated
M6 Washer  
 zinc plated
M6 T Nut
nickel plated

Fastening SetDO
M8x25 Bolt
zinc plated    

M8 Spring Washer   
zinc plated
M8 Washer  
 zinc plated
M8 T Nut
nickel plated

Fastening SetDP
M6x20 Bolt
zinc plated    
M6 Spring Washer   
zinc plated
M6 Washer  
 zinc plated

Fastening SetDQ

��
��'

Hole Reducer Bolt
nickel plated

M8x25 Bolt
zinc plated    
M8 Spring Washer   
zinc plated
M8 Washer  
 zinc plated

Fastening SetDR

��&���
Hole Reducer Bolt
nickel plated

M10x16 Bolt
zinc plated 

M10 Washer 
zinc plated 

Fastening Set  DS

PGDescription

MGSMASMASS SPS TFS
5-12



Floor Elements

The castor plate is used for attaching profiles to the castor with thread.

Castor Plate 

Material: zinc plated steel

Modular
Assembly Technology

®

5.35.01

L1L2
L1

M12

H

6.2
2.0

10.2
6.0

10.2
4.0

8.2
2.2

Description L1
(mm)

H
(mm)

L2
(mm) Fastening Set Mass

(g) Part No.

30

40

45

10PG30

PG40

PG45

12

12

60

80

90

5.35.30.ST

5.35.40.ST

5.35.45.ST

162

296

377

2xFS

2xCQ

2xCQ

Castor Plate-PG30

Castor Plate-PG40

Castor Plate-PG45

When the castor is installed with this castor plate, the profile need be machined with a U12.5 and 20mm depth hole at the 
corresponding position to the thread of the castor.

M6x10 Bolt
zinc plated

Fastening Set FS

M6 T Nut
nickel plated

CQ
M6x16 Bolt
zinc plated

M6 T Nut
nickel plated

Fastening Set 

Floor Elements

PG

5-13
MGSMASMASS SPS TFS



5.41
Modular
Assembly Technology

®

Castor

Material and Color: Base-carbon steel, plastic powder coated, black    
Wheel-polyurethane(Heavy duty - Nylon)

Castor-Thread-Universal Castor-Thread-Brake-Universal

Floor Elements

.01

Castor-Plate-Brake

Castor-Plate-Fixed

Castor-Plate-Universal

Castor-Plate-Universal-Heavy

Description D     
(mm)

R            
(mm)

H    
(mm)

Load
(N)

Wheel
Width
(mm)

32

32

32

32

32

50

Mass
(g) Part No.

Castor-Thread-Universal
63 63 104 800 550 5.41.63.M12
75 73 119 1050 670 5.41.75.M12

100 87 142 1350 790 5.41.100.M12

Castor-Thread-Brake-Universal
63 112 104 800 650 5.41.63.M12B
75 112 119 1050 770 5.41.75.M12B

100 122 142 1350 930 5.41.100.M12B

Castor-Plate-Fixed
63 92 800 370 5.41.63F
75 107 1050 490 5.41.75F

100 130  1350 670 5.41.100F

Castor-Plate-Universal
63 63 92 800 570 5.41.63U
75 73 107 1050 690 5.41.75U

100 87 130 1350 870 5.41.100U

Castor-Plate-Brake
63 118 92 800 670 5.41.63B
75 118 107 1050 790 5.41.75B

100 127 130 1350 970 5.41.100B

Castor-Plate-Universal-Heavy 75 65 104 6000 1150 5.41.75UH

Castor-Plate-Fixed-Heavy 75 104 6000 950 5.41.75FH

H

R

U�

75
95

66 45

8.5

13.5

Castor-Plate-Fixed-Heavy

Floor Elements
H

R
M12

13

U�

R
M12

13
H

U�

75
95

4566

13.58.5

R

H

U�

75
95

4566

13.58.5

H

U�

R 107
82.5

13
U�

H 6082

10
.5

107
82.5

6082

13
U�

H

10
.5

MGSMASMASS SPS TFS
5-14



Modular
Assembly Technology

®

Description Fastening Set Mass
 (g) Part No.

Base Angle-Left (pcs) 346 5.51.L

Base Angle-Left (set)  2xC+1xAA 473 5.51.L.ST

Base Angle-Right (pcs) 346 5.51.R

Base Angle-Right (set)  2xC+1xAA 473 5.51.R.ST

Base Angle-L+R (pair) 692 5.51.P

Base Angle-L+R (set)  4xC+2xAA 946 5.51.P.ST

M10x100 expansion bolt
zinc plated

Fastening SetAA

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Base Angle

To improve stability of structure supported by leveling foot.

Material: steel, black electrophoresis

Floor Elements

Base Angle-Left/Right

70
170

80

U�	�
38

U��

40

80

3

5.51.01

M8 Flange Nut
zinc plated

M8x20 T Bolt
nickel plated

Fastening Set C

Floor Elements

Left

Right

5-15
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

L Base

L base is to fix the profile on the floor and adjust the height of the profile to the floor.

Material: diecast aluminum, black electrophoresis

Floor Elements

5.52.01Floor Elements

10
0

20
20

80
 70

.5

38
16

0

15

10.1

15

Description Fastening Set Mass
 (g) Part No.

L Base (pcs) 276 5.52.10

L Base-PG40 (set)  2xDI+1xDN 343 5.52.10.04.ST

L Base-PG45 (set)  2xDM+1xDN 346 5.52.10.06.ST

M10x100 expansion bolt
zinc plated

Fastening SetDNDM
M8x20 Bolt
zinc plated
M8 Spring Washer
zinc plated
M8 Pre-set Nut
nickel plated

Fastening Set

65

20

8 m
in.

73
.5 

ma
x.

17~28

DI
M8x16 Bolt
zinc plated
M8 Spring Washer
zinc plated
M8 Pre-set Nut
nickel plated

Fastening Set

MGSMASMASS SPS TFS
5-16



5.61
Modular
Assembly Technology

®

Foot and Castor Components

Material and Color: plate, cast steel, silver

Description Fastening Set Load
 (N)

Mass
 (g) Part No.

Light Weight

3900 5.61.L
4xJ 3950 5.61.40.L.STA

3xJ+1xAF 3950 5.61.40.L.STB
4xW 3950 5.61.45.L.STA

3xW+1xAG 3950 5.61.45.L.STB

Heavy Weight 6000

1050

4600 5.61.H
4xJ 4650 5.61.40.H.STA

3xJ+1xAF 4650 5.61.40.H.STB
4xW 4650 5.61.45.H.STA

3xW+1xAG 4650 5.61.45.H.STB

Floor Elements

.01

67
.5

67
.5

60
80

67.5 67.5
60 80

165

16
5

51
R4.5

20
22

.5

20
22.5

10
0

1510
2

11
9

14
4

20
96 

M12

27.5

64

Uq�

U'�

Heavy Wheel-PA  Foot-zinc plated steel

Light Wheel-polyurethane  Foot-steel, black electrophoresis

67
.5 

67
.5 

60
80

67.5 67.5 
60 80

165

16
5

32
R4.5

20
22

.5 

20
22.5

10
0

1510
2

12
2

14
4

U&�

20
96

Uq�
M12

35.5 

64

M8x25 Bolt
zinc plated 

M8 Washer
zinc plated 

M8 Spring Washer
zinc plated 

AF

M14�M8 
Hole Reducer Bolt
nickel plated

Fastening Set

M8x30 Bolt
zinc plated 

M8 Washer
zinc plated 

M8 Spring Washer
zinc plated 

AG

M14�M8 
Hole Reducer Bolt
nickel plated

Fastening Set

M8x30 Bolt
zinc plated

M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening Set W

M8 Spring Washer
zinc plated

A B

M8x25 Bolt
zinc plated 

M8 Washer
zinc plated 
M8 T Nut
nickel plated 

Fastening Set J

M8 Spring Washer
zinc plated 

Floor Elements

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

5-17
MGSMASMASS SPS TFS



5.62
Modular
Assembly Technology

®

Leveling Castor

Floor Elements

.01Floor Elements
H

5.5

R
A

B

AB
U�U� 12

Material: Base-Carbon steel, Case-Aluminum, Wheel-Nylon 6

7533 89.5 118 10000 1.65 5.62.7595 11

Description D     
(mm)

R            
(mm)

H    
(mm)

Load
(N)

Mass
(kg) Part No.

Leveling Castor
5025 61 85 2500 0.77 5.62.50
61 77.5 105

A
(mm)

74
90

70

B
(mm)

57
70

a 
(mm)

7.2
9 5000 1.25 5.62.61

Wheel
Width
(mm)

30

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

MGSMASMASS SPS TFS
5-18



Panel Installation Elements

Panel Mounting Block 

Panel Mounting Strip

Mounting Block

6

6.11-6.41

P. 6-02 P. 6-05P. 6-03 P. 6-04

Modular
Assembly Technology

® 

Panel Installation Elements

6-01 MGSMASMASS SPS TFS



6.11

To reduce slot width for panel installation.

Material and Color: black PVC

Modular
Assembly Technology

®

Description Mass
 (g/m) Delivery Length Part No.

25 6.11.06

51 6.11.08

64

2000mm/bar

6.11.10

10.2
6.0

10.2
4.0 P=8

P=10

Panel Installation Elements

.01

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

T Slot Reducing Profile-6

T Slot Reducing Profile-6

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

10.6

17

7.9

12.2

1

11

10.3

Panel Installation Elements

6

T=3~5

T=3~5

P

6

7.9

0.8

6.6 3
4

MGSMASMASS SPS TFS 6-02



PG40

PG45/50/60

PG30

6.21
Modular
Assembly Technology

®

Description Fastening 
Set

Mass
(g) Part No.

Panel Mounting Block-6 (pcs)  4.4 6.21.06

Panel Mounting Block-6 (set) 1xFM 7 6.21.06.ST

Panel Mounting Block-8 (pcs) 9 6.21.08

Panel Mounting Block-8 (set) 1xFN 13.5 6.21.08.ST

Panel Mounting Block-10-4 (pcs) 15.8 6.21.10.04

Panel Mounting Block-10-4 (set) 1xFP 23.8 6.21.10.04.ST

Panel Mounting Block-10-6 (pcs) 20 6.21.10.06

Panel Mounting Block-10-6 (set) 1xFP 29 6.21.10.06.ST

M5x14 Bolt
zinc plated

Fastening Set FM

M5 Washer
zinc plated

M6x16 Bolt
zinc plated

Fastening SetFN

M6 Washer
zinc plated

M6x25 Bolt
zinc plated

Fastening SetFP

M6 Washer
zinc plated

Panel Installation Elements

.01

Panel Mounting Block

Panel Mounting Block-6

PG20

5 7

6

5.5

2

6 M5 Nut
12 12

18

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

6

7 9

PG30

6.5

2.28

7.5 M6 Nut

16 18

24

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

Panel Mounting Block-8
-

10 14

PG40

6.5

10

4

7.5

M6 Nut
24 20

24

10.2
4.0

6.2
2.0

8.2
2.2

2
6.0

Panel Mounting Block-10-4

10.2
6.0

6.2
2.0

8.2
2.2

10.2
4.0

PG45/PG50/PG60

12.5 16.5

6.5

10

6

7.5 M6 Nut
29 20

24

Panel Mounting Block-10-6

Material and Color: Block-black PVC     Nut-stainless steel

Panel Installation Elements

The block is used to attach the panel with various thickness to the profile.

PG

PG20

M6

M6

M6

M5

6-03 MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Material and Color:  gray PVC 

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

Description Mass
(g/m) Delivery length Part No.

Panel Mounting Strip-8-5 220 6.31.08.02

Panel Mounting Strip-10-4-3 273 2000mm/bar 6.31.10.04.01

Panel Mounting Strip-10-4-5 260 6.31.10.04.02

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

6.31.01

Panel Installation Elements

Panel Mounting Strip

Panel Mounting Strip-10-4-3

Panel Mounting Strip-8-5

Panel Mounting Strip-10-4-5

15

19.7

1.5

1.3

10.8

26

5

22
.5

T=5

1.3 15

22
.5

21.7

1.5

10.8

26

5

T=3

18.9

1.3 15 20

12.6

5

1.5
9

T=5

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

Panel Installation Elements

To attach the panel with 3mm and 5mm thickness to the profile, widely used in clean room.

PG

PG30

PG40

MGSMASMASS SPS TFS 6-04



6.41
Modular
Assembly Technology

®

.01

Mounting Block

Material: diecast zinc

Panel Installation Elements

Mounting block is used for fixing the mesh of U4 to the standard profiles, 
which has a better physical property.

Mounting Block-10-4

Mounting Block-8

Description Mass
 (g/pcs) Part No.

Mounting Block-8(with top thread) 19 6.41.08.01

Mounting Block-10-4(with top thread) 21PG40

PG30

6.41.10.04.01

PG

Mounting Block-10-6(with top thread) 23PG45/50/60 6.41.10.06.01

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

Step 1

Step 2

a
b

a b

Note: The distance (a) between the nearest meshes and profiles have to be more than 
          20mm and less than b+5mm (b is the distance of the meshes).  And the optimum 
          distance between mounting blocks is 300mm to ensure the structure intensity.

Panel Installation Elements

U20

17.95.9

U6

M5x6

U20

8.2
20.2

U6.8

M5x6

Mounting Block-10-6

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

U20

10.3
22.3

U6.8

M5x6

6-05 MGSMASMASS SPS TFS



Door and Window Elements7

7.11-7.51
Handle 

Hinge

Lock 

Magnet Catch 

Door Lock

Modular
Assembly Technology

®

Door and Window Elements

P. 7-02 P. 7-03

P. 7-10 P. 7-11

P. 7-04 P. 7-05

P. 7-12 P. 7-14 P. 7-16 P. 7-17

P. 7-06 P. 7-09

MGSMASMASS SPS TFS 7-01



PG40

PG45/50/60

7.11

Door and Window Elements

Modular
Assembly Technology

®

Description L
(mm)

H
(mm)

D1
(mm)

D2
(mm)

Fastening 
Set  Cap Color Mass

(g) Part No.

PA6 Handle-90 (pcs)

90 36 6.5 18

23 7.11.90.06.BE
PA6 Handle-90 (set) 2xCA 41 7.11.90.06.BE.ST
PA6 Handle-90 (pcs) 23 7.11.90.06.BK
PA6 Handle-90 (set) 2xCA 41 7.11.90.06.BK.ST
PA6 Handle-90 (pcs)

90 36 6.5 18

23 7.11.90.08.BE
PA6 Handle-90 (set) 2xCB 45 7.11.90.08.BE.ST
PA6 Handle-90 (pcs) 23 7.11.90.08.BK
PA6 Handle-90 (set) 2xCB 45 7.11.90.08.BK.ST
PA6 Handle-120 (pcs)

120 40 8.5 25

45 7.11.120.08.BE
PA6 Handle-120 (set) 2xCB 68 7.11.120.08.BE.ST
PA6 Handle-120 (pcs) 45 7.11.120.08.BK
PA6 Handle-120 (set) 2xCB 68 7.11.120.08.BK.ST
PA6 Handle-120 (pcs)

120 40 8.5 25

45 7.11.120.10.04.BE
PA6 Handle-120 (set) 2xCD 88 7.11.120.10.04.BE.ST
PA6 Handle-120 (pcs) 45 7.11.120.10.04.BK
PA6 Handle-120 (set) 2xCD 88 7.11.120.10.04.BK.ST
PA6 Handle-120 (pcs)

120 40 8.5 25

45 7.11.120.10.06.BE
PA6 Handle-120 (set) 2xCE 104 7.11.120.10.06.BE.ST
PA6 Handle-120 (pcs) 45 7.11.120.10.06.BK
PA6 Handle-120 (set) 2xCE 104 7.11.120.10.06.BK.ST

Handle

Material and Color: PA6, black

L

H

D2

UD1

.01

M5x25 Bolt
zinc plated

M5 T Nut
nickel plated 

Fastening Set CA
M6x25 Bolt
zinc plated 

Fastening Set CB

M6 T Nut
nickel plated 

M8x25 Bolt
zinc plated

M8 T Nut
nickel plated

Fastening Set CD
M8x30 Bolt
zinc plated

M8 T Nut
nickel plated

Fastening Set CE

Door and Window Elements

PG15/20

PG30

PG

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

7-02 MGSMASMASS SPS TFS



7.12
Modular
Assembly Technology

®

.01

Guard Wing Handle

Material and Color: PA6, black

M6x12 Bolt
zinc plated

M6 T Nut
nickel plated

Fastening SetCP
M6x16 Bolt
zinc plated

M6 T Nut
nickel plated

Fastening SetCQ

36

115

20

95

40

U'	�

Description Fastening Set Cap Color Mass
 (g) Part No.

Guard Wing Handle -95 (pc) 70 7.12.95.08.BE

Guard Wing Handle -95 (set)

Guard Wing Handle -95 (pc)

Guard Wing Handle -95 (set)

Guard Wing Handle -95 (pc)

Guard Wing Handle -95 (set)

Guard Wing Handle -95 (pc)

Guard Wing Handle -95 (set)

2xCP 88 7.12.95.08.BE.ST

70 7.12.95.08.BK

2xCP 88 7.12.95.08.BK.ST

70 7.12.95.10.BE

2xCQ 96 7.12.95.10.BE.ST

70 7.12.95.10.BK

2xCQ 96 7.12.95.10.BK.ST

PG

PG40/45/50/60

PG30

Door and Window Elements

Door and Window Elements

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

MGSMASMASS SPS TFS 7-03



7.13
Modular
Assembly Technology

®

Door and Window Elements

Aluminum Handle

Material: handle-aluminum  Cap-ABS   Cap Color: gray and black

PA
M5x10 Bolt
zinc plated
M5 Washer
zinc plated
M5 T Nut
nickel plated

Fastening Set PB
M5x35 Bolt
zinc plated

M5 T Nut
nickel plated

Fastening Set

Application Description Cap Color L
(mm) Fastening Set Mass

(g) Part No.

         4mm Panel 

Aluminum Handle (pc)

300

216 7.13.P.GY

Aluminum Handle (set) 3×PA 224 7.13.P.GY.ST

Aluminum Handle (pc) 216 7.13.P.BK

Aluminum Handle (set) 3×PA 224 7.13.P.BK.ST

             PG40/45  

Aluminum Handle (pc) 216 7.13.10.GY

Aluminum Handle (set) 3×PB 231 7.13.10.GY.ST

Aluminum Handle (pc) 216 7.13.10.BK

Aluminum Handle (set) 3×PB 231 7.13.10.BK.ST

10.2
4.0

10.2
6.0

Note:1. Single supply including 3 of M5 T Nuts (Reference No.2.21.06.M5).

 2. The length could be customized according to customer’s requirements(300~2000mm). 

L=500mm
Part  No. 

ex:  7.13.P.GY - 500

Cap(L) Cap(R)

30

40

5

9

6.2

20

6

32


�U�

L(300~2000mm)

3 3

.01Door and Window Elements

7-04 MGSMASMASS SPS TFS



40/40 (pcs)

20 38 8.5

45 7.21.40.40
40/40 (set) 4xFG

4xFG

108 7.21.40.40.ST
40/45 (pcs)

22.5

22.5

43

43

8.5

8.5

47 7.21.40.45
40/45 (set) 110 7.21.40.45.ST
45/45 (pcs)

22.5 43 8.5
49 7.21.45.45

45/45 (set) 4xFG 112 7.21.45.45.ST

7.21
Modular
Assembly Technology

®

Description H1    
(mm)

H2       
(mm)

L1       
(mm)

L2    
(mm)

D1  
(mm)

D2    
(mm)

Fastening 
Set

Mass
(g) Part No.

30/30 (pcs)
15 15

15

28 28

28

6.5 6.5

6.5

39 7.21.30.30
30/30 (set) 4xFL 73 7.21.30.30.ST
30/40 (pcs)

20

22.5

38

43

8.5

8.5

42 7.21.30.40
30/40 (set) 2xFG+2xFL

2xFG+2xFL

88 7.21.30.40.ST
30/45 (pcs)

15 28 6.5

20 38 8.520 38 8.5

44 7.21.30.45
30/45 (set) 81 7.21.30.45.ST

Hinge

Material and Color: black PA6

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

Door and Window Elements

.01

Hinge-PA6

Door and Window Elements

48
25


[U��
H1

H2


[U�

L1

L2

8 16

P1 P2

8
16

180°

M8x16 Bolt
zinc plated

Fastening Set  FG

M8 T Nut
nickel plated

M6x14 Bolt
zinc plated

Fastening Set FL

M6 T Nut
nickel plated

Fmax=300N

F

MGSMASMASS SPS TFS 7-05



7.22
Modular
Assembly Technology

®

.01Door and Window Elements

Hinge

Door and Window Elements

Light Hinge-Aluminum Countersink Hole
M6x16 Bolt
zinc plated

Fastening Set DL

M6 T Nut
nickel plated

M6x10 Bolt
zinc plated

Fastening Set  DJ

M6 T Nut
nickel plated

M6x14 Bolt
zinc plated

Fastening Set FL

M6 T Nut
nickel plated

Material and Color: aluminum, nature anodized

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Description H1    
(mm)

H2       
(mm)

L1       
(mm)

L2    
(mm)

D1  
(mm)

D2    
(mm)

Fastening 
Set

Mass
 (g) Part No.

30/30 (pcs)
15

15

15

15 28

28

28

28 6.5

6.5

6.5

6.5
41 7.22.30.30.E

30/30 (set) 4xDJ 65 7.22.30.30.E.ST
30/40 (pcs)

20 38

38

38

38

38

6.5

6.5

6.5

6.5

6.5

46 7.22.30.40.E
30/40 (set) 2xDJ+2xFL 80 7.22.30.40.E.ST
30/45 (pcs)

22.5
46 7.22.30.45.E

30/45 (set) 2xDJ+2xDL 80 7.22.30.45.E.ST
40/40 (pcs)

20 20

20 38

38

38

6.5

6.5

6.5
51 7.22.40.40.E

40/40 (set) 4xFL 94 7.22.40.40.E.ST
40/45 (pcs)

22.5

22.5
51 7.22.40.45.E

40/45 (set) 2xFL+2xDL 95 7.22.40.45.E.ST
45/45 (pcs)

22.5
51 7.22.45.45.E

45/45 (set) 4xDL 96 7.22.45.45.E.ST

Fmax=300N

F

Economical

48
25

2xUD1
H1

H2

2xUD2
L1

L2

4.3
12

.3

P2P1

4.3
12

.6

180°

7-06 MGSMASMASS SPS TFS



7.22
Modular
Assembly Technology

®

Hinge

Material and Color: aluminum, nature anodized

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

Description Fastening 
Set

Mass
 (g) Part No.

20/20 (pcs) 15 7.22.20.20
20/20 (set) 4xFE 25 7.22.20.20.ST

.02

Hinge-Aluminum Countersink Hole

Hinge-Aluminum Countersink Hole

Door and Window Elements

M4x8 Bolt
zinc plated 

Fastening SetFE

M4 T Nut
nickel plated 

Fmax=150N

F

Door and Window Elements

20 20

4.3
8.3

180°

4.3
8.3

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

48
25

2xUD1
H1

H2

2xUD2
L1

L2

6.3 16
.3

Description H1    
(mm)

H2       
(mm)

L1       
(mm)

L2    
(mm)

D1  
(mm)

D2    
(mm)

Fastening 
Set

Mass
 (g) Part No.

30/30 (pcs)
15 28

28

28

28 6.5

6.5

6.5

6.5
69 7.22.30.30

30/30 (set) 4xFF 97 7.22.30.30.ST
30/40 (pcs)

20

38

38

38

38

8.5

8.5

8.5

8.5

74 7.22.30.40
30/40 (set) 2xFF+2xFG 122 7.22.30.40.ST
30/45 (pcs)

22.5
74 7.22.30.45

30/45 (set)

15                                                                                        

15                                                                                        

15                                                                                        

2xFF+2xFG 122 7.22.30.45.ST
40/40 (pcs)

20 20

20

38

38 8.5

8.5
81 7.22.40.40

40/40 (set) 4xFG 149 7.22.40.40.ST
40/45 (pcs)

22.5
81 7.22.40.45

40/45 (set) 4xFG 149
84

152

84
152
84

155

7.22.40.45.ST
40/50 (pcs)

8.5 8.525 20

38 8.538

43 38

43 38

43 43

8.522.5 22.5

8.5 8.525 22.5

8.5 8.525 25

7.22.40.50
40/50 (set)
45/45 (pcs)
45/45 (set)
45/50 (pcs)
45/50 (set)
50/50 (pcs)
50/50 (set)

4xFG 7.22.40.50.ST
81 7.22.45.45

4xFG 149 7.22.45.45.ST
7.22.45.50

4xFG 7.22.45.50.ST
7.22.50.50

4xFG 7.22.50.50.ST

P1 P2

6.3
16

.6

180°

M6x12 Bolt
zinc plated

Fastening SetFF

M6 T Nut
nickel plated

M8x16 Bolt
zinc plated

Fastening Set  FG

M8 T Nut
nickel plated

Fmax=400N

F

MGSMASMASS SPS TFS 7-07



Description Fastening 
Set

Mass
 (g) Part No.

20/20 (pcs) 15 7.23.20.20
20/20 (set) 4xPC 29 7.23.20.20.ST

7.23
Modular
Assembly Technology

®

Hinge

Material and Color: aluminum, nature anodized

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

.01

Hinge-Aluminum Through Hole

Door and Window Elements

M4x10Bolt
zinc plated
M4 Washer
zinc plated
M4 T Nut
nickel plated

Fastening SetPCFmax=150N

F

Door and Window Elements

135°

20 20

4.3
8.3

4.3
8.3

Hinge-Aluminum Through Hole

2548 H1
H2

2xUD1

2xUD2

L1

L2

6.3 16
.3

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

P1 P2

6.3
16

.3

150°

Description H1    
(mm)

H2       
(mm)

L1       
(mm)

L2    
(mm)

D1  
(mm)

D2    
(mm)

Fastening 
Set

Mass
 (g) Part No.

30/30 (pcs)
15

15

15

15 28

28

28

28 6.5

6.5

6.5

6.5
71 7.23.30.30

30/30 (set) 4xFH 99 7.23.30.30.ST
30/40 (pcs)

20 38

38

38

38

8.5

8.5

8.5

8.5

8.5

76 7.23.30.40
30/40 (set) 2xFH+2xFJ 124 7.23.30.40.ST
30/45 (pcs)

22.5
76 7.23.30.45

30/45 (set) 2xFH+2xFK 127 7.23.30.45.ST
40/40 (pcs)

20 20

20 38

38

8.5

8.5

8.5
83 7.23.40.40

40/40 (set) 4xFJ 151 7.23.40.40.ST
40/45 (pcs)

25

22.5
83 7.23.40.45

40/45 (set) 2xFJ+2xFK

2xFJ+2xFK

156 7.23.40.45.ST
40/50 (pcs)

20
7.23.40.50

40/50 (set) 7.23.40.50.ST

38 8.538 8.522.5
45/45 (pcs)

22.5
83 7.23.45.45

45/45 (set) 4xFK 161 7.23.45.45.ST

8.5 8.525
45/50 (pcs)

22.5
7.23.45.50

45/50 (set) 4xFK 7.23.45.50.ST

8.5 8.525
50/50 (pcs)

25
7.23.50.50

50/50 (set) 4xFK 7.23.50.50.ST

M6x14 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetFH
M8x16 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetFJ
M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetFKFmax=400N

F

87
159

87
167
87

164

43 38

43 38

43 43

7-08 MGSMASMASS SPS TFS



7.24-25.01
Modular
Assembly Technology

®

Description G    
(mm)

H       
(mm)

L      
(mm)

D1  
(mm)

D2    
(mm)

Fastening 
Set

Mass
 (g) Part No.

30/30/30 (pcs)
30

15 28

28 6.5

6.5

15 28 6.5

15 6.5
98 7.24.30.30.30

30/30/30 (set) 6xFF 140 7.24.30.30.30.ST
30/40/30 (pcs)

40

8.5

8.5

8.5

8.5
104 7.24.30.40.30

30/40/30 (set) 4xFF+2xFG 166 7.24.30.40.30.ST
30/45/30 (pcs)

45
108 7.24.30.45.30

30/45/30 (set) 4xFF+2xFG 170 7.24.30.45.30.ST
40/40/40 (pcs)

40 20

20 38

38

8.5

8.538 8.5

8.5 115 7.24.40.40.40
40/40/40 (set) 6xFG 217 7.24.40.40.40.ST
40/45/40 (pcs)

45

45
119 7.24.40.45.40

40/45/40 (set) 6xFG 221 7.24.40.45.40.ST
45/45/45 (pcs)

22.5
119 7.24.45.45.45

45/45/45 (set) 6xFG 221 7.24.45.45.45.ST

Description G    
(mm)

H       
(mm)

L      
(mm)

D1  
(mm)

D2    
(mm)

Fastening 
Set

Mass
 (g) Part No.

30/30/30 (pcs)
30

15 28

6.5

6.5

15 28 6.5

15 28 6.5
100 7.25.30.30.30

30/30/30 (set) 6xFH 142 7.25.30.30.30.ST
30/40/30 (pcs)

40

8.5

8.5

8.5

8.5

8.5

107 7.25.30.40.30
30/40/30 (set) 4xFH+2xFJ 169 7.25.30.40.30.ST
30/45/30 (pcs)

45
111 7.25.30.45.30

30/45/30 (set) 4xFH+2xFK 175 7.25.30.45.30.ST
40/40/40 (pcs)

40

20

20

38 8.5

38 8.5

38 8.5
121 7.25.40.40.40

40/40/40 (set) 6xFJ 213 7.25.40.40.40.ST
40/45/40 (pcs)

45

45
125 7.25.40.45.40

40/45/40 (set) 4xFJ+2xFK 230 7.25.40.45.40.ST
45/45/45 (pcs)

22.5
125 7.25.45.45.45

45/45/45 (set) 6xFK 245 7.25.45.45.45.ST

Hinge-Aluminum Countersink Hole

Hinge-Aluminum Through Hole

Hinge

Material and Color: aluminum, nature anodized

Door and Window Elements

M6x12 Bolt
zinc plated

Fastening SetFF

M6 T Nut
nickel plated

M8x16 Bolt
zinc plated

Fastening Set  FG

M8 T Nut
nickel plated

M6x14 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetFH
M8x16 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening Set FJ
M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening Set FKFmax=200N

FF

Fmax=200N

FF

Door and Window Elements

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

H

4xUD2

4xUD1
2548

G

L

L

6.3
16

.3

H

H

2548

L

L

6.3
16

.3

G


[U��

&[U�


P1 P2 P3

6.3
16

.3

90°

P1 P2 P3

6.3
16

.3

90°

MGSMASMASS SPS TFS 7-09



7.26-27
Modular
Assembly Technology

®

Hinge

Material and Color: aluminum, nature anodized

RL

.01Door and Window Elements

Door and Window Elements

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Description H1
(mm)

H2
(mm)

L1
(mm)

L2
(mm)

D1
(mm)

D2
(mm) Fastening Set Mass 

(g) Part No.(L) Part No.(R)

30/30 (pcs)
15

15

15 28

28

6.5

6.5

15 28 6.5

28 6.5
105 7.26.30.30 7.27.30.30

30/30 (set) 4xFF 133 7.26.30.30.ST 7.27.30.30.ST
30/40 (pcs)

20

38

38

38

38

8.5

8.5

8.5

8.5

8.5

110 7.26.30.40 7.27.30.40
30/40 (set) 2xFF+2xFG 158 7.26.30.40.ST 7.27.30.40.ST
30/45 (pcs)

22.5
110 7.26.30.45 7.27.30.45

30/45 (set) 2xFF+2xFG 158 7.26.30.45.ST 7.27.30.45.ST
40/40 (pcs)

20 20

20 38

38

8.5

8.5

8.5

118 7.26.40.40 7.27.40.40
40/40 (set) 4xFG 186 7.26.40.40.ST 7.27.40.40.ST
40/45 (pcs)

25

22.5
118 7.26.40.45 7.27.40.45

40/45 (set) 4xFG 186
121
189

121
189
121
192

7.26.40.45.ST 7.27.40.45.ST
40/50(pcs)

20
7.26.40.50 7.27.40.50

40/50(set) 4xFG 7.26.40.50.ST 7.27.40.50.ST

38 8.538 8.522.5
45/45 (pcs)

22.5
118 7.26.45.45 7.27.45.45

45/45 (set) 4xFG 186 7.26.45.45.ST 7.27.45.45.ST

8.5 8.525
45/50 (pcs)

22.5
7.26.45.50 7.27.45.50

45/50 (set) 4xFG 7.26.45.50.ST 7.27.45.50.ST

8.5 8.525
50/50 (pcs)

25
7.26.50.50 7.27.50.50

50/50 (set) 4xFG 7.26.50.50.ST 7.27.50.50.ST

25
48

2548
H2

H1 98

6.3
16

.3

L2

L1

[U��


[U�


Hinge-Al Removable Hinge-L Hinge-Al Removable Hinge-R
P1 P2

6.3
16

.6

180°

M6x12 Bolt
zinc plated

Fastening SetFF

M6 T Nut
nickel plated

M8x16 Bolt
zinc plated

Fastening Set  FG

M8 T Nut
nickel plated

F

Fmax=400N

2548

25
48

H1

H298

L1

L2

2xUD2


[U��

6.3

16
.3

43 38

43 38

43 43

7-10 MGSMASMASS SPS TFS



7.28.01
Modular
Assembly Technology

®

Description H1
(mm)

H2
(mm)

L1
(mm)

L2
(mm)

D1
(mm)

D2
(mm)

L
(mm) Fastening Set Mass

 (g) Part No.

30/30 (pcs)
15

15

28

28

6.5

6.5

15 28 6.5

15 28 6.5

500

515 7.28.30.30
30/30 (set) 7×FF 571 7.28.30.30.ST
30/40 (pcs)

20

38 8.5

38 8.5

38 8.5

38 8.5
525 7.28.30.40

30/40 (set) 3×FF+4xFG 617 7.28.30.40.ST
30/45 (pcs)

22.5
525 7.28.30.45

30/45 (set) 3×FF+4xFG 617 7.28.30.45.ST
40/40 (pcs)

20 20

20 38

38

38 8.538

8.5

8.5

8.5
605 7.28.40.40

40/40 (set) 7×FG 724 7.28.40.40.ST
40/45 (pcs)

22.5

22.5

605 7.28.40.45
40/45 (set) 7×FG 724 7.28.40.45.ST
45/45 (pcs)

22.5
605 7.28.45.45

45/45 (set) 7×FG 724 7.28.45.45.ST

ex:  7.28.30.30 - 1000
L=1000mm
Part  No.

Note:The length could be customized according to customer’s requirements(100~1000mm).

Hinge

Material and Color: aluminum, nature anodized

Hinge-Long Aluminum Hinge 

Door and Window Elements

P1 P2

6.3
16

.6

180°
M6x12 Bolt
zinc plated

Fastening SetFF

M6 T Nut
nickel plated

M8x16 Bolt
zinc plated

Fastening Set  FG

M8 T Nut
nickel plated

Fmax=500N

L/2-11.5

L/2-11.5
L

2548

H1L1

L+100

6.3
16

.3

H2
L2


�U��

��U�


F

Door and Window Elements

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

MGSMASMASS SPS TFS 7-11



7.31
Modular
Assembly Technology

®

38

35

Profile1 Profile2 

26 26

61 8085 61

1~3

13

35

4~5

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Lock

Compact metal lock with self-locking design.

Material and Color: diecast zinc, black electrophoresis

.01Door and Window Elements

Door and Window Elements

Lock-3030 (set) PG30 PG30 4xEL 719 7.31.30.30

Lock-4030 (set) PG40 PG30 2xEL
2xEM 724 7.31.40.30

Lock-4040 (set) PG40 PG40 4xEM 728 7.31.40.40

Lock-4530 (set) PG45 PG30 2xEL
2xEN 726 7.31.45.30

Lock-4540 (set) PG45 PG40 2xEM
2xEN 731 7.31.45.40

Lock-4545 (set) PG45 PG45 4xEN 733 7.31.45.45

Description Fastening Set Mass 
(g) Part No.

Lock (pcs) 690 7.31

Note:Including special nuts.
.

EL Fastening Set

M6x30 Bolt
zinc plated

EM Fastening Set

M6x40 Bolt
zinc plated

EN Fastening Set

M6x45 Bolt
zinc plated

2.11.08.M6.SM

7-12 MGSMASMASS SPS TFS



L Lock

7.32
Modular
Assembly Technology

®

Lock

Door and Window Elements

.01

T Lock

4~5 8x8

 60

30

68.2

Profile1 Profile2 

46
80

60251738

2-M5

4~5

80.2

2-M5

68.2
 12

Profile1

44
80

11
6

3817

Profile2 

8x8

30

60

Door and Window Elements

Material and Color: zinc alloy, polish finsh

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

M8x8 Set Screw
stainless steel

Fastening Set

DH

Description Fastening Set Mass 
(g) Part No.

L Lock-3030 PG30 PG30

DH+2xEG 290

7.32.30.30

L Lock-4030 PG40 PG30 7.32.40.30

L Lock-4530 PG45 PG30 7.32.45.30

L Lock-4040 PG40 PG40

DH+2xEH 294

7.32.40.40

L Lock-4540 PG45 PG40 7.32.45.40

L Lock-5040 PG50 PG40 7.32.50.40

L Lock-4545 PG45 PG45

DH+2xEK 296

7.32.45.45

L Lock-5045 PG50 PG45 7.32.50.45

L Lock-5050 PG50 PG50 7.32.50.50

T Lock-3030 PG30 PG30

DH+2xEG 270

7.33.30.30

T Lock-4030 PG40 PG30 7.33.40.30

T Lock-4530 PG45 PG30 7.33.45.30

DH+2xEH 274

T Lock-4040 PG40 PG40 7.33.40.40

T Lock-5040 PG50 PG40 7.33.50.40

T Lock-5045 PG50 PG45 7.33.50.45

T Lock-5050 PG50 PG50 7.33.50.50

T Lock-4540 PG45 PG40 7.33.45.40

T Lock-4545 PG45 PG45

DH+2xEK 276

7.33.45.45

EG Fastening Set

M5x25 Bolt
zinc plated

EH Fastening Set

M5x35 Bolt
zinc plated

EK Fastening Set

M5x40 Bolt
zinc plated

MGSMASMASS SPS TFS 7-13



7.41
Modular
Assembly Technology

®

15.53


[U&	�

14

15
3

14

48
60


[U&	�

2335
M6x10 Bolt
zinc plated
M6 Spring Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetCJ
M6x14 Bolt
zinc plated
M6 Spring Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetCK
M6x16 Bolt
zinc plated
M6 Spring Washer
zinc plated
M6 T Nut
nickel plated

Fastening SetCN

Magnet Catch

Material: Magnet Catch-aluminum alloy, hard oxidation anodized
               Connectors-zinc plated steel

Door and Window Elements

4060

15

&[U'	�

48

602xM4

7
17

2.5

10
31

12

15

4060

48 
60

2xM4

&[U'	�

41

2.5
11

717

13 42

15

&[U'	�

4060

48
60

2xM4

14
7

2.5

No.2

No.3

Note:      When the magnet catch is installed on the lower door frame, 
               the door should be more than 400mm.

.01Door and Window Elements

No.1

M4x10 Bolt
zinc plated

Fastening Set

M4 T Nut
nickel plated

CF
M4x8 Bolt
zinc plated
M4 Spring Washer
zinc plated

Fastening SetPF

M4 Washer
zinc plated 

H
(mm)

L
(mm)Description Fastening Set Mass

 (g) Part No.

Magnet Catch-14 (pcs) 26

31 17

41 11

42 14

7.41.14

set No.1) 2xCF+2xPF +2xCJ 130 7.41.14.3030.ST

set No.2) 2xCF+2xPF +2xCK 139 7.41.14.3040.ST

set No.3) 2xCF+2xPF +2xCN 145 7.41.14.3045.ST

7-14 MGSMASMASS SPS TFS



Note:      When the magnet catch is installed on the lower door frame, 
               the door should be more than 400mm.

7.41
Modular
Assembly Technology

®

Magnet Catch

Material: Magnet Catch-aluminum alloy, hard oxidation anodized 
               Connector-zinc plated steel
              (Material for Connector 4080 is aluminum alloy)

Door and Window Elements

.02Door and Window Elements

Description Fastening SetH
(mm)

L
(mm)

Mass 
(g) Part No.

2xCG+2xPF+2xCK 14745

51 16

51 16

51 11

17

45 17

50 17

7.41.14.4040.ST

2xCG+2xPF+2xCN 151 7.41.14.4045.ST

2xCL+2xCY 255 7.41.14.4080.ST

2xCG+2xPF+2xCN 145.5 7.41.14.4050.ST

2xCG+2xPF+2xCN 151 7.41.14.4545.ST

M4x14 Bolt
zinc plated

Fastening Set

M4 T Nut
nickel plated

CG
M4x25 Bolt
zinc plated
M4 Spring Washer
zinc plated

Fastening SetFastening Set CL

M4 T Nut
nickel plated

M4x20 Bolt
zinc plated 

Fastening Set Fastening Set

M4 T Nut
nickel plated 

CY
M6x14 Bolt
zinc plated
M6 Spring Washer
zinc plated
M6 T Nut
nickel plated

CK
M6x16 Bolt
zinc plated
M6 Spring Washer
zinc plated
M6 T Nut
nickel plated

CN
M4x8 Bolt
zinc plated
M4 Spring Washer
zinc plated

Fastening SetPF

M4 Washer
zinc plated 

Magnet Catch-14 (Profile 4545 for Door, Profile 4545 for Doorframe set No.4)

2xCG+2xPF+2xCN 151 7.41.14.4550.STMagnet Catch-14 (Profile 4545 for Door, Profile 5050 for Doorframe set No.5)

Magnet Catch-14 (Profile 4040 for Door, Profile 5050 for Doorframe set No.5)

Magnet Catch-14 (Profile 4040 for Door, Profile 4080 for Doorframe set No.6)

Magnet Catch-14 (Profile 4040 for Door, Profile 4545 for Doorframe set No.5)

Magnet Catch-14 (Profile 4040 for Door, Profile 4040 for Doorframe set No.4)

2xCG+2xPF+2xCN 149 7.41.14.5050.STMagnet Catch-14 (Profile 5050 for Door, Profile 5050 for Doorframe set No.4)

No.4

No.5

No.6

L10

48
60

4060

15

&[U'	�

7
H

2.5

2xM4

4060

15

&[U'	�

48
60

2.5

13 L

H

717

2xM4

48
60


[U&	�

10

16 23
35


[U&	� 10

16

17

Tighten Status 1

18.5

Tighten Status 2

MGSMASMASS SPS TFS 7-15



7.42
Modular
Assembly Technology

®

Door lock

Material: DoorLock-black electrophoresis  
               Block-diecast aluminum, black electrophoresis

Door and Window Elements

.01

Description L
(mm) Fastening Set Mass 

(g) Part No.

Door Locks-3040 PG40 PG30 115 7.42.30.3040

Door Locks-3045 PG45 PG30

140

11530

18550

7.42.30.3045

Door Locks-4040 PG40 PG40 7.42.30.4040

Door Locks-4045 PG45 PG40 7.42.30.4045

Door Locks-4545 PG45 PG45 50 187 7.42.30.4545

Profile1 Profile2 

2~3

L

L+
32

30

95

15

L+
16

15

Door and Window Elements

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Note: including block and special nut.

 2 The length could be customized according to customer`s requirement(30~80mm)

7.42.30.3040 - 50
L=50mm

Part  No.

ex:

M6x16 Bolt
zinc plated

CU

M6 Spring Washer
zinc plated 

Fastening Set 

M6x20 Bolt
zinc plated

CV

M6 Spring Washer
zinc plated

Fastening Set 

EP Fastening Set

Special nut

2xCU+1xEP

2xCU+1xEP

2xCV+1xEP

7-16 MGSMASMASS SPS TFS



7.51

Door and Windown Elements

Modular
Assembly Technology

®

9.5 9.5

20 17

26

1720

9.5 9.5 9.5

38

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

Description PG Mass
 (g/m) Delivery Length Part No.

330

3000mm/bar

7.51.08

390 7.51.08.ST

450 7.51.10.04

510 7.51.10.04.02.ST

540 7.51.10.04.03.ST

U�

H-
24H 8

PE Bar

H-
24H 8 U�PE Bar

.01

Sliding Door Profile

Sliding Door Profile-8

Sliding Door Profile-10-4

Sliding Door Profile-8

Sliding Door Profile-8 (Including 2 pcs PE bar)

Sliding Door Profile-10-4

Sliding Door Profile-10-4 (Including 2 pcs PE bar)

Sliding Door Profile-10-4 (Including 3 pcs PE bar)

Door and Window Elements

PG40

PG30

MGSMASMASS SPS TFS 7-17



Additional Accessories

Modular
Assembly Technology

® 

8

8.11-8.61
Suspended Glider

Swivel Angle Plate 

Joint 

Frame Joint

Mounting Adaptor for Roller 

Telescope Unit 

P. 8-02

P. 8-07 P. 8-08 P. 8-09

P. 8-03 P. 8-04

Additional Accessories

P. 8-05

Potential Equaliser Nut

8-01 MGSMASMASS SPS TFS



8.11
Modular
Assembly Technology

®

Suspended Glider-8

Description Static Load
 (N)

Mass
 (g) Part No.

Suspended Glider-10 200 48 8.11.10

8
12.5

103

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

8
17.5

103

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

Suspended Glider -10

Additional Accessories

Suspended Glider

Material and Color: glider-PA6+GF30, black       hook-zinc plated steel

Description Static Load
 (N)

Mass
 (g) Part No.

Suspended Glider-8 200 48 8.11.08

.01Additional Accessories

The glider can be suspended in profile slot.

MGSMASMASS SPS TFS 8-02



8.21
Modular
Assembly Technology .01Additional Accessories

Swivel Angle Plate-PG30

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

80100

28


[Uq

16

R50

R4
0

Uq

73

15

Uq

100130
38

2123.5


[UZ

R65

R5
0

73

20

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

Swivel Angle Plate-PG40/45

M6x12 Bolt
zinc plated
M6 Washer
zinc plated
M6 T Nut
nickel plated

Fastening Set R
M6x12
Adjustable Handle
plastic coated, black

Fastening SetFR

M6 Pre-set Nut
nickel plated

M6 Washer
zinc plated

M6x12 Bolt
zinc plated
M6 Washer
zinc plated
M6 Pre-set Nut
nickel plated

Fastening SetFT
M8x16 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening Set FV
M6x16 Bolt
zinc plated
M6 Washer
zinc plated
M6 Pre-set Nut
nickel plated

Fastening SetFW

P2

P1

Swivel Angle Plate

Material and Color: steel, black electrophoresis

W

W-2

Additional Accessories

Description P1 P2 Fastening Set Mass
 (g) Part No.

Swivel Angle Plate-PG30 (pcs)  160 8.21.30

Swivel Angle Plate-PG30 (set) PG30 PG30 1xFR+1xFT+2xR 270 8.21.30.ST

Swivel Angle Plate-PG40/45 (pcs)  288 8.21.40

Swivel Angle Plate-PG40/45-PG30 (set) PG40/45 PG3 1xFR+1xFT+2xFV 420 8.21.40.30.ST

Swivel Angle Plate-PG40/45-PG40/45 (set) PG40/45 PG40/45 1xFR+2xFV+1xFW 443 8.21.40.40.ST

8-03 MGSMASMASS SPS TFS



8.22

Potential Equaliser Nut

Modular
Assembly Technology

®

6.2
2.0

8.2
2.2

10.2
4.0

10.2
6.0

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Description D Mass
(g/pcs) Part No.

Potential Equaliser Nut-8-M4 (with top thread) M4 3 8.22.08.M4

Potential Equaliser Nut-10-M5 (with top thread) M5 7 8.22.10.M5

Potential Equaliser Nut penetrates the oxide film of the profiles at the connection to 
conduct the static inside of the profiles and to average the potential.

.01

14 8

8

5

2.1

D

M4x10

D

6

3.8

19 10

10
M5x12

Step 1

Step 2

Step 3

Material: zinc alloy

Additional Accessories

Additional Accessories

MGSMASMASS SPS TFS 8-04



Modular
Assembly Technology

®

8.31.01Additional Accessories

Joint

Material: zinc plated steel

Joint-Type A

Description L1
(mm)

L2
(mm)

R
(mm) Fastening Set Mass

(g) Part No.

Joint-Type A-4040
40

40
35 2xFX

2xFX

560 8.31.4040A

Joint-Type A-4060 60 680 8.31.4060A

Joint-Type A-4545
45

45
37.5

650 8.31.4545A

Joint-Type A-4560 60 800 8.31.4560A

Joint-Type B-4040
40

40
35

1xFD+1xFX

1xFD+1xFX

1xFD+1xFX

1xFD+1xFX
575 8.31.4040B

Joint-Type B-4060 60 695 8.31.4060B

Joint-Type B-4545
45

45
37.5

665 8.31.4545B

Joint-Type B-4560 60 815 8.31.4560B

Joint-Type C-4040
40

40
35

575 8.31.4040C

Joint-Type C-4060 60 695 8.31.4060C

Joint-Type C-4545
45

45
37.5

665 8.31.4545C

Joint-Type C-4560 60 815 8.31.4560C

M8x16 Bolt
zinc plated

Fastening SetFD

M8 T Nut
nickel plated

M8x20 Bolt
zinc plated

Fastening SetFX

��&���

Hole Reducer Bolt
nickel plated

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Joint-Type B

R

R

L1
L210

0~180°

R

R

L1 L210 10

0~180°

R

R

L1
10

0~180°

L2

Joint-Type C

Type A Type B Type CAdditional Accessories

8-05 MGSMASMASS SPS TFS



Modular
Assembly Technology

®

8.32.01Additional Accessories

Joint

Material: zinc alloy

Joint-Type A

M8x12 Bolt
zinc plated

Fastening SetFU

M8 T Nut
nickel plated

M8x20 Bolt
zinc plated

Fastening SetFX

��&���

Hole Reducer Bolt
nickel plated

M6x10 Bolt
zinc plated

Fastening SetFS

M6 T Nut
nickel plated

M6x16 Bolt
zinc plated

Fastening SetFO

��
��'

Hole Reducer Bolt
nickel plated

Note: Ratchet handle (part number RH) is an optional 
aaccessory for all three connection types-type A, B and C.

Joint-Type C

L1 L2

0~180°

R

R

L1 L2

0~180°

R

R

L1 L2

0~180°

R

R

Joint-Type B

10.2
4.0

6.2
2.0

8.2
2.2

10.2
6.0

Type A Type B Type C

RH

Description L1
(mm)

L2
(mm)

R
(mm) Fastening Set Mass

(g)

Joint-Type A-3030
30 30 22.5 2xFO

8.32.3030A

Joint-Type A-3030-RH 8.32.3030A.RH

Joint-Type A-4040
40 40 30 2xFX

8.32.4040A

Joint-Type A-4040-RH 8.32.4040A.RH

Joint-Type B-3030
30 30 22.5 1xFS+1xFO

8.32.3030B

Joint-Type B-3030-RH 8.32.3030B.RH

Joint-Type B-4040
40 40 30 1xFU+1xFX

8.32.4040B

Joint-Type B-4040-RH 8.32.4040B.RH

Joint-Type C-3030
30 30 22.5 1xFS+1xFO

8.32.3030C

Joint-Type C-3030-RH 8.32.3030C.RH

Joint-Type C-4040
40 40 30 1xFU+1xFX

211

447

206

437

206

437

181

388

167

366

167

366 8.32.4040C

Joint-Type C-4040-RH 8.32.4040C.RH

Part No.

Additional Accessories

MGSMASMASS SPS TFS 8-06



Additional Accessories

Frame Joint

When the profile frame is with big span and there is slight bending caused by self load, the frame joint shall be used with 
special connectors for cross connection to enhance the stability of the frame.

Material: aluminium, anodized (cutting end not anodized).

End cap:  black ABS

Modular
Assembly Technology

®

Description Fastening Set End Cap Mass
 (g) Part No.

PG40-4040 1xCB 95 8.41.4040

PG40-4080 2xCB
2

192 8.41.4080

10.268

11

40

34

135º

U10.5 
30

19.5
U�

4

40

4
11

34

U�

19.5

135º

40
70

10.268

U��	5

U��	5

M6x25 Bolt
zinc plated

Fastening SetCB

M6 T Nut
nickel plated

8.41.01Additional Accessories

Note: Anchor Connector to be ordered seperately refer to P. 3-03 for more detail.

8-07 MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Description Fastening Set End Cap Mass 
(g) Part No.

Mounting Adaptor for Roller-A-Left+Right (pcs) 200 8.51.01A

Mounting Adaptor for Roller-A-Left+Right (set) 2xD 242 8.51.01A.ST

Mounting Adaptor for Roller-B-Left+Right (pcs)

2

2
194 8.51.01B

Mounting Adaptor for Roller-B-Left+Right (set) 2xFQ 226 8.51.01B.ST

M8x20 Bolt
zinc plated
M8 Washer
zinc plated
M8 T Nut
nickel plated

Fastening SetD

Left

End Cap

55

U�	


26

10

108

R6

26

U�	


55

10 8

R6

10Right

Mounting Adaptor for Roller-A

55

U�	


26
10

108

R6

U�q	


26

U�	


55

10

8

R6

10 U�q	


M8x20 Bolt
zinc plated

Fastening SetFQ

M8 T Nut
nickel plated

Mounting Adaptor for Roller-B

Additional Accessories

Mounting Adaptor for Roller

Special connector for quick roller installation.

Material: Adaptor-steel, zinc plated  End cap: black PA6

End Cap

Left

End Cap

Right

End Cap

8.51.01Additional Accessories

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

MGSMASMASS SPS TFS 8-08



Modular
Assembly Technology

®

Telescope Unit-3030

Additional Accessories

Telescope Unit 

8.61.01

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

Telescope Unit-3040

6.2
2.0

8.2
2.2

10.2
6.0

10.2
4.0

30

30

22.5 22.5

30

L=L min.+S

30

L=L min.+S
22.5 30

30

30

40

40

Telescope Unit are composed of strut profile, telescopic profile and connecting elements, the stroke of telescope 
unit is 50-500mm. 

40

30

Additional Accessories

Description Stroke 
(mm)

L min.

���{�
�� 369

Telescope Unit-3030 (set) 
���{���� 519

����{����

���{�
��


���{����

����{����

669

377

Telescope Unit-3040 (set) 527

677

1.23

1.43

1.94

1.42

1.62

2.13

Part No.

8.61.40.3030.01.ST

8.61.40.3030.02.ST

8.61.40.3030.03.ST

8.61.40.3040.01.ST

8.61.40.3040.02.ST

8.61.40.3040.03.ST

Note: Offer per set. If there is any special requirement on the stroke, please contact with us.

(mm)
Mass
(kg) M8x12 Bolt

zinc plated

Fastening SetFU

M8 T Nut
nickel plated

M6x10 Bolt
zinc plated

Fastening SetFS

M6 T Nut
nickel plated

Fastening Set

1xFS

1xFS

1xFS

1xFS+1xFU

1xFS+1xFU

1xFS+1xFU

8-09 MGSMASMASS SPS TFS



Modular
Assembly Technology

® 

Profile Machining Code

Profile Machining Code

MGSMASMASS SPS TFS 9-01



Modular
Assembly Technology

® 

Specify machining code when ordering.
Refer to drawings for non-standard machining

Profile Machining Code

Inner connector bore

Notes

ApplicationMachining name

Dowel bore

Inner connector bore

Screw thread bore Screw Connector

Screw Connector/End ConnectorCross bore

Angle cut T Anchor Connector

Butt Connector

Anchor Connector

Code meanings

SecondFirst Third

(Inner connector bore)

(Dowel bore)D
(horizontal)H
(vertical)V
(h+v)P

(angle)30 45 60

I

(Screw thread bore)S

T (Angle cut)(A B C D)

(Cross bore)C

(left)L
(right)R

9-02 MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Profile Machining Code

Classification

Square

Rectangle

Arc

Dowel bore

Left Right

VerticalHorizontal VerticalHorizontal

MGSMASMASS SPS TFS 9-03



Modular
Assembly Technology

®

Profile Machining Code

Classification

Inner connector bore

Inner connector bore

Left Right

VerticalHorizontal VerticalHorizontal

Square

Rectangle

Arc

9-04 MGSMASMASS SPS TFS



LSP LMP RSP WSP WMPRMP

L=200L=200
L=200

1.11.40.040040.04H-200-LMP
Example C 

Classification

Modular
Assembly Technology

®

Profile Machining Code

Square

Rectangle

Arc

MGSMASMASS SPS TFS 9-05



Classification

Modular
Assembly Technology

®

Profile Machining Code

Square

Rectangle

9-06 MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Classification

Profile Machining Code

Square

Rectangle

MGSMASMASS SPS TFS 9-07



Machine Guard System
MGS

MAS TFSMGSMAS SPS



MGS

Machine Guard System (MGS) is designed for customers with advanced guarding need. The 
special design of guarding profiles offers more stable structure and better appearance and unique 
fastening elements bring faster and safer connections. The guarding unit can be with woven meshes, 
PMMA panels, aluminum composite panels or  similar panel materials. Please refer to MGS catalogue 
for detail usage instructions.



The machine guard system is a separate system which has been designed to meet the different kinds of demand from customers. The outside apperance gives the 
whole set a beautiful look. The adjustment of the fastening style increases the reliability of the products and allow the installation of meshes, PMMA panels, aluminum 

Machine Guard System

Page 25 Page 42 Page 39 Page 38 Page 6-11 Page 20

Page 6-11 Page 31 Page 30 Page 40 Page 39 Page 22-24

1250
1000

750

1500

500

1000

1000

500

Machine Guard System
Modular
Assembly Technology

® 

TFSMGSMASMASS SPS
M-01



Products Index 

Page 03-05Technical Data Page 06-18Protective Unit Page 19-24Strut Elements

Page 25Connecting Elements Page 26-44Door Unit Page 45-48Installation Information

Products Index

Protective Grille Unit Protective Grille Profile Bolt Connector Anti-torsion Subsequent 
Nut

Spring Clamping Nut

End Cap for Protective 
Grille Profile

Clamping Profile Unit Clamping Profile Bushing End Cap for Clamping 
Profile

Strut Elements Profile for strut elements End Cap Base Plate

Connecting Element

Profile Rail Pulley Block for Sliding 
Door

Friction Strip Components Die Cast Bracket

Page 06-11 Page 12 Page 13 Page 13 Page 14

Page 14 Page 15-16 Page 17 Page 18 Page 18

Page 19 Page 20 Page 21 Page 22-23

L Base

Page 24

Page 25

Buffer Block for Swing 
Door

Page 33

Ground Latch

Page 32

Page 38 Page 38

Page 41

Machine guard kick 
plate end cap

Page 43

Machine guard kick 
plate profile

Page 44

Page 41

Modular
Assembly Technology

® 

Swing Door Al Removablle Hinge L Lock for Swing Door 

Sliding Door

Buffer Block for Sliding 
Door

Guide Block for Sliding 
Door

Door Shutter Safety Lock

Page 35-36

Page 26-28 Page 30 Page 31

Lock for Swing Door 

Page 31

Doormagnet 

Page 34

Page 39 Page 39

Page 42Page 42

Guard rail kick plate profile 

Page 43

Lock for Sliding Door

Page 40

Door Latch

Page 32

MGSMASMASS SPS TFS
M-02



Standard unit is composed of either the protective grille profile or clamping profile. Protective grille profile could insert not only the meshes, but also the panels, 
and the spring clamping nut will be used if inserting panels (the recommended distance of nut is 300mm). Clamping profiles only could insert the panels, and 
machining will be needed on the profiles to fasten the panels in appropriate positions (the recommended distance of machining is 300mm). The specifications are 
compared as below.

Protective Grille Profile

Clamping Profile

3~5

17.5

1.5~9 1.5~9

17.5

1.5~10 1.5~10

17.5

3~5

3~5

17.5

�� ��

Protective Grille 
Profile Inserting Mesh

Protective Grille 
Profile Inserting Panel

Clamping Profile PG30

Clamping Profile PG40

30

40

Technical Data
Modular
Assembly Technology

® 

Selection Reference of Standard Unit

30 40

Drilling Angle cutting Thread tapping
Machining Symbol

TFSMGSMASMASS SPS
M-03



01

02

Selection Reference of Standard Unit

��

Protective Grille Profile

T=3~5

Clamping Profile

T=1.5-9

������������	
��
�����
Protective Grille Profile Inserting Mesh

3-5mm transparent PMMA panel
Protective Grille Profile Inserting Panel

1.5-9mm transparent PMMA panel
Clamping Profile Inserting Panel

� Using protective grille profile insert panel is more economic and quick. However the leakproofness is not as good as the clamping profile, and the thickness of 
panel also limited to 3 to 5mm. The panel thickness of standard units are all 4mm, if there is no special request on panel thickness, the protective grille profile is 
recommended.

Top thread:Recommended distance is 300mm

Efficiency

Cost

leakproofness

Flexibility
Spring Clamping Nut: Recommended distance is 300mm

Eg: PN30.14000425.STA.01

Eg: PN30.14000425.STA.02

Eg: PP30.14000425.STA
Efficiency

Cost

leakproofness

Flexibility

Item Number Reference
PN30---14000425---STA---02

Protective Grille Profile Inserting Panel
Type A

H=1400mm W=425mm
Protective Grille Unit PG30

Technical Data
Modular
Assembly Technology

® 

MGSMASMASS SPS TFS
M-04



Technical Data

2600

2000

1400

1000

800

800600400

200

200
0

0

2600

2000

1400

1000

800

800600400

200

200
0

0

Modular
Assembly Technology

®

2600

2000

1400

1600

1000

800

800600400

200

200
0

0

2600

2000

1400

1000

800

800600400

200

200
0

0

Modular
Assembly Technology

®

Safety Distance

Machine guard system offers protection against parts that fly out, leaking liguid materials or similar things. The safety distances are dependent on the 
machine guard height. As figure indicated (safety area is marked in green shadow): Safely distance should be 200mm away from the machine guard. 
When the height of machine guard is 2000mm, there is still a small part of distance around 350mm from the top cannot get security protection, and it 
cannot guarantee sufficient safety if the height is less than 1400mm.

The height from the floor is 200mm. As figure indicated (safety area is marked in green shadow): The distance of 650mm in the foot area cannot 
get sufficient safety protection.

2600

2000

1400

1000

800

800600400

200

200
0

0

Modular
Assembly Technology

® 

TFSMGSMASMASS SPS
M-05



����������

��
��

��
��

��
�

��
0

����

��
��

40x40 woven mesh Ø4 diameter

PG30  Type A

Description �
(mm)

�
(mm) Part No.

��������������

��� ����!��������.STA!��

��������������

"�� ����!�����"��.STA!��

�#�� 675 ����!�#���$%�.STA.��

��� ����!��������.STA.��

"�� ����!�����"��.STA.��

�#�� 675 ����!�#���$%�.STA.��

���� 675 ����!�����$%�.STA.��

��� ����!�#������.STA!��

"�� ����!�#���"��.STA.��

���� 675 ����!�����$%�.STA.��

��� ����!�#������.STA.��

"�� ����!�#���"��.STA.��

4mm Transparent PMMA Panel ��

��

��
��

��
��

��
�

��
�

����

��
��

Protective Grille Unit

Mass
(kg)

6.5

#!#

��

#!�

��!"

��!%

6.5

#!%

��!#

#!�

��!%

��!"

Modular
Assembly Technology

®

Page ��

Page �"���Strut Elements

Associated kits (To be ordered separately)

Connecting Element

Item Number Reference:
The part number is for gray woven mesh in the default configuration, please specify 
	&'��*�+�/
;��&<�
'��>�/
?
>�&��>�@J&>�;���J/��K��*�+"����<
>�O?K/Q��*�+���#�<
>���??
	!

RAL
9005

RAL
1018

����!��������!V��!���*�+"���
RAL Code Number

Part No.

ex:

RAL
9006

RAL
9005

RAL
1018

����������

Protective Unit

MGSMASMASS SPS TFS
M-06



Description �
(mm)

�
(mm) Part No.

���� ����!������%�!V�X!��

����
��%�

����!������%�!V�X!��

�#�� ����!�#����%�!V�X!��

�#�� ����!�#����%�!V�X!��

PG30  Type X

4mm Transparent PMMA Panel ��

����Y������

��
��

��
��

��
�

��
�

����

�Z
��

%

����Y������

��
��

��
��

��
�

��
�

����

�Z
��

��

Protective Grille Unit

����������X���

����������X���

Mass
(kg)

��!$

�%!#

��!�

�%!�

Protective Unit
Modular
Assembly Technology

®

40x40 woven mesh Ø4 diameter ��RAL
9006

RAL
9005

RAL
1018

Page ��

Page �"���Strut Elements

Associated kits (To be ordered separately)

Connecting Element

Item Number Reference:
The part number is for gray woven mesh in the default configuration, please specify 
	&'��*�+�/
;��&<�
'��>�/
?
>�&��>�@J&>�;���J/��K��*�+"����<
>�O?K/Q��*�+���#�<
>���??
	!

RAL
9005

RAL
1018

����!������%�!V�X!���*�+"���

Part No.

RAL Code Number
ex:

TFSMGSMASMASS SPS
M-07



Description �
(mm)

�
(mm) Part No.

���� ����!��������!V�[!��

����
����

����!��������!V�[!��

�#�� ����!�#������!V�[!��

�#�� ����!�#������!V�[!��

PG30  Type C

4mm Transparent PMMA Panel ��

����Y������

��
��

��
��

��
�

��
�

��
��

�Z��%

����Y������

��
��

��
��

��
�

��
�

��
��

�Z����

Protective Grille Unit

����������[���

����������[���

Mass
(kg)

�%!�

��!�

�$!"

��!"

Protective Unit
Modular
Assembly Technology

®

40x40 woven mesh Ø4 diameter ��RAL
9006

RAL
9005

RAL
1018

Page ��

Page �"���Strut Elements

Associated kits (To be ordered separately)

Connecting Element

Item Number Reference:
The part number is for gray woven mesh in the default configuration, please specify 
	&'��*�+�/
;��&<�
'��>�/
?
>�&��>�@J&>�;���J/��K��*�+"����<
>�O?K/Q��*�+���#�<
>���??
	!

RAL
9005

RAL
1018

����!��������!V�[!���*�+"���

Part No.

RAL Code Number
ex:

MGSMASMASS SPS TFS
M-08



Description �
(mm)

�
(mm) Part No.

���

"�� ����!�����"��.STA!��

�#�� 670 ����!�#���$%�.STA!��

��� ����!��������.STA!��

"�� ����!�����"��.STA!��

�#�� 670 ����!�#���$%�.STA!��

���� 670 ����!�����$%�.STA!��

����!��������!V��!��

��� ����!�#������.STA!��

"�� ����!�#���"��.STA!��

���� 670 ����!�����$%�.STA!��

��� ����!�#������.STA!��

"�� ����!�#���"��.STA!��

PG40  Type A

��

4mm Transparent PMMA Panel ��

����������

��
��

��
��

��
�

��
�

����
��

��

����������

��
��

��
��

��
�

��
�

����

��
��

Protective Grille Unit

��������������

��������������

Mass
(kg)

#!�

��!#

��!�

��!�

��!�

�$!�

#!�

��!%

��!�

��!�

��!�

�$!�

Protective Unit
Modular
Assembly Technology

®

40x40 woven mesh Ø4 diameter RAL
9006

RAL
9005

RAL
1018

Page ��

Page �"���Strut Elements

Associated kits (To be ordered separately)

Connecting Element

Item Number Reference:
The part number is for gray woven mesh in the default configuration, please specify 
	&'��*�+�/
;��&<�
'��>�/
?
>�&��>�@J&>�;���J/��K��*�+"����<
>�O?K/Q��*�+���#�<
>���??
	!

RAL
9005

RAL
1018

����!��������!V��!���*�+"���

Part No.

RAL Code Number
ex:

TFSMGSMASMASS SPS
M-09



PG40  Type X

��

4mm Transparent PMMA Panel ��

Description �
(mm)

�
(mm) Part No.

���� ����!������%�!V�X!��

�#��
��%�

����!�#����%�!V�X!��

���� ����!������%�!V�X!��

�#�� ����!�#����%�!V�X!��

����Y������

��
��

��
��

��
�

��
�

����

�Z
��

��

����Y������

��
��

��
��

��
�

��
�

����

�Z
��

��

Protective Grille Unit

����������X���

����������X���

Mass
(kg)

�#!�

��!$

�%!"

��!�

Protective Unit
Modular
Assembly Technology

®

40x40 woven mesh Ø4 diameter RAL
9006

RAL
9005

RAL
1018

Page ��

Page �"���Strut Elements

Associated kits (To be ordered separately)

Connecting Element

Item Number Reference:
The part number is for gray woven mesh in the default configuration, please specify 
	&'��*�+�/
;��&<�
'��>�/
?
>�&��>�@J&>�;���J/��K��*�+"����<
>�O?K/Q��*�+���#�<
>���??
	!

RAL
9005

RAL
1018

����!������%�!V�X!���*�+"���

Part No.

RAL Code Number
ex:

MGSMASMASS SPS TFS
M-10



Description �
(mm)

�
(mm) Part No.

���� ����!��������!V�[!��

���� ����!��������.STC!��

�#��
����

����!�#������.STC!��

�#�� ����!�#������.STC!��

��

��

PG40  Type C

4mm Transparent PMMA Panel

����Y������
��

��
��

��
��

�
��

�

�Z����

��
��

����Y������

��
��

��
��

��
�

��
�

�Z����

��
��

Protective Grille Unit

����������[���

����������[���

Mass
(kg)

��

��!"

��!#

��!�

Protective Unit
Modular
Assembly Technology

®

40x40 woven mesh Ø4 diameter RAL
9006

RAL
9005

RAL
1018

Page ��

Page �"���Strut Elements

Associated kits (To be ordered separately)

Connecting Element

Item Number Reference:
The part number is for gray woven mesh in the default configuration, please specify 
	&'��*�+�/
;��&<�
'��>�/
?
>�&��>�@J&>�;���J/��K��*�+"����<
>�O?K/Q��*�+���#�<
>���??
	!

RAL
9005

RAL
1018

����!��������!V�[!���*�+"���

Part No.

RAL Code Number
ex:

TFSMGSMASMASS SPS
M-11



��������������>&??���?
' ��������������>&??���?
'�

Description
Moment of 

Inertia
Ix(cm4)

Moment of 
Inertia
Iy(cm4)

Moment of 
Resistance

��\/�3)

Moment of 
Resistance

�y(cm3)

Mass
\Q]Z�^ Part No.

3.37 �!�% �!� �!$ 0.94 �!��!��!������!��

%!�� 4.67 �!#� �!�# �!�� �!��!��!������!��

"!#� #!�� 4.93 4.03 �!$ �!��!��!������!��

��!�� ��!�% ��!$� �!�� �!� �!��!��!����$�!��

��������������>&??���?
' ��������$�����>&??���?
'�

��
!4

�!�%!##!�
30

45

�$
!#

�!�

��

��!� 7.# �!5
40

4
�$

!#60

�#

��!5

Protective Unit
Modular
Assembly Technology

®

���������>&??���?
' ���������>&??���?
'�

Protective grille profile could insert not only the meshes but also the panels, and the spring clamping nut will be used if inserting panels, the recommended
;&�'K
/��
<�
J'�&��������\>�<�>�'
��K]����^!

���������>&??���?
' ���$�����>&??���?
'�

MGSMASMASS SPS TFS
M-12



_#

��

5

�%!$

X
?'�[


�/'
>

A simple and economic way to replace end connector with 
more connection reliablity.

Material: zinc plated steel

X
?'�[


�/'
>����� �������������AE �!#�!_#!��!V�

Description Mass
(g) Part No.

X
?'�[


�/'
>����� ����������� �!#�!_#!��

Fastening Set

Fastening SetAE

_#��K���>
zinc plated

PG40

Protective Unit
Modular
Assembly Technology

®

�
'&�'
>�&

�VJO��@J�
'��J'

Prevent torsion from connecting profiles with screw
connectors.

Material: nickel plated steel

Description Mass
(g) Part No.

�
'&�'
>�&

K?�VJO��@J�
'��J'�#\with top thread) �� �!��!�#!_$

�
'&�'
>�&

K?�VJO��@J�
'��J'���\with top thread) �� �!��!��!_$6.�
�!0

#!�
�!�

��!�
6.0

��!�
4.0

��!�

9.5

����
6

M6

_$���

#

7.5

�$
4

#!4
M6

_$�#
6.�
�!0

#!�
�!�

��!�
4.0

��!�
6.0

TFSMGSMASMASS SPS
M-13



Protective Unit
Modular
Assembly Technology

®

Description +�
(mm)

+�
(mm)

T
(mm)

Mass
(g) Part No.

     4 �!��!��!����!V_

40 40

30 30
5

     6 �!��!��!����!V_

End [K��<
>��>
'�/'&����>&??���>
<&?������������

End [K��<
>��>
'�/'&����>&??���>
<&?������������

End Cap for Protective Grille Profile

To prevent injury and improve end appearance, the bore 
hole enables assembly of profile and connectors.

Material X?K/Q �XV

+� +�

T

�"

Spring Clamping Nut 7 $!��!��

Description Mass
(g) Part No.

#!� 45

�"
!�

Spring Clamping Nut

Spring clamping nut has to be used when inserting panels 
and recommend installing distance is 300mm.

Material: spring steel

MGSMASMASS SPS TFS
M-14



����
����

����!��������!V�[

�#�� ����!�#������!V�[
����������[

�%!#

��!�

����
��%�

����!������%�!V�X

�#�� ����!�#����%�!V�X
����������X

��!�

�#!�

Clamping Profile Unit

����������

��
��

��
��

��
�

��
�

���$
��

�$

PG30

Type A

Type X

�����������

��
��

��
��

��
�

��
�

���$

�Z
��

��
�

Type C

�����������

��
��

��
��

��
�

��

��
�$

�Z����

�
(mm)

�
(mm) Part No.

��� ����!��������!VTA

���� 675 ����!�����$%�!VTA

"�� ����!�����"��!VTA

��� ����!�#������!VTA

�#�� 675 ����!�#���$%�!VTA

"�� ����!�#���"��!VTA

�����������

Mass
(kg)

6.4

#!$

��!#

#

��!%

��!�

Protective Unit
Modular
Assembly Technology

®

4mm Transparent PMMA Panel

Page ��

Page �"���Strut Elements

Associated kits (To be ordered separately)

Connecting Element

Description
30

TFSMGSMASMASS SPS
M-15



����
����

����!��������!V�[

�#�� ����!�#������!V�[
����������[

��!�

�#!�

����
��%�

����!������%�!V�X

�#�� ����!�#����%�!V�X
����������X

��!"

��!#

Clamping Profile Unit

Description �
(mm)

�
(mm) Part No.

��� ����!��������!VTA

���� 670 ����!�����$%�!VTA

"�� ����!�����"��!VTA

��� ����!�#������!VTA

�#�� 670 ����!�#���$%�!VTA

"�� ����!�#���"��!VTA

Mass
(kg)

��!�

��!"

��!$

��!$

��!#

�"

Protective Unit
Modular
Assembly Technology

®

PG40

4mm Transparent PMMA Panel

Type A

Type X

Type C

����������� 

��
��

��
��

��
�

��
�

��$�

�Z
��

��

�����������

��
��

��
��

��
�

��
�

�Z����

��
$�

����������

��
��

��
��

��
�

��
�

��$�
��

$�

Page ��

Page �"���Strut Elements

Associated kits (To be ordered separately)

Connecting Element

40

�����������

MGSMASMASS SPS TFS
M-16



PG30 30x30 � Clamping slot �������������[?K��&
]��?
'���K>K??�?

Description
Moment of 

Inertia
Ix(cm4)

Moment of 
Inertia
Iy(cm4)

Moment of 
Resistance

��\/�3)

Moment of 
Resistance

�y(cm3)

Mass
\Q]Z�^ Part No.

3.7 �!% �!# �!� �!� �!��!��!������!��

3.5 3.3 �!� �!� �!� �!��!��!������!���

��!� 9.5 4.4 3.4 �!� �!��!��!������!��

��!� ��!� �!# $!� �!$ �!��!��!������!���

�������������[?K��&
]���?
' �������������[?K��&
]��?
'���K>K??�?

Clamping Profile

��_�������'
��'�>�K;�>�/
���
;�;�<
>�������>
<?��\�K
�?�'�&/Q
���������^�

��_�������'
��'�>�K;�>�/
���
;�;�<
>�������>
<?��\�K
�?�'�&/Q
���������^!

Protective Unit
Modular
Assembly Technology

®

��������[?K��&
]��?
' ��������[?K��&
]��?
'���K>K??�?���������[?K��&
]��?
' ��������Clamping slots Parallel 

Clamping profiles only could insert the panels 	&'��'�&/Q
����>K
]��
<��!��"���<
>������K
;��!�������<
>�����, and machining will be needed on the 
profiles to fasten the panels in appropriate positions, the recommended distance of machining is 300mm.

TFSMGSMASMASS SPS
M-17



+� +�

T

�"

L

_#
`�

`�

��

��

XJ��&
]

To realize quick installation of clamping profile unit with 
connecting elements.

Material : zinc plated steel

End Cap for Clamping Profile

To prevent injury and improve end appearance, the 
bore hole enables assembly of  profile and connectors.

Material X?K/Q �XV

Description L `� `� �� �� Fastening Set Mass
(g) Part No.

XJ��&
]����� (set) �� 6 �� 7 �� ��CI �� PPJ30.ST

XJ��&
]����� (set) 30 # �� 9 �� ��GD 40 PPJ40.ST

_$����X
?'
zinc plated

Fastening Set CI

_��|_$��
�
?��*�;J/�>�X
?'
nickel plated

_#����X
?'
zinc plated

Fastening Set GD

_��|_#��
�
?��*�;J/�>�X
?'
nickel plated

Description +�
(mm)

+�
(mm)

T
(mm)

Mass
(g) Part No.

30 30 4 �!��!��!����!V_

40 40
5

6 �!��!��!����!V_

Protective Unit
Modular
Assembly Technology

®

30 40

30 40

MGSMASMASS SPS TFS
M-18



Description H
(mm) Part No.

Strut Elements H1400

40x40L

1400

PBH1400.4040.ST
40x80 PBH1400.4080.SE.ST

 45x45L PBH1400.4545.ST
45x90 PBH1400.4590.SE.ST

Strut Elements H1800

40x40L

1800

PBH1800.4040.ST
40x80 PBH1800.4080.SE.ST

 45x45L PBH1800.4545.ST
45x90 PBH1800.4590.SE.ST

+ + =

Page 20 Page 21 Page 22-24

H+
20

0

17.5

H
20

0

W

Strut Elements

PG30 machine guard unit: H=1400mm, PG40 40x40 light strut profile recommended;
                                           H=1800mm, special PG40 40x80 profile for strut elements recommended
PG40 machine guard unit: H=1400mm, PG45 45x45 light strut profile recommended;
                                           H=1800mm, special PG45 45x90 profile for strut elements recommended

Strut Elements
Modular
Assembly Technology

® 

TFSMGSMASMASS SPS
M-19



Description
Moment of 

Inertia
Ix(cm4)

Moment of 
Inertia
Iy(cm4)

Moment of 
Resistance

Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

8.6 8.6 4.3 4.3 1.5 1.11.40.040040.04L

13.6 50.7 6.8 12.7 1.83 1.42.40.040080.06.SE

10.5 10.5 4.7 4.7 1.6 1.11.45.045045.04L

20.1 77.2 8.9 17.2 2.2 1.42.45.045090.06.SE

PG40 40x40 4 slots light PG45 45x45 4 slots Light

PG40 40x80 6 slots For strut elements PG45 45x90 6 slots For strut elements

Components for Strut Elements

Profile for strut elements

Strut Elements
Modular
Assembly Technology

® 

40
70
80

3040

5x5(M6) 10.2

11
4

90

45
78

3345

8x8(M10) 10.2

13
4

PG40 40x80 6 slots For strut elements 

Strut Profile PG45 45x45 4 slots Light

PG45 45x90 6 slots For strut elements

Strut Profile PG40 40x40 4 slots Light

MGSMASMASS SPS TFS
M-20



5

5Type F
-3030 30 30 4 4.12.30.3030

-4040 40 40 6 4.12.40.4040

Type G
-3030 30 30 4 4.13.30.3030

-4040 40 40 6 4.13.40.4040

Description L1
(mm)

L2
(mm)

T
(mm)

Mass
(g) Part No.

Type B
End Cap-PG40-4040 40 40

5

5

6 4.11.40.4040

End Cap-PG45-4545 45 45 8 4.11.45.4545

Type C
End Cap-PG40-4080 40 80 13 4.11.40.4080

End Cap-PG45-4590 45 90 16 4.11.45.4590

Type B

T

L2L1

Type C

L2

L1

T

End Cap

To prevent staff from any injury and improve profile end appearance.

Material and Color: black ABS

Strut Elements
Modular
Assembly Technology

® 

Type F

L1 L2

T

Type G

L1 L2

T

TFSMGSMASMASS SPS
M-21



Base Plate 4080

Base Plate 4560

Base Plate 4590

10.5 A

19
9

50 10
8

B C

D E

L

�����

B

D

C

E

L

Base Plate

To support strut profile at the bottom. Expansion bolts 
chocked into floor can offer a high stability.

Material and surface treatment: cast steel, black electrophoresis

40

40

13

R7

1

Description L
(mm)

A
(mm)

B
(mm)

C
(mm)

D
(mm)

E
(mm) Fastening Set Mass 

(g) Part No.

Base Plate-4080 (pcs)

126 40 20 60 40 80

2xAZ 1930 5.11.4080
Base Plate-4080 (set A) 4xC+3xAA+2xAZ 2240 5.11.4080.STA
Base Plate-4080 (set B) 6xC+3xAA+2xAZ 2290 5.11.4080.STB
Base Plate-4080 (set C) 8xC+3xAA+2xAZ 2340 5.11.4080.STC
Base Plate-4560 (pcs)

111 22.5 30 45 60
2xAZ 1600 5.11.4560

Base Plate-4560 (set) 4xC+3xAA+2xAZ 1910 5.11.4560.ST
Base Plate-4590 (pcs)

141 45 22.5 67.5 45 90

2xAZ 2330 5.11.4590
Base Plate-4590 (set A) 4xC+3xAA+2xAZ 2640 5.11.4590.STA
Base Plate-4590 (set B) 6xC+3xAA+2xAZ 2690 5.11.4590.STB
Base Plate-4590 (set C)
Base Plate Gasket

8xC+3xAA+2xAZ 2740
9

5.11.4590.STC
5.11.01

M10x100 expansion bolt
zinc plated

Fastening SetAA Fastening SetAZ

Base Plate Washer
zinc plated

M8 Flange Nut
zinc plated

M8x25 T Bolt
nickel plated

Fastening Set C

Base Plate Gasket
To adjust the degree of vertical profile and uneven ground.

Strut Elements

A

A

Modular
Assembly Technology

® 

A

MGSMASMASS SPS TFS
M-22



Base Plate 40x40/45x45 Base Plate 40x80/45x90

Description L   
(mm)

W   
(mm)

A   
(mm)

B  
(mm)

C   
(mm)

D   
(mm) Fastening Set Mass 

(g) Part No.

Base Plate-4040 (pcs)  
100 100 70 70 40 40

629 5.13.4040

Base Plate-4040 (set) 4xC+4xEQ 1275 5.13.4040.ST

Base Plate-4545 (pcs)
110 110 80 80 45 45

1022 5.13.4545

Base Plate-4545 (set)  4xC+4xEQ 1710 5.13.4545.ST

Base Plate-4080 (pcs)  
140 100 70 110 40 80

753 5.13.4080

Base Plate-4080 (set) 6xC+4xEQ 1400 5.13.4080.ST

Base Plate-4590 (pcs)  
160 110 80 130 45 90

1243 5.13.4590

Base Plate-4590 (set) 6xC+4xEQ 1920 5.13.4590.ST

M8 Flange Nut
zinc plated

M8x20 T Bolt
nickel plated

Fastening Set C

M12x100 expansion bolt
zinc plated

Fastening SetEQ

Base Plate

To support strut profile mounted between sections of 
machine guard system, Expansion bolts chocked into floor 
can offer very high stability.

Material and Color: carbon steel, black electrophoresis

L

��%

B

D

4

W A C

40x40 45x45

W

L

A

B

20
50

20

C

��%

6
11

0

10.5

C
D

40x80 45x90

4

6
80 20

20

10.5

20

Strut Elements
Modular
Assembly Technology

® 

A

Economical

Base Plate Gasket
To adjust the degree of vertical profile and uneven ground.A

TFSMGSMASMASS SPS
M-23



L Base

L base is to fix the profile on the floor and adjust the height 
of the profile to the floor.

Material: diecast aluminum, black electrophoresis

Strut Elements
Modular
Assembly Technology

® 

Economical

65

20

17~28

L Base (pcs) 236 5.52.10.P

L Base-PG40 (set)  2xDI+1xDN 303 5.52.10.04.ST.P

L Base-PG45 (set)  2xDM+1xDN 306 5.52.10.06.ST.P

M10x100 expansion bolt
zinc plated

Fastening SetDNDM
M8x20 Bolt
zinc plated
M8 Spring Washer
zinc plated
M8 Pre-set Nut
nickel plated

Fastening SetDI
M8x16 Bolt
zinc plated
M8 Spring Washer
zinc plated
M8 Pre-set Nut
nickel plated

Fastening Set

Description Fastening Set Mass
(g) Part No.

10
0

20
20

80
70

.5

38

16
0

15

10.1

15

MGSMASMASS SPS TFS
M-24



920
9

29.5

48

25
48

�"

6

9.8

Description Fastening Set Mass
(g) Part No.

Connecting Element for Protective Grille Unit 1×HA 96g PNC.ST

Connecting Element for Clamping Profile Unit 1×HB 94g PPC.ST

Connecting Element

To connect protective fences with strut element

Material: Die cast zinc

M8x25 Bolt
zinc plated
M8 Flange Nut
zinc plated
M8x20 T Bolt
nickel plated

Fastening SetHA
M8x20 Bolt
zinc plated
M8 Flange Nut
zinc plated
M8x20 T Bolt
nickel plated

Fastening SetHB

Connecting Elements
Modular
Assembly Technology

® 

30 40

TFSMGSMASMASS SPS
M-25



Door Unit
Modular
Assembly Technology

® 

Swing Door

Swing Door for Protective Grille Unit-Economical

020140x40 woven mesh    Ø4 diameter 4mm Transparent PMMA Panel

Description H
(mm)

X
(mm)

Y
(mm)

 1400
970

693
 1800 893
 1400

968
689

 1800 889
 1400

950
680

 1800 880
 1400

948
678

 1800 878

Part No.(L)

PNDH.30.1400.ST.01.L.E
PNDH.30.1800.ST.01.L.E
PNDH.30.1400.ST.02.L.E
PNDH.30.1800.ST.02.L.E
PNDH.40.1400.ST.01.L.E
PNDH.40.1800.ST.01.L.E
PNDH.40.1400.ST.02.L.E
PNDH.40.1800.ST.02.L.E

Protective Grille Unit-Economical-PG30-01

Protective Grille Unit-Economical-PG30-02

Protective Grille Unit-Economical-PG40-01

Protective Grille Unit-Economical-PG40-02

16.2
17.5
16

17.3
18.4
21.5
18.3
21.3

Mass
(kg) Part No.(R)

PNDH.30.1400.ST.01.E
PNDH.30.1800.ST.01.E
PNDH.30.1400.ST.02.E
PNDH.30.1800.ST.02.E
PNDH.40.1400.ST.01.E
PNDH.40.1800.ST.01.E
PNDH.40.1400.ST.02.E
PNDH.40.1800.ST.02.E

Page 42

Page 19-24

Door Shutter (One end of strut profile need to be tapping M14x30 screw)

Strut Elements (One end of strut profile need to be tapping M14x30 screw)

Associated kits (To be ordered separately)Item Number Reference:
The part number is for gray woven mesh in the default configuration, please specify 
with RAL code if other color is required, such as RAL9005 for black, RAL1018 for yellow.

RAL
9005

RAL
1018

PNDH.30.1400.ST.01-RAL9005
RAL Code Number

Part No.

ex:

RAL
9006

RAL
9005

RAL
1018

9804

1000

H

9804

1000

H

X

Y

X

Y

Economical

L Lock for Swing Door L Lock for Swing Door

MGSMASMASS SPS TFS
M-26



Door Unit
Modular
Assembly Technology

® 

Swing Door

Swing Door for Protective Grille Unit

020140x40 woven mesh    Ø4 diameter 4mm Transparent PMMA Panel

1000

964

H

20

1000

964

H

20

X1

Y1

     X2

Y2

X1

Y1
     X2

Y2

Description H
(mm)

X1
(mm)

Y1
(mm)

X2
(mm)

Y2
(mm)

 1400
954

543
769 295

 1800 743
 1400

952
539

767 290
 1800 739
 1400

934
530

754 290
 1800 730
 1400

932
528

752 288
 1800 728

Part No.(L)

PNDH.30.1400.ST.01.L
PNDH.30.1800.ST.01.L
PNDH.30.1400.ST.02.L
PNDH.30.1800.ST.02.L
PNDH.40.1400.ST.01.L
PNDH.40.1800.ST.01.L
PNDH.40.1400.ST.02.L
PNDH.40.1800.ST.02.L

Protective Grille Unit-PG30-01

Protective Grille Unit-PG30-02

Protective Grille Unit-PG40-01

Protective Grille Unit-PG40-02

22.5
25.7
22.4
25.5
24.7
27.8
24.6
27.7

Mass
(kg) Part No.(R)

PNDH.30.1400.ST.01
PNDH.30.1800.ST.01
PNDH.30.1400.ST.02
PNDH.30.1800.ST.02
PNDH.40.1400.ST.01
PNDH.40.1800.ST.01
PNDH.40.1400.ST.02
PNDH.40.1800.ST.02

Page 42

Page 19-24

Door Shutter (One end of strut profile need to be tapping M14x30 screw)

Strut Elements (One end of strut profile need to be tapping M14x30 screw)

Associated kits (To be ordered separately)Item Number Reference:
The part number is for gray woven mesh in the default configuration, please specify 
with RAL code if other color is required, such as RAL9005 for black, RAL1018 for yellow.

RAL
9005

RAL
1018

PNDH.30.1400.ST.01-RAL9005
RAL Code Number

Part No.

ex:

RAL
9006

RAL
9005

RAL
1018

Lock for Swing Door Lock for Swing Door

TFSMGSMASMASS SPS
M-27



1000

964

H

20

Swing Door

Swing Door for Clamping Profile Unit

4mm Transparent PMMA Panel

X1

Y1

X2

Y2

Door Unit
Modular
Assembly Technology

® 

Part No.(L)

PPDH.30.1400.ST.L
PPDH.30.1800.ST.L
PPDH.40.1400.ST.L
PPDH.40.1800.ST.L

Description H
(mm)

X1
(mm)

Y1
(mm)

X2
(mm)

Y2
(mm)

 1400
918

519
733 284

 1800 719
 1400

904
510

724 280
 1800 710

Clamping Profile Unit-PG30

Clamping Profile Unit-PG40

18.9
21.5
27.8
31.3

Mass
(kg) Part No.(R)

PPDH.30.1400.ST
PPDH.30.1800.ST
PPDH.40.1400.ST
PPDH.40.1800.ST

30 40

Page 42

Page 19-24

Door Shutter (One end of strut profile need to be tapping M14x30 screw)

Strut Elements (One end of strut profile need to be tapping M14x30 screw)

Associated kits (To be ordered separately)

MGSMASMASS SPS TFS
M-28



Door Unit
Modular
Assembly Technology

® 

Components for Swing Door

Swing Door are normally composed of A,B and C as shown in the below figure.

D

A Al Removablle Hinge D Lock for Swing DoorC Buffer Block for 
Swing Door

B L Lock for Swing Door

A A

B

C

C

C

C

Swing Door for Protective Grille Unit-Economical Swing Door for Protective Grille Unit

TFSMGSMAS SPS
M-07

TFSMGSMASMASS SPS
M-29



2548

25
48

H1

H2
98

L1

L2

���`�

���`�

6
16

���1̀

25
48

2548 H2

H1 98

6
16

L2

L1
���`�

���`�

Al Removablle Hinge-L Al Removablle Hinge-R

`��/>&�'&

 H1   
(mm)

H2      
(mm)

L1 
(mm)

L2    
(mm)

`�
(mm)

`���
(mm) �K�'�
&
]�V�' _K��

(g) �K>'��
!\+^ �K>'��
!\*^

�>
'�/'&����>&??���
&'���Z���\��'^

�>
'�/'&����>&??���
&'���Z���\��'^

[?K��&
]��>
<&?���
&'-��Z���\��'^

[?K��&
]��>
<&?���
&'-��Z���\��'^

�� �� 28 �# $!� #!� 2xFF+2x�� 158 %!�%!��!��!VT!V_

%!�%!��!��!V�4x��!� ��!� �# �# #!� #!� �� 186

%!�%!��!��!V�

%!�%!��!��!V�

�� 15 �# 28 #!� $!� 2xFF+2x�� 158

��!� �� �# �# #!� #!� 4x�� 186

%!�$!��!��!VT!V_

%!�$!��!��!V�

%!�$!��!��!V�

%!�$!��!��!V�

_$����X
?'
�&
/��?K'�;

�K�'�
&
]�V�' FF

M6 T��J'

&/Q�?��?K'�;

_#��$�X
?'
�&
/��?K'�;

�K�'�
&
]�V�'  ��

M8 T �J'

&/Q�?��?K'�;

Al Removablle Hinge

_K'�>&K?�K
;�[
?
>��K?J�&
J��K??
y��
K'J>��K

;&��;

`

>��
&'
Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-30



`��/>&�'&

 �>
<&?��� _K��
(g) �K>'��
!

+�+
/Q�<
>�V	&
]�`

>����� �����+ 294 %!��!��!��!�

L +
/Q�<
>�V	&
]�`

>����� 45x45L

�����

����� 297 %!��!��!��!�1x`�+2xEE

1x`�+2x�`

�K�'�
&
]�V�'�>
<&?���

+�+
/Q�<
>�V	&
]�`

>

_K'�>&K?�K
;�[
?
>���&
/�K??
����
?&���<&
��

`

>��
&'
Modular
Assembly Technology

®

`��/>&�'&

 `
(mm)

_K��
(g) �K>'��
!

+
/Q�<
>�V	&
]�`

>����� �� ���� ��`���!+�

+
/Q�<
>�V	&
]�`

>����� �� �#�� ��`���!+�
2xCP

�K�'�
&
]�V�'

CP
_$����X
?'
�&
/��?K'�;

_$����J'

&/Q�?��?K'�;

�K�'�
&
]�V�' 

+
/Q�<
>�V	&
]�`

>

_K'�>&K?�K
;�[
?
>��+
/Q�X
;����'K&
?�����'��?
                                +
/Q�V?
'��K?J�&
J�

+
/Q�X
;� +
/Q�V?
'

`

���

��
�

��
�

217

�$
�

%%!�

"�

`���

��
�

�$
�

�� ��

#�
#�!�

8x8

�>
<&?�� �>
<&?��

4

44
��

$��#

11
6

$#!�
12

2-M5

M8x8 V�'�V/>�	
�'K&
?�����'��?

�K�'�
&
]�V�'`��` �K�'�
&
]�V�'

_�����X
?'
�&
/��?K'�;

EE �K�'�
&
]�V�'

_�����X
?'
�&
/��?K'�;

TFSMGSMASMASS SPS
M-31



45

18

5

`

E
F

��
!�

B
C $!�

A 

129 ��`���!+`!V�

_K��
(g) �K>'��
!

97

26

F
(mm)

16

��

E
(mm)

��

17

`
(mm)

14

26

C
(mm)

16

��

B
(mm)

��

`

>�+K'/�-���� ��

`��/>&�'&

 �K�'�
&
]�V�' A
(mm)

`

>�+K'/�-���� 2x��+2x��

2x��+2xAH

�� ��`���!+`!V�

_$����X
?'��
�&
/��?K'�;����

_$�V�>&
]��K���>���
�&
/��?K'�;
_$��K���>��
��&
/��?K'�;
_$����J'

&/Q�?��?K'�;

�K�'�
&
]�V�'AH
_$��$�X
?'��
�&
/��?K'�;����

_$�V�>&
]��K���>���
�&
/��?K'�;
_$��K���>��
��&
/��?K'�;
_$����J'

&/Q�?��?K'�;

�K�'�
&
]�V�'��
_$����X
?'��
�&
/��?K'�;����

_$�V�>&
]��K���>���
�&
/��?K'�;

_$��K���>��
��&
/��?K'�;

�K�'�
&
]�V�'��
_$��$�X
?'��
�&
/��?K'�;����

_$�V�>&
]��K���>���
�&
/��?K'�;

_$��K���>��
��&
/��?K'�;

�K�'�
&
]�V�'��

`

>�+K'/�

`

>�+K'/��&��J��;�'
�<&��K
;�?
/Q�'���;

>�'
��KQ���J>��
'���;

>�/K


'�
��
�;�
�'&

K??�!

_K'�>&K?��`

>�+K'/���K?J�&
J���+K'/��*
;���'K&
?�����'��?

`

>��
&'
Modular
Assembly Technology

®

XJ��&
]

��
�

��
�

�#

�$
�

$��

21

$���!�

24

��
�

��

��#

���

`��/>&�'&

 �K�'�
&
]�V�' _K��
(g) �K>'��
!

�>
J
;�+K'/�-�����\��'^ 6x�� "�� ��`���!+�!V�

_�����X
?'
�&
/��?K'�;

�� �K�'�
&
]�V�'

�>
J
;�+K'/�

�>
J
;�+K'/��&��J��;�'
�?
/Q�'���;

>�

�'���]>
J
;�K
;�
�KQ��'���;

>�

'�
��
�;�
�'&

K??�!

_K'�>&K?���&
/��?K'�;��'��?

MGSMASMASS SPS TFS
M-32



`��/>&�'&

 H1  
(mm)

H2
(mm)

�K�'�
&
]�
V�'

_K��
(g) �K>'��
!

XJ<<�>�X?
/Q�<
>�V	&
]�`

>����� 9 17 1xCC 112 ��`���!XX

XJ<<�>�X?
/Q�<
>�V	&
]�`

>����� 14 22 1x[` 121 ��`���!XX

M8x25�X
?'
�&
/��?K'�;

M8 T��J'

&/Q�?��?K'�;

�K�'�
&
]�V�' [`
M8����X
?'
�&
/��?K'�;

M8 T��J'

&/Q�?��?K'�;

�K�'�
&
]�V�' CC

XJ<<�>�X?
/Q�<
>�V	&
]�`

>

_K'�>&K?��K?J�&
J��K??
�

15

��

��$

�"

88

18

27

H1H2

�#

"!8

`

>��
&'
Modular
Assembly Technology

®

TFSMGSMASMASS SPS
M-33



`

>��
&'
Modular
Assembly Technology

®

`

>�K]
�'�\��') 2x��+2xHY+2xCP ��� ��`�!`_!V�

`��/>&�'&

 �K�'�
&
]�V�' _K��
(g) �K>'��
!

`

>�K]
�'�\�/�^ 61 ��`�!`_

CP
_$����X
?'
�&
/��?K'�;

_$����J'

&/Q�?��?K'�;

�K�'�
&
]�V�' 

_��#�X
?'
�&
/��?K'�;

HY�� �K�'�
&
]�V�' �K�'�
&
]�V�'

_��$�X
?'
�&
/��?K'�;

`

>�K]
�'

`

>�K]
�'��K��'���<J
/'&

�
<�KO�
>�'&

�K
;�<&�K'&

�
	�&/��/K


'��KQ��'���;

>�
��
�;�
�'&

K??�!

_K'�>&K?��`

>�K]
�'��'K&
?�����'��?��
���������������[


�/'
>��&
/��?K'�;��'��?

��
��

58

"!�
�

��
!��

4

��!�
_�

26

14

4
15

��

16 

��

%!� 2-M4

��

��

$!�

��

58

�!�

MGSMASMASS SPS TFS
M-34



V?&;&
]�`

>

V?&;&
]�`

>�<
>��>
'�/'&����>&??���
&'

��������	
��
������������;&K��'�> ��

�

Y

���� ����

98�

��
��

�
��

�

4mm T>K
��K>�
'��__A Panel

�
Y

���� ����

98�

��
��

�
��

�

`

>��
&'
Modular
Assembly Technology

®

Page 19-24V'>J'��?���
'�

���
/&K'�;�Q&'��\�
�O��
>;�>�;����K>K'�?�^

`��/>&�'&

 H(mm) �\��^ Y(mm)

�����
"%�

$��
��#�� #��
�����

968
$�"

��#�� #�"

�>
'�/'&����>&??���
&'��������

�>
'�/'&����>&??���
&'��������

�����
"��

$��
��#�� #��
�����

948
628

��#�� 828

�>
'�/'&����>&??���
&'��������

�>
'�/'&����>&??���
&'��������

��!�
24

��!$
��!#
��!%
�%!#
��

�%!%

_K��
\Q]^ �K>'��
!\L)

��`V!��!����!V�!��!+
��`V!��!�#��!V�!��!+
��`V!��!����!V�!��!+
��`V!��!�#��!V�!��!+
��`V!��!����!V�!��!+
��`V!��!�#��!V�!��!+
��`V!��!����!V�!��!+
��`V!��!�#��!V�!��!+

�K>'��
!\R)

��`V!��!����!V�!��
��`V!��!�#��!V�!��
��`V!��!����!V�!��
��`V!��!�#��!V�!��
��`V!��!����!V�!��
��`V!��!�#��!V�!��
��`V!��!����!V�!��
��`V!��!�#��!V�!��

�'����J�O�>�*�<�>�
/��
�����K>'�
J�O�>�&��<
>�]>K��	
��
������&
�'���;�<KJ?'�/

<&]J>K'&

���?�K������/&<��
	&'��*�+�/
;��&<�
'��>�/
?
>�&��>�@J&>�;���J/��K��*�+"����<
>�O?K/Q��*�+���#�<
>���??
	!

RAL
9005

RAL
1018

��`V!��!����!V�!���*�+"���
*�+�[
;���J�O�>

�K>'��
!

���

RAL
9006

RAL
9005

RAL
1018

TFSMGSMASMASS SPS
M-35



�
Y 

���� ����

98�

��
��

�
��

�

V?&;&
]�`

>

V?&;&
]�`

>�<
>�[?K��&
]��>
<&?���
&'

4mm T>K
��K>�
'��__A Panel

��`V!��!����!V�
��`V!��!�#��!V�
��`V!��!����!V�
��`V!��!�#��!V�

`��/>&�'&

 H(mm) �\��^ Y(mm)

�����
"��

619
��#�� 819
�����

"��
$��

��#�� #��

[?K��&
]��>
<&?���
&'�����

[?K��&
]��>
<&?���
&'�����

��!�
��!#
27

��!�

_K��
\Q]^ �K>'��
!\R) �K>'��
!\L)

��`V!��!����!V�!+
��`V!��!�#��!V�!+
��`V!��!����!V�!+
��`V!��!�#��!V�!+

Page 19-24V'>J'��?���
'�

���
/&K'�;�Q&'��\�
�O��
>;�>�;����K>K'�?�^

�� ��

`

>��
&'
Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-36



[
��

�
'��<
>�V?&;&
]�`

> 

V?&;&
]�;

>�K>��

>�K??��/
��
��;�
<���X�[�`�����K
;���K����
	
�&
�'���O�?
	�<&]J>�!

A �>
<&?��*K&?� B [K>>&K]� C XJ<<�>�X?
/Q ` �J&;��X?
/Q E +
/Q�<
>�V?&;&
]�;

> F �>&/'&

�V'>&��[
��

�
 � `&��[K�'�X>K/Q�'

`

>��
&'
Modular
Assembly Technology

®

6

TFSMGSMASMASS SPS
M-37



`��/>&�'&


_
��
'�
<�

�
�>'&K
��\/�4)

_
��
'�
<
��
�>'&K
��\/�4)

_
��
'�
<�
*��&�'K
/�

��\/��)

_
��
'�
<�
*��&�'K
/�

��\/��)

_K��
\Q]Z�^ �K>'��
!

��!%� ��!$ �$!� �!� �!$ �!��!��!����!��

��!2

19
��

42
11

��

��
��

�
5

��

916

�%
��4

���$!�

��

��
�

��
!�

`��/>&�'&

 �K�'�
&
]�V�' _K��
(g) �K>'��
!

2xHC 64 �X`V��!�X�J??���X?
/Q�<
>�V?&;&
]�`

>�����

2xHC %� �X`V��!�X�J??���X?
/Q�<
>�V?&;&
]�`

>�����

_$����X
?'
�&
/��?K'�;

_$����J'

&/Q�?��?K'�;

�K�'�
&
]�V�'HC

�>
<&?��*K&?

_K'�>&K?��$�$����

�J??���X?
/Q�<
>�V?&;&
]�`

>

_K'�>&K?��K?J�&
J��K??
�

`

>��
&'
Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-38



��
��

��
�$

�#
!�

��

��
48

�$!�
26

6

8

�� �!�

5 �!�

��

5

5 �!�

��
��

��

��

�� ��

�� ��

�� 45

45

25

��

1215

��
$

"!#

�%

9
��

�"

��

`��/>&�'&

 �K�'�
&
]�V�' _K��
(g) �K>'��
!

�J&;��X?
/Q�<
>�V?&;&
]�`

>����� 2x�`+2xHE 151 �X`V��!`V

�J&;��X?
/Q�<
>�V?&;&
]�`

>����� 2x�`+2xHF 157 �X`V��!`V

_$��$�X
?'
�&
/��?K'�;

_$����J'

&/Q�?��?K'�;

�K�'�
&
]�V�'HF
_#����X
?'
�&
/��?K'�;

_#����J'

&/Q�?��?K'�;

�K�'�
&
]�V�'�`
_$����X
?'
�&
/��?K'�;

_$����J'

&/Q�?��?K'�;

�K�'�
&
]�V�'HE

`��/>&�'&

 �K�'�
&
]�V�' _K��
(g) �K>'��
!

XJ<<�>�X?
/Q�<
>�V?&;&
]�`

>�      1xCC 64 �X`V!XX

M8����X
?'
�&
/��?K'�;

M8 T��J'

&/Q�?��?K'�;

�K�'�
&
]�V�' CC

XJ<<�>�X?
/Q�<
>�V?&;&
]�`

>

_K'�>&K?��K?J�&
J��K??
�

�J&;��X?
/Q�<
>�V?&;&
]�`

>

_K'�>&K?��POM

`

>��
&'
Modular
Assembly Technology

®

TFSMGSMASMASS SPS
M-39



+
/Q�V?
'

+
/Q�<
>�V?&;&
]�`

>�
<�[?K��&
]��>
<&?���
&'����� 12 ��`V��!+�

+
/Q�<
>�V?&;&
]�`

>�
<�[?K��&
]��>
<&?���
&'����� 18 ��`V��!+�

`��/>&�'&

 H
(mm)

�K�'�
&
]�V�' _K��
(g) �K>'��
!

+
/Q�<
>�V?&;&
]�`

>�
<��>
'�/'&����>&??���
&'����� 18 ��`V��!+�

+
/Q�<
>�V?&;&
]�`

>�
<��>
'�/'&����>&??���
&'����� ��

2x��

2xHZ

2x��

2xHZ

956

"$�

956

"$�

��`V��!+�

+
/Q�X
;�

��

76

25��
#

45

H

��!�

�%
�

HZ
_$����X
?'
�&
/��?K'�;
_�����X
?'
�&
/��?K'�;
_$����J'

&/Q�?��?K'�;

�K�'�
&
]�V�' ��
_$����X
?'
�&
/��?K'�;
_�����X
?'
�&
/��?K'�;
_$����J'

&/Q�?��?K'�;

�K�'�
&
]�V�' 

+
/Q�<
>�V?&;&
]�`

>

_K'�>&K?��+
/Q�X
;����'��?��O?K/Q��?�/'>
��
>��&�����
���������������+
/Q�V?
'�K?J�&
J�

`

>��
&'
Modular
Assembly Technology

®

92
��

�� 7

��
�$

!�

��!�

��
��

72
��

������?
/Q���
	
�KO
���&��J��;�

�>&]�'�
��
�;

>���?�K������/&<��&<�'���?
/Q�&��'
�O��J��;�

�?�<'�
��
�;

>!

MGSMASMASS SPS TFS
M-40



��

��

8

5
�!

5

����

�$

8 18 18

��!�

��!�

#!�

4

_#����X
?'
�&
/��?K'�;
_#��K���>
�&
/��?K'�;
_#����J'

&/Q�?��?K'�;

�K�'�
&
]�V�' `

��
_�����X
?'
�&
/��?K'�;

_�����J'

&/Q�?��?K'�;

�K�'�
&
]�V�' 

`��/>&�'&

 _K��
\Q]^ �K>'��
!

�>&/'&

�V'>&��[
��

�
'��\��'^ �!� ��`V!�V!V�

�K�'�
&
]�V�'

5x��

�>&/'&

�V'>&��[
��

�
'��

����<>&/'&

��'>&���
KO?���/


�&/K?�K
;�?
	�	�K>�]J&;���
<
>��K
JK?��?&;&
]�;

>�!

_K'�>&K?����_����

`&��[K�'�X>K/Q�'

`&�/K�'�J��;�'
�/


�/'��>
<&?��>K&?�	&'��<>&/'&

��'>&�!

_K'�>&K?��`&��/K�'�K?J�&
&J�

`��/>&�'&

 �K�'�
&
]�V�' _K��
(g) �K>'��
!

`&��/K�'�O>K/Q�'������������\��'�`^ 92 �!��!��!����!V�`

`

>��
&'
Modular
Assembly Technology

®

TFSMGSMASMASS SPS
M-41



`��/>&�'&

 �K>'��
!

VK<�'��+
/Q �X`�!V+

��V'>J'��>
<&?��J��;�

��	&
]�;

>�/

�'>J/'�;�	&'���������
��;�'
�O��'K���;�	&'��
���/��
<�_$�����/>�	�	��
�J�&
]�;

>���J''�>!

��������[���*�
>��_*���?
/Q�&���J]]��'�;���?�K���>�<�>�'
���[���*�
>��_*��
�/K'K?
]J��<
>�;�'K&?����/&<&/K'&

�
J�O�>�
>��?�K���/

'K/'�	&'��J��<
>�;�'K&?!

`

>�V�J''�>

`

>���J''�>�&��J��;�

��	&
]�;

>�K
;�&'��KQ��
;

>�/?
��;�KJ'
�K'&/K??�!
 

VK<�'��+
/Q

����&
'�]>K'�;���[���*�K
;��_*���?
/Q��
�J>��'����K<�'��K
;��'KO&?&'��
<�'���	�
?��
�K/�&
��]JK>;����'��!

`��/>&�'&

 �K�'�
&
]�V�' �K>'��
!

`

>�V�J''�>�<
>��>
'�/'&����>&??���
&' 2xHH+4xHJ+2x��+2xHL ��`�!`V!V�

`

>�V�J''�>�<
>�[?K��&
]��>
<&?���
&' ��`�!`V!V�4xHH+4xHJ+2x��

�K�'�
&
]�V�'HL
_$����X
?'
�&
/��?K'�;

_$��K���>
�&
/��?K'�;

_$����X
?'
�&
/��?K'�;

�K�'�
&
]�V�'���K�'�
&
]�V�'HJ

_$����X
?'
�&
/��?K'�;_$��K���>

�&
/��?K'�;
_$����J'

&/Q�?��?K'�;

�K�'�
&
]�V�'HH
_$����X
?'
�&
/��?K'�;

`

>��
&'��
Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-42



`

>��
&'��
Modular
Assembly Technology

®

`��/>&�'&


_
��
'�
<�

�
�>'&K
��\/�4)

_
��
'�
<
��
�>'&K
��\/�4)

_
��
'�
<�
*��&�'K
/�

��\/��)

_
��
'�
<�
*��&�'K
/�

��\/��)

_K��
\Q]Z�^ �K>'��
!

�!�� �#!� �!$$ #!� �!"� �!��!��!������!��

�JK>;�>K&?�Q&/Q��?K'���>
<&?��

�JK>;�>K&?�Q&/Q��?K'���>
<&?��

����Q&/Q��?K'���>
<&?��&��&
�'K??�;�K'�'���?
	�>��K>'�
<�'����K/�&
��
]JK>;�J
&'�'
�Q����'�����K??�/
��

�
'�
>�
'��>�
O��/'��
J'�&;��
K
;��
�J>��'����'KO&?&'��K
;�]

;�K���K>K
/��
<�'���J
&'!

_K'�>&K?��$�$�������VJ><K/��'>�K'��
'���K'&
�K

;&��;

���
���

��

��

#!�

#!�

16

��

2 2

�!#$�

����

5

_K/�&
��]JK>;�Q&/Q��?K'���
;�/K�

�
��>���
'��'K<<�<>
��K
��&
�J>��K
;�&��>
����>
<&?���
;�K���K>K
/�!

_K'�>&K?�K
;�[
?
>��O?K/Q �XV

`��/>&�'&

 _K��
(g) �K>'��
!

_K/�&
��]JK>;�Q&/Q��?K'���
;�/K� 5 �!��!��!��!������

��

���

5
��

�� �������K/�&
��]JK>;�Q&/Q��?K'��/K
�O��K;�J�'�;�
    J��K
;�;
	
�&
������>K
]�!

TFSMGSMASMASS SPS
M-43



`

>��
&'��
Modular
Assembly Technology

®

`��/>&�'&

 �K�'�
&
]�V�' _K���(g) �K>'��
!

_K/�&
��]JK>;�Q&/Q��?K'���>
<&?��\�/�^ ��`���!_����

_K/�&
��]JK>;�Q&/Q��?K'���>
<&?��\��'^ ��`���!_����!V�2xEA+2xEB

_$����X
?'
�&
/��?K'�;����

_$�V�>&
]��K���>���
�&
/��?K'�;
_$��K���>��
��&
/��?K'�;
_$����J'�#!�

&/Q�?��?K'�;

�K�'�
&
]�V�'EA
_#��$�X
?'
�&
/��?K'�;����

_#�V�>&
]��K���>���
�&
/��?K'�;
_#��K���>��
��&
/��?K'�;
_#����J'���!�

&/Q�?��?K'�;

�K�'�
&
]�V�'EB

_K/�&
��]JK>;�Q&/Q��?K'���>
<&?�

����Q&/Q��?K'��/


�/'
>�&��<
>�/


�/'&

�O�'	��
�Q&/Q��?K'��
�>
<&?��K
;�'����K/�&
��]JK>;�J
&'!��
?��

����'�
<�<K�'�
&
]�
��'�&��
��;�;�K'�'���?
/K'&

���K
;�[�K
;�/K
�O��J��;�O
'��


�Q&/Q��?K'��/


�/'
>�K
;�OK����?K'�!

46

78

��

�#
$�

2

815

��
$!�

��

15
15

#!�

��

A
B

C

`

MGSMASMASS SPS TFS
M-44



+
K;�[K�K/&'��
<�_K/�&
���JK>;�\����^

��� ���/&K? <K�'�
&
] �'>J/'J>� ;��&]
 ]&��� '�� �K/�&
��]JK>; ���'���a �&]��> /K�K/&'� 
< ?
K;! An ��/��� ?
K; 	&?? ]�
�>K'� a '���
>K>� ;�<
>�K'&

! 
���
�'�����/����?
K;�&��>��
��;��&'�	&??�/
���OK/Q�'
�&'��&
&'&K?��'K'�!���>��K<'�>�&��'����K?J��
<���'����K�&�K?���/����?
K;! 

+
K;�[K�K/&'��
<�V'>J'��?���
'�\����^

����<
>/��
��;�;�'
���/J>���'����K/�&
��]JK>;����'����'>J'��?���
'���
	K��;�'�>�&
�;�&
�K���>&���
<�'��'��K��<
??
	&
]!

��
��

F

F

� �

F

F

��
��

���� ��� ��� ��� ��� $��
� ���� 45x45 6

���"� �
��
�!�

14
%!�

��
��!�

��
��

�!_��" H(mm) �\�^
����!�#������!V��!�� �#�� ����
����!�#���$%�!V��!�� �#�� ����
����!�#���"��!V��!�� �#��

�\��^
���
$%�
"�� #��

+
K;�[K�K/&'� 
Modular
Assembly Technology

®

TFSMGSMASMASS SPS
M-45



�����O?��
<���>&
]�/?K��&
]�
J'
 

�����O?��

�!��>�K����O?��'���<>K��!
�!��?K/����>&
]�/?K��&
]�
J'�

��K
�?!��
���?���
'�&
��K/��/
>
�>��>���
'��'����K
�?��<>
��>K''?&
]!
�!��
��>'��K
�?�&
�'����>�K����O?�;�<>K��!
�!�_
J
'�'���<>K��!

`&�K����O?��

�!�`&�K����O?��'���<>K��!
�!�*��
����K
�?!
�!�*��
���'�����>&
]�/?K��&
]�
J'��&
�'���]>

���J�&
]�K��/>�	;>&��>!

���
���

�����

�����O?��
<��>
'�/'&����>&??���
&'

�
�'K??K'&

��
<
>�K'&


Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-46



�����O?��
<��>
'�/'&����>&??���
&'

�����O?��
<��>
'�/'&����>K���
 
�!�_KQ��K�����
J'�
<��>
'�/'&���]>&??���>
<&?��\'KQ���������>
'�/'&���]>&??���>
<&?��K����K��?�^��'��
��>�K����O?���/>�	�/


�/'
>�
����\�!#�!_#!��!V�^�K��<&]J>����&
;&/K'�;!
�!��
��>'�	
��
�	&>�������
>��K
�?�&
'
�'���/
>
�>�K��<&]J>��X�&
;&/K'�;!
�!�V?&;��'����/>�	�/


�/'
>��&
'
�'����>
<&?��]>

���K
;�'&]�'�
�?

��?��K��<&]J>��[�&
;&/K'�;!
�!��
��>'�
J'�>��>
<&?���K��<&]J
��`�&
;&/K'�;!
�!��&]�'�
�K??��/>�	�!
$!������&;���>
<&?��
<��>
'�/'&���]>&??��J
&'���
J?;�O��;>&??�;!�*[�Z_[�Z+[����
	��'����
�&'&

�
<�'����
?�!

�
�'K??K'&

��
<
>�K'&


Modular
Assembly Technology

®

�!�

�!�2x

V���
�#���

V���
�#���

�!#�!_#!��!V�

�!#�!_#!��!V�

A

B

`

`

C

MCH

LCH

RCH

TFSMGSMASMASS SPS
M-47



��

L

2 x L

����+

line

�
>�/

�'>J/'&
]��K/�&
��]JK>;��'>J'��?���
'�!��
KO?����
J�'
�;>K	��'>K&]�'�?&
���

�'���<?

>�<
>�K?&]
&
]�K
;��
�&'&

&
]��J��
>'��@J&/Q?��K
;��K�&?�!

��]K�Q�'�	&??�O��
��;�;�'
�K;�J�'���>'&/K?�K?&]
��
'�

�J
���
�<?

>!

�����O?��
<��>
'�/'&����>&??���
&'

�!�_
J
'�'���/


�/'&
]��?���
'��O���
�&'&

&
]�'

?��K
;�'��
�<K�'�
�'����/>�	��!
�!��''K/��'���/


�/'&
]��?���
'��'
��>
'�/'&���]>&??��J
&'���
J
'�'����/>�	�X!
�!��''K/��'���?
	�>�/


�/'&
]��?���
'��'
��>
'�/'&���]>&??��J
&'��K
;�'��
�<K�'�
��/>�	�[!
�!�_
J
'�'����/>�	�`�

�'����>
'�/'&���]>&??��J
&'��K
;�'��
�<K�'�
�'����/>�	�'
�<&
&���K����O?��	
>Q!

A

B

`
C

�����O?��
<�V'>J'��?���
'

�
�'K??K'&

��
<
>�K'&

 
Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-48



MGS(Steel)



Products Index 

Page 49-51Panels and posts

Page 62-65Locks Page 66-69

Page 52-61Doors

Accessories

Products Index
Modular
Assembly Technology

® 

MGSMASMASS SPS TFS
MGS

Panels and Posts

Locks

Page 49-51

Page 62-65

Doors

Page 52-61

Accessories

Page 66-69

Passed Intertek professional test, CE certified The standard panel has been certified by SGS test.

The mesh panels can withstand the maximum impact 
of 1600 joules.
The Salt Spray test (NSS) has reached more than 300 
hours and the appearance rate is 10.
The safety distance of the machine guard is 120mm.



Panels and posts
Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-49

Series

Series

Series

Series

Panels and posts



Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-50

Steel wire spacing：20x100mm
Steel wire diameter：3mm
Frame square tube：20x20mm
Connection hole：
Standard color：Black(RAL9005)
Accessories：2020Capx4

w

Steel mesh panels

Series Width W Product code Weight(kg) Series Width W Product code Weight(kg)

The product code is for one single piece, excluding any accessories.

RAL 9005 RAL 7037RAL 1018

RAL 3020RAL 9016 RAL 5005

Color selection

Panels and posts

5Delivery Working days

Please contact us for delivery 
time of non-standard products



Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-51

22
00

18
00

14
00

RAL 9005 RAL 7037RAL 1018

RAL 3020RAL 9016 RAL 5005

Color selection

RAL 9005 RAL 7037RAL 1018

RAL 3020RAL 9016 RAL 5005

Color selection

The product code is for one single piece, excluding any accessories.

Posts      40 series 

Square tube ：40x60mm
Base：160x120mm
Standard color：Yellow(RAL1018)
Suitable accessories:M10*80 expansion bolt x 3,
40 series post foot cover x 1, 4060 cap x 1

Height H Product code Weight(kg)

Posts      80 series 

Square tube：80x80mm
Base：200x200mm
Standard color：Yellow(RAL1018)
Suitable accessories:M10*80 expansion bolt x 4, 8080 cap x 1

The product code is for one single piece, excluding any accessories.

Height H Product code Weight(kg)

Panels and posts

5Delivery Working days

Please contact us for delivery 
time of non-standard products



Modular
Assembly Technology

®

Doors

Doors

MGSMASMASS SPS TFS
M-52



Modular
Assembly Technology

®

Doors

W

H

Single Hinged Door 

Opening angle=160°

Standard accessories: panel 1pc, hinge, door beam, door 
stop and related accessories

Optional accessories: ground latch, castor

Locks for option

Simple padlock Magnetic catch unit
Single door: 13 341 000 Single door: 13 331 000

Key lock
Left open: 13 311 100

Safe lock
Left open: 13 321 100

Right open: 13 311 200 Right open: 13 321 200

Height H Width 
W

Product code
 L

Product code
 R

Weight
 kg

MGSMASMASS SPS TFS
M-53

0

0

Weight
kg

5Delivery Working days

Please contact us for delivery 
time of non-standard products



Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-54

W

W

H

Double Hinged Door  

Opening angle=160°

Standard accessories: panel 2pcs, hinge, door beam,door 
stop and ground latch  

Optional accessories: castor

Height H Width W Product code Weight kg

Locks for option

Simple padlock Key lock
Double open door:
13 341 300

Double open door:
13 311 300

Safe lock
Double open door:
13 321 300

Doors

10Delivery Working days

Please contact us for delivery 
time of non-standard products



MGSMASMASS SPS TFS
M-55

H

W

W
0

15
0

Single sliding Door

Opening width W0=panel width W-100

Standard accessories: panel 1pc, upper rail and accessories,
lower rail and accessories, limit unit, pulley unit

Key lock

Locks for option

Simple padlock
Single door:13 342 000

Magnetic catch unit
Single door:13 332 000

Left open:13 312 100
Right open:13 312 200

Safe lock
Left open:13 321 100
Right open:13 321 200

Height H Width 
W

Product code
 L

Product code 
R

Weight 
kg

10Delivery Working days

Please contact us for delivery 
time of non-standard products

Modular
Assembly Technology

®

Doors



Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-56

Doors

H
15

0
15

0

W

W
0

W

15
0

W

W
0

W

Opening width W0=panel width W*2-200

Standard accessories: panel 2pcs, upper rail and accessories,lowerrail and 
accessories, limit unit, pulley unit

Double Sliding Door 

Height H Width W Product code Weight kg

Simple padlock
Double open door: 13 341 300

Magnetic catch unit
Double open door: 13 332 300

Key lock
Double open door: 13 312 300

Safe lock
Double open door: 13 321 300

Locks for option

10Delivery Working days

Please contact us for delivery 
time of non-standard products



Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-57

Doors

H

W

W
0

Opening width W0=panel width W*2+60

Standard accessories: panel 2pcs, hinge and accessories, 
door latch unit 1set,ground latch unit 1set, castor unit 2sets

Simple padlock
Single door: 13 341 000

Magnetic catch unit
Single door: 13 331 000

Key lock
Left open: 13 311 100
Right open: 13 311 200

Safe lock
Left open: 13 321 100
Right open: 13 321 200

Locks for option

Single Folding Door  Two leaves

Height H Width 
W

Weight 
kg

Product code
 L

Product code
 R

10Delivery Working days

Please contact us for delivery 
time of non-standard products



Modular
Assembly Technology

®

Doors

H

15
0

W

W
0

Single Folding Door   Three leaves

Locks for option

Simple padlock
Single door: 13 341 000

Magnetic catch unit
Single door: 13 331 000

Key lock
Left open: 13 311 100
Right open: 13 311 200

Safe lock
Left open: 13 321 100
Right open: 13 321 200

Opening width W0=panel width W*3+78

Standard accessories: panel 3pcs, hinge and accessories, 
door latch unit 2sets, ground latch unit 2sets,castor unit 3sets

Height H Width 
W

Weight 
kg

Product code 
L

Product code 
R

10Delivery Working days

Please contact us for delivery 
time of non-standard products

MGSMASMASS SPS TFS
M-58



Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-59

Doors

H

15
0

W

W
0

Bi-folding Door 

Opening width W0=panel width W*4+102

Standard accessories: panel 4pcs, hinge and accessories, door  latch unit 
2sets, ground latch unit 3sets, castor unit 4sets

Height H Width H Weight kgProduct code

Key lock

Locks for option

Simple padlock
Double open door: 13 341 300

Double open door: 13 311 300

Safe lock
Double open door: 13 321 300

10Delivery Working days

Please contact us for delivery 
time of non-standard products



Modular
Assembly Technology

®

Doors

H

15
0

W
0

W

Simple padlock
Single door: 13 342 000

Magnetic catch unit
Single door: 13 332 000

Key lock
Left open: 13 312 100
Right open: 13 312 200

Safe lock
Left open: 13 321 100
Right open: 13 321 200

Locks for option

Single Telescopic Door 

Height H Width 
W

Weight 
kg

Product code 
L

Product code 
R

Opening width W0=panel width W-30

Standard accessories: panel 1pc, sliding rail 1set and 
accessories, castor unit 1set . 

10Delivery Working days

Please contact us for delivery 
time of non-standard products

MGSMASMASS SPS TFS
M-60



Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-61

Doors

H
15

0

W

W
0

Product code Height H Width W Weight kg

Double Telescopic Door 

Opening width W0=panel width W*2-70

Standard accessories:panel 2pcs, sliding rail 2sets and accessories,
castor unit 2sets.

Locks for option

Simple padlock
Double open door: 13 341 300

Magnetic catch unit
Double open door: 13 332 300

Key lock
Double open door: 13 312 300

Safe lock
Double open door: 13 321 300

10Delivery Working days

Please contact us for delivery 
time of non-standard products



Modular
Assembly Technology

®

Locks

MGSMASMASS SPS TFS
M-62

Locks



Modular
Assembly Technology

®

Locks

MGSMASMASS SPS TFS
M-63

Magnetic catch unit

Figure for simple padlock

Figure for magnetic catch
unit for hinged door

Installation

Product name Product code Product code Product code

Single hinged 
door

Single sliding 
door Double door

The magnetic catch unit for hinged door is applicable on folding door.
The magnetic catch unit for sliding door is applicable on telescopic door.

Hinged door 
Folding door

Sliding door
Telescopic door

Double sliding door
Double telescopic door

It is not suggested to use magnetic catch unit for double open hinged 
door and double folding door.

Simple padlock

Single open door Double open door

Installation

Product name Product code Product code Product code

Single hinged 
door

Single sliding 
door Double door

The simple padlock for hinged door is applicable on folding door.

The simple padlock for sliding door is applicable on telescopic door. 

Simple padlock

Simple padlock 



Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-64

Locks

The figure shows right open 

The figure shows right open 

Key Lock  Hinged door

Key Lock  Sliding door

Installation

Single hinged door Double hinged door

R D

Product name Product code Product code Product code

L

The key lock for hinged door is applicable on folding door.
The key lock for double hinged door is applicable on double folding door. 

L is for left open, R is for right open, D is for double open.

Key lock for 
hinged door

Product code Product code

Installation

Product name Product code

The key lock for sliding door is applicable on telescopic door.
The key lock for double sliding door is applicable on double telescopic door.  

L is for left open, R is for right open, D is for double open.

Single silding door Double silding door

Key lock for 
sliding door

R DL



Modular
Assembly Technology

®

Locks

Safe lock with latch

The figure shows left open 

The figure shows left open 

Safe Lock  General type

Installation

Single hinged door Double hinged door

Safe switch for option

R D

Product name Product code Product code Product code

L

The safe lock with latch for hinged door is applicable on folding door.
The safe lock with latch for double hinged door is applicable on double 
folding door. 

L is for left open, R is for right open, D is for double open.

Omron EuchnerFortress Others

Safe lock 
with latch

Omron EuchnerFortress Others

R D

Product name Product code Product code Product code

L

L is for left open, R is for right open, D is for double open.

Safe switch for option

Please choose the product code of correct open method for order.

General safe 
lock

MGSMASMASS SPS TFS
M-65



Accessories
Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-66

Accessories



Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-67

Accessories

40 series post connector(straight connection)  40 series post connector(L connection)  

40 series post connector(T connection)  40 series post hinge connector

80 series post clamping connector40 series post clamping connector

Corner connector A  Angle connector



Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-68

Accessories

40 series post foot cover Edge strip

Right angle connector Door beam connector

Ground latch Door stop

Bracing Door handle



Modular
Assembly Technology

®

MGSMASMASS SPS TFS
M-69

Accessories

ST20 panel support base C

General hinge Castor unit A

Latch Upper rail of sliding door 

Lower sliding guide unit for sliding door 

Sliding rail of telescopic door Castor unit B



Modular
Assembly Technology

®

Proposal selection

Proposal selection

Set

PC

PC

PC

PC

PC

PC

PC

PC

Product Name Specifications Color QTY Unit

Set

Set

Set

Standard post

Standard mesh panel

Non-standard 
mesh panel

Single sliding door

General lock

4060 connector

Post foot cover

MGSMASMASS SPS TFS
M-70



Modular
Assembly Technology

®

Standard of machine guard

Standard of machine guard

0

a

b

c

H
eight of m

achine guard

  BSENISO13857-2008
Safety of machinery - Safety distances to prevent hazard zones being reached  by upper and lower limbs

Height of 
hazard zone a

Height of protective structure,b 

a Height of hazard zone   b Height of protective structure  c Horizontal safety distance to hazard zone

Horizontal safety distance to hazard zone,c

Reaching over protective structures -- High risk mm

Illustration Opening
Slot Square Round

Safety distance  Sr

Sr

e
e

Sr

Sr

e Sr

e

M
esh distance

Regular opening for persons of 14 years of age and above 

Part of body

Fingertip

Finger up to 
knuckle joint hand

Arm up to junction 
with shoulder

The dimension of the opening, e, corresponding to the side of a square opening, the diameter of a round opening and the 

distance can be reduced to 200mm.

MGSMASMASS SPS TFS
M-71



Modular
Assembly Technology

®

G
round clearance

i

1

2
3

h

i

1

23

h

i

1 2
3

h

Case 2Case 1 Case 3

Case 1 Case 2 Case 3

  BSENISO13857-2008
《Safety of machinery - Safety distances to prevent hazard zones being reached by upper and lower limbs》

Safety distances to prevent hazard zones being reached by lower limbs

1-reference plane 2-hip joint 3-protective 
structure

h-height up to protective structure i-distance 
for impedance

Height up to 
protective structure

Distance I

Note: Slot openings with e>180mm and square or round openings with e>240mm will allow access for the 
whole body.

MGSMASMASS SPS TFS
M-72

Standard of machine guard



Stair and Platform System
SPS

MAS TFSMGSMAS SPS



SPS

Stair and Platform System (SPS) is widely used for stairs connected to the machinery and 
equipment safety handrail. The assembly can be realized easily by simply fastening screws 
without any machine work (Patent product). The system is very easy and convenient to use.



Technical Data  
Modular
Assembly Technology

®

A B C E GFD

A Aluminum Tube  

B Step Profile  

C Strut profile  

For step Ladder or to build the platform with profile 
put in parallel.

For  frame and support of step and platform.���������	�
���
���������������������������
and guardrail.

�������

Page-11

Page 12

D Tube Connector  
To build the handrail and guardrail. Various 
connection for different demands.

Page 13-21 

MGSMASMASS SPS TFS
S-01



Technical Data  
Modular
Assembly Technology

®

H

E Stair Joint   

F Clamp  H Angle Plate  
For connection between step profiles and 
connection between step profile and frame profile.

For connection between step unit and platform unit.

For the connection between side base and frame 
���������	�	�����������������	������	�����

Page 22

G Side Base  
For fixation of handrail and guardrail.

Page 27

Page �
 Page 25

MGSMASMASS SPS TFS
S-02



The SPS is suitable for many indoor and outdoor applications from the simplest railings to complicated stairs and working platforms without any extra 
machining. Connection is realized effortlessly by simply tightening clamping screw. 

Stair and Platform System (SPS)

���	�����!	���	���	���!!�	����"���.

The guardrail is required where the platform height is more than 
#��������	������	�������!!�!�	�����������!�����.

The guardrail is required on at least one side of the step.

$�����!	�����
�	%����	%����!	!����&	�
�������	�����#����.

The vertical distance of  two guardrail����&	�
�������	����#�����
and the total height of the guardrail����&	�
����!!�	����������.

$���������������	�����	���'������*'��!�
�		���	��
��+#,�����.

The kick plate is optional to be installed at both sides of platform 
to avoid the falling of goods.

/��	�������!	�����
�	%����!	��!�����	������	�����#���.

The distance between steps in the same section should 
be the same. The distance between the first step and 
the ground level can be max. 15% less than the 
distance between other steps.

The net width of the step should be not less than 
4������$���!	�������%��	���!�"������$���%��	��
!������
��������!���	���������%������������
come across on the step.

The increasing height of each stair section should 

����	������	����6�����.

a is for the angle of the stair. The standard angle is 
�!�6��'�
#������4���

Modular
Assembly Technology

®

��
���

��
��

��8���#��

��8���#��

��8��#��

��8��#��

h
��

��
��

t

��8��#��

��8��#��

Safety Requirement of Stair and Platform

Safety Requirement of Guardrail

��
��

��
�

#�
��

�8
#�

��
�8

+#���,�����8

��
��

��

��
��

8

a°

Technical Data  

MGSMASMASS SPS TFS
S-03



Products Index
Modular
Assembly Technology

®

Products Index 

MGSMASMASS SPS TFS
S-04

Page 01-08Technical Data Page 09-12Aluminum Profile 

Page 22-33Accessories

Page 13-21Tube Connector

Aluminum T�
��9
�83 :	�����������
�8��� :	�����������
�8�#�

:	��	����������;
��

�8����"�!��	!

:	��	����������;
��

�8�4�����!��	!

V Connector L Connector

Angle Connector T Connector 
#<=�>�����	����?=��	@ 
#<=�>�����	����?K���	@ 
#<M�>�����	���?=��	@


#<M�>�����	����?Right) ��<=�>�����	�� 135°L Connector 
#<$�>�����	����?=��	@ 
#<$�>�����	����?K���	@

X Connector

������� Page 11 Page 11

:	�����������
�8�#�

Page 11 Page 12 Page 12

N��	�������������
�8���

Page ��

Stair Protection Profile

Page ��

Page �
 Page �


Page 15 Page 15 Page 16 Page 16 Page 17

Page 17 Page 18 Page 18 Page 19 Page 19

Page �� Page ��

��<$�>�����	��

Page 21

Cross Connector Stair Joint Tread

Page 22 Page 23

���������	��
�8�4�

Page 25

���������	��
�8���

Page 25

Round Base

Page 26

T Base

Page 26

Lock Adapter

Clamp

Page �


Hand Drive Support

Page 33

Castor-Heavy Duty

Page 33

Side Base

Page 27 Page 28

Base Angle

Page 32

Base Plate

Pivot Foot

Page 6�

Panel Block

Page 29

Page 31

Guardrail Hinge

Page 28



Technical Data
Modular
Assembly Technology

®

Composition of Step Unit
:���������Y��;
��
�8����������
�8�4����!	��	���������%�	��!	�������!��	!��Z	���	���!�%�	������
MAS accessories to realize the industrial requirement of max. modulization and flexible assembly
Step tread: Step profile with anti-skid lines, which avoid the potential skid due to the step. The step 
protection profile will be added at the inner front side of the step according to different safety 
requirements, which improves the safety level of the step and platform.

$���!	���������!�������^�������	��6��'�
#������4�������������	��!�������������!�������������	*����
climbing requirement. The width of step and the max. height of each section of stair differ as well. 
See P.age-23 for detail.

Step Unit 

MGSMASMASS SPS TFS
S-05



Technical Data
Modular
Assembly Technology

®

_������������	���`����������6���!	�����$���!	��������%!�	����!���	������
�	���!	����
without too much force, which is suitable for the area where people transfer the 
material or use the stair frequently.
Advantage: Minimum effort
Disadvantage: High cost, low space use rate, enough space is required for installation. 

������6���

$���4���!	���������j�!�	�����	�����!������!����	���Z	��!��������!���	����%����	���
installation space is limited or the stair isn`t used frequently.
Advantage: Low cost, high space use rate, suitable to be maintenance stair 
Disadvantage: Climb with difficulty

������4��

������
#� 
$���
#��!	������`����!���%���!	�
�	�%�	����������������������������!������!����	���
The equal angle makes beautiful industrial facility. The quantity of the step is 
suggested to be max. 18pcs to realize the best height.
Advantage: Beautiful, high performance, suitable for most of area
Disadvantage: Not the most economic, climb with difficulty

Product introduction

Minimum effort 

������6�� 

Low cost for good performance 

Angle�
#<�

Optimum space use rate 

Angle�4�<�

MGSMASMASS SPS TFS
S-06



Technical Data 
Modular
Assembly Technology

®

Composition of Platform Unit
:���������Y�:�����!�!	������	'��;
��
�6����������
�6�3����!	��	���������%�	��!	�������!��	!��Z	�
matches with all MAS accessories to build the platform in any dimensions.
���	����������Y������������#����!	�������%��	��!	����������!��$����������!�����
����6���%�	��	���
clamp to form the platform at any length and width. The anti-skid lines on the surface avoid the 
potential skid due to the step. The kick plate avoid the danger of object dropping and reduce the 
gap between the platform and handrail/guardrail, which increases the safety protection level for the 
people work on the platform.

Platform Unit 

MGSMASMASS SPS TFS
S-07



Technical Data
Modular
Assembly Technology

®

The platform floor is composed of step profile and aluminum clamp. The step profile 
is high strength aluminum which will form a compatible surface with the strut profile 
and the loading capacity will obviously improved. 

Loading capacity 

The combination of the step profile and strut profile increase the possibility of 
application. The system is compatible with most of MAS components which could 
expand system functionality.

Unlimited possibilities

Safety and reliability
The guardrail is structured by 8
�������������	�
���$�����!����������!���������
forms the continuous guardrail. The flat surface at the connection part of tube and 
connectors avoid the potential danger to the operator.

Product introduction

MGSMASMASS SPS TFS
S-08



Modular
Assembly Technology

®

Aluminum Profile

Selection Reference of Standard Unit

Tube and Extruded aluminum profile as per GB5237-2008, surface satin anodized.
Standard length of delivery profiles is 5800mm.

Aluminum T�������	3

To build the guardrail, ���

��
The design of closed frame effectively avoid the damage to the fingers.

To build the frame support of step and working platform.

�
��
�������������

Drilling Angle cutting Thread tappingMachining Symbol

MGSMASMASS SPS TFS
S-09

Step Profile

Footrail Profile

Step Protection Profile

To build the step ladder and working platform and be fixed by 
clamp to form the platform in any dimensions.

To avoid the object falling from the platform.

To be used in the inner front side of the step ladder to increase the 
safety level.



Modular
Assembly Technology

®

Description
Moment of 

Inertia
Moment of 

Inertia
 Iy(cm�)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

6.0 6.0 3.0 3.0 1.0 SPS.A������Aluminum Tube ���	�

�)Ix(cm

Aluminum T�������	3

���

���

Aluminum Profile

Description
Moment of 

Inertia
Moment of 

Inertia
 Iy(cm�)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

6.9 ����� 3.5 ���� 1.85 ���������������
���������������	���

�)Ix(cm

Footrail Profile���	���

120

121

15

10
.2�� 12

�

Step Protection Profile

80

1210

25���

10 153

17

2.5

Description
Moment of 

Inertia
Moment of 

Inertia
 Iy(cm�)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

0.7 ���� 1.2 6.1 1.2 �����������Step Protection Profile

�)Ix(cm

MGSMASMASS SPS TFS
S-10



Modular
Assembly Technology

®

Aluminum Profile

Description
Moment of 

Inertia
Moment of 

Inertia
 Iy(cm�)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

���� ��� 7.7 ���� 2.9 �������������
�!�����������	���

�)Ix(cm

Description
Moment of 

Inertia
Moment of 

Inertia
 Iy(cm�)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

13.2 128.6 6.6 25.7 ��� �������������
�!�����������	���

�)Ix(cm

�
�!�����������	���

80

100

��"#
�$

9.8��

130

150

��

��"#
�$

9.8

�
�!�����������	���

MGSMASMASS SPS TFS
S-11

Description Moment of 
Inertia

�)

Moment of 
Inertia

 Iy(cm�)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m)

Part No.

21.5 1201 10.7 96 ��� �������������
�!�����������	���
Ix(cm

�
�!�����������	���

�� 9.8

250

��"#
�$

30

230



Description
Moment of 

Inertia
Moment of 

Inertia
 Iy(cm�)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

���� �%��� 12.1 32.5 3.8 1.1���������������
��
�������������	������&��
&

�)Ix(cm

�
��
����������������	������&��
&

80
110
120

30��

5x5(M6) ���"#��$ 10.2

11
�

Description
Moment of 

Inertia
Moment of 

Inertia
 Iy(cm�)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

31.6 ����� 15.8 ���� ��� 1.1���������������
��
�������������	�������&��
&

�)Ix(cm

�
��
����������������	�������&��
&

��
120
150
160

30��

5x5(M6) ���"#��$ 10.2

11
�

Modular
Assembly Technology

®

Aluminum Profile

MGSMASMASS SPS TFS
S-12



Modular
Assembly Technology

®

Tube Connector

Tube Connectors use special internal locking system which connects the tubes by simply fastening screws without any extra machine work. 

Tube Connectors use special internal locking

Tube Connectors use special internal lockings

Tube Connector

MGSMASMASS SPS TFS
S-13



Tube Connector
Modular
Assembly Technology

®

45°

45

55

95

840

95

85

45

55

8
�85

Description Mass (g) Part No.

V Connector 550 SPS.JC40.V

Description Mass (g) Part No.

L Connector 518 SPS.JC40.L

V Connector

Material: diecast aluminum  polished finish surface

L Connector

Material: diecast aluminum  polished finish surface

MGSMASMASS SPS TFS
S-14



135° Connector 523 SPS.JC40.A135

150° Connector 525 SPS.JC40.A150

Description Mass (g)�<� Part No.

120° Connector 521

135° 

150° 

120° SPS.JC40.A120

85

85

45
55

8
�

Modular
Assembly Technology

®

�<�

8
�

45
55
85

Description Mass (g) Part No.

T Connector 728 SPS.JC40.T

Angle Connector

Material: diecast aluminum  polished finish surface

T Connector

Material: diecast aluminum  polished finish surface

Tube Connector

MGSMASMASS SPS TFS
S-15



Modular
Assembly Technology

®

45
55

95

95

45°

8
�

45°

8
�

95

4555

95

Description Mass (g) Part No.

45°L Connector (Left) 728 SPS.JC40.A45L.L

Description Mass (g) Part No.

45°L Connector (Right) 728 SPS.JC40.A45L.R

45°L Connector  (Left)

Material: diecast aluminum  polished finish surface

45°L Connector  (Right)

Material: diecast aluminum  polished finish surface

Tube Connector

MGSMASMASS SPS TFS
S-16



Modular
Assembly Technology

®

Description Mass (g) Part No.

45°Y Connector (Right) 801 SPS.JC40.A45Y.R

Description Mass (g) Part No.

45°Y Connector (Left) 801 SPS.JC40.A45Y.L

45
55

95
45°

8
�

95

45°

8
�

45
55

95

95

45°Y Connector (Left)

Material: diecast aluminum  polished finish surface

45°Y Connector  (Right)

Material: diecast aluminum  polished finish surface

Tube Connector

MGSMASMASS SPS TFS
S-17



Modular
Assembly Technology

®

Description Mass (g) Part No.

135°L Connector 814 SPS.JC40.A135L

135°

�
�

95

55

95

45

85

45
55

8
�85

90°L Connector

Material: diecast aluminum  polished finish surface

135°L Connector

Material: diecast aluminum  polished finish surface

Description Mass (g) Part No.

90°L Connector 723 SPS.JC40.A90L

Tube Connector 

MGSMASMASS SPS TFS
S-18



Modular
Assembly Technology

®

Description Mass (g) Part No.

45°T Connector (Left) 1037 SPS.JC40.A45T.L

Description Mass (g) Part No.

45°T Connector (Right) 1037 SPS.JC40.A45T.R

45°T Connector  (Left)

Material: diecast aluminum  polished finish surface

45°T Connector  (Right)

Material: diecast aluminum  polished finish surface

45
55

95

95

95

8
�

45 °

45
55

95

45°

95

95

8
�

Tube Connector

MGSMASMASS SPS TFS
S-19



Modular
Assembly Technology

®

45°

45
55

95

8
�

95

Description Mass (g) Part No.

X Connector 1012 SPS.JC40.X

Description Mass (g) Part No.

90°T Connector 934 SPS.JC40.A90T

4555
85

85

844�8

840

X Connector

Material: diecast aluminum  polished finish surface

90°T Connector

Material: diecast aluminum  polished finish surface

Tube Connector

MGSMASMASS SPS TFS
S-20



Modular
Assembly Technology

®

Description Mass (g) Part No.

Cross Connector 932 SPS.JC40.C

8585

45
55

8
�

Cross Connector

Material: diecast aluminum  polished finish surface

Tube Connector 

MGSMASMASS SPS TFS
S-21



Accessories

�<
�

L
88.5

40

8

M6 3

Modular
Assembly Technology

®

_�
�_"��

����������	�d
�������������
��	

_"6������	�
j�������	�������

N�!	������:�	HM
_"6�3����	���
j�������	����

_"�$���	
����������	��

N�!	������:�	GC

_36������	����
j�������	������

N�!	������:�	PE

:	��������	

$*����

$*����

$*���>

N���������	����
�	%����
�6����������
�6�3������������!	����������������	������������

_�	�����Y������!	���������������!��������!��!������

3xHM+3xGC+1xPE 1158 :�:�:�
��3�>�
����120
4xHM+4xGC+1xPE 1507 :�:�:�
��3�>160

3�<�:	��������	-$*���>

60< 3xHM+1xPE 912 :�:�:�
��3���
����120
4xHM+1xPE 1370 :�:�:�
��3��160

3�<�:	��������	-$*����

6xHM+1xPE 1005 :�:�:�
��3���
����120
8xHM+1xPE 1495 :�:�:�
��3��160

3�<�:	��������	-$*����

3xHM+3xGC+1xPE 860 :�:�:�
��
#>�
����120
4xHM+4xGC+1xPE 1068 :�:�:�
��
#>160


#<�:	��������	-$*���>

45< 3xHM+1xPE 785 :�:�:�
��
#��
����120
4xHM+1xPE 932 :�:�:�
��
#�160


#<�:	��������	-$*����

6xHM+1xPE 878 :�:�:�
��
#��
����120
8xHM+1xPE ��

� :�:�:�
��
#�160


#<�:	��������	-$*����

3xHM+3xGC+1xPE 785 :�:�:�
��4�>�
����120
4xHM+4xGC+1xPE 1147 :�:�:�
��4�>160

4�<�:	��������	-$*���>

30< 3xHM+1xPE 710 :�:�:�
��4���
����120
4xHM+1xPE 1010 :�:�:�
��4��160

4�<�:	��������	-$*����

�N�!	������:�	 _�!!�?�@�<� ���	����

6xHM+1xPE 803 :�:�:�
��4���
����

��!����	��� L
?��@
120

8xHM+1xPE 1135 :�:�:�
��4��160
4�<�:	��������	-$*����

�

C

A

MGSMASMASS SPS TFS
S-22



Modular
Assembly Technology

®

:	���=�����

Accessories

�6Y��:�:�:=�#��
��3��������
=�������

���	������

������4���

������
#�

������3���

W
=?3���������@

L-1040

:	���=����� ���������=����� :	��	�������� _�!!�?�@W
?��@

40x120

40x160

40x120

40x160

40x120

40x160

250

300

200

800

250

150

200

4727

5188

4183

4727

2570

4183

:�:�:=�#��
����

:�:�:=4���
��3�

:�:�:=����
����

:�:�:=�#��
��3�

:�:�:=�#��
����

:�:�:=����
��3�

L
?��@ ���	����

>�	������
�x����������
�x�#����!	����������!'�%�	����	��!���
�����!�����	��
����6���
*��������

_�	�����Y���������

��	�Y�������������!�	�?����������	��������!�������!	����!@.

����$�������	��������
����!	���j�������������	����!	����&!���`�������	�?3��,������@

MGSMASMASS SPS TFS
S-23



>����

20

38

8"�#

38

Modular
Assembly Technology

®

��!����	��� N�!	������:�	 _�!!�?�@ ���	����

1xPD+1xHQ _3�:��������!������
j�������	��

_36
�����	���
j�������	������

N�!	������:�	PD

_"�:��������!������
j�������	��

_"�$���	
����������	��

_"64�����	��
j�������	������

N�!	������:�	HQ

>�����$*���� 70 :�:�>=
���

>�����$*���> 1xPD 68.5 :�:�>=
��>

��!����	��� N�!	������:�	 _�!!�?�@ ���	����

>�����$*���� 52 :�:�>=
���
_"�:��������!������
j�������	��

_"�$���	
����������	��

_"64�����	��
j�������	������

N�!	������:�	HQ

1xHQ

Accessories

>�����$*����

>�����$*�����> $*����

$*����

$*���>

38

19

20

8"�#

N���������	����
�	%����!	����������!�	��
�����	������	�����%�	���������!���	�
������������?:����!	�	����!	�����^��*�4����@�

_�	�����Y���������

MGSMASMASS SPS TFS
S-24



Modular
Assembly Technology

®

Accessories

���������	��
�6���

_"6�3����	��
j�������	������

_"�:��������!������
j�������	��
_"���!�����
�j�������	��
_"�$���	
����������	��

N�!	������:�	;�

��!����	��� N�!	������:�	 _�!!�?�@ ���	����

���������	��
�6��� 6x;� 504 :�:���
�����

N���	���������	����
�	%����������������������������������

�6�������	�	�����������������	������	�����

_�	����������>����Y���������'���	���������j��

���������	�-40x160

_"6�3����	��
j�������	������

_"�:��������!������
j�������	��
_"���!�����
�j�������	��
_"�$���	
����������	��

N�!	������:�	;�

��!����	��� N�!	������:�	 _�!!�?�@ ���	����

���������	�-40160 8x;� 920 :�:���
���3�

��<

68

2-M8

40 8012
0

20

4

15
6

�"�#

N���	���������	����
�	%����������������������������������

�6�3�����	�	�����������������	������	����

_�	����������>����Y���������'���	���������j��

11
6 "�
�

20�"�#

"�
�

��_"�

4

68

��<

MGSMASMASS SPS TFS
S-25



85

8
�
8##

8�808���

45
4�8"�#

Modular
Assembly Technology

®

K�������!�

$���!�

N�����6�	��������������������������������	������	����'�
����������%����

_�	�����Y������!	���������������!��������!��!������

85

8
�
8##

8"�8���

45

��8"�#

_"�:��������!������
j�������	��

_"6������	
j�������	��

N�!	������:�	>$

_"�:��������!������
j�������	��

_"6������	
j�������	��

N�!	������:�	>$

��!����	��� N�!	������:�	 _�!!�?�@ ���	����

K�������!� 3x>$ 635 :�:���
��K

��!����	��� N�!	������:�	 _�!!�?�@ ���	����

$���!� 2x>$ 491 :�:���
��$

Accessories

N�����6�	��������������������������������	������	����'�
����������%����

_�	�����Y������!	���������������!��������!��!������

MGSMASMASS SPS TFS
S-26



Modular
Assembly Technology

®

:������!�

8
�
55

90
23

18
39

18
5

8.5

45

25

��!����	��� N�!	������:�	 _�!!�?�@ ���	����

:������!����?%�	��	���	�����@ 2xCR 781 :�:����:

:������!����?%�	��	���	�����@ 2xHQ 813 :�:����:�:$

_"�:��������!�����
j�������	��

_"64�����	����
j�������	������

N�!	������:�	CR

_"�:��������!������
j�������	��

_"�$���	
����������	��

_"64�����	��
j�������	������

N�!	������:�	HQ

Accessories

A

�

N�����6�	��������������������������������	������	�����������

_�	�����Y������!	���������������!��������!��!������

MGSMASMASS SPS TFS
S-27



_�	�����Y����������������j��

��!����	��� N�!	������:�	 _�!!�?�@ ���	����

;�������������� 4x;� 458 :�:�;�
�

;��������������

_"6#�����	

_"���6�������	

j�������	��

N�!	������:�	;�

j�������	��

_"�:��������!���
j�������	��

Modular
Assembly Technology

®

Accessories

=��������	��

_�	�����Y�3�34�$#�������j���?��		����������	������j��@

Lock�?��!@ 690 7.31

��!����	��� N�!	������:�	 _�!!�?�@ ���	����

=��������	�� 2xEF 107 :�:�=�
�

45
5

25

�
�

40

"�
�

61

R2
0

���3�#

15
25

_36##����	��
j�������	������

_3�:��������!������
j�������	��

_3���!�����
�j�������	��

N�!	������:�	EF

��	�YZ���������!���������	!�
.

10
045

84
42

20 28


��"�#


���


R20

MGSMASMASS SPS TFS
S-28



Modular
Assembly Technology

®

Accessor��!�

���x��
x�
���%�!���
��

��

N�!	������:�	ER �: �$

�����������

$���������
������!��!���	���		����	���������%�	��
���"���
	������!!�	��	���	�
�'�%������!�%�	�������������	����!	����	���

_�	����������������Y����:��
��������		���!

35

43

18.5

7.5

8

'�#'�3'�"

68

33

R20

25

��	�Y$���������
���������
�����*��!���������!��!	���	����

��	�Y
�������������	��
��������������
��������$���������
������!���6������	��������%�	��!����	�������!���%��

��	�Y$�����!	�������
�	%����	���������
����������������!�����
�����������������Z	��!�!����!	���	��	�
	�����!	�����
�	%����������
����!��!�
�����	����!����	�����!	����	����!	����	��

��	�YZ�!	����	���������������
�������
#���������

��	�YZ�!	����	���������������"���������

��	�YZ�!	����	���������������3���������
:$4�#x16����	
!	�����!!�!	���

N�!	������:�	

:$
�"x19����	
!	�����!!�!	���

N�!	������:�	 EO

=���	�
����
��:

N�!	������:�	

�

15




15

����������� 33 :�:�$�
������:

��!����	��� N�!	������:�	 _�!!�?�@ ���	����

����������� 2xER+2x�:+1x�$

2xER+2x�:+1x�$+1xEO

32 :�:�$�
����

:$4�#x16 :$
�"x19

MGSMASMASS SPS TFS
S-29



Modular
Assembly Technology

®

��!�����	�

$��!�����	�!	��	����������	�	���
�		�����6���!����
��	!�
����������	�������������������������!	�
���	*�

_�	����������!�������	���	���	Y���!	�!	���'�
���������	�������!�!

10.5 A

19
9

50 10
8

� C
D E

L


6��4

�
D

C
E

L

40x40 80x8040x80

��!����	��� L
?��@

A
?��@

�
?��@

C
?��@

D
?��@

E
?��@ N�!	������:�	 _�!!�

?�@ ���	����

��!�����	��
�"��?��!@

126 40 20 60 40 80

1930 5.11.4080

4xC+3xAA+2xAZ

2xAZ

2240 5.1��
�"��:$A

6xC+3xAA+2xAZ 2290 5.1��
�"��:$�

8xC+3xAA+2xAZ 2340

9

5.1��
�"��:$>

5.11.01

_��6�����6���!����
��	
j�������	��

N�!	������:�	AA
_"�N��������	
j�������	��

_"6�#�$����	
����������	��

N�!	������:�	C

��!�����	��
�"��?!�	��@

��!�����	��
�"��?!�	��@

��!�����	��
�"��?!�	�>@

��!�����	��;�!��	

Accessories

A

��!�����	��;�!��	

$������!	�	�������������^��	��������������������^����������

A

40

40

13

R7

1

N�!	������:�	AZ

��!�����	����!���
j�������	�d

A

MGSMASMASS SPS TFS
S-30



Modular
Assembly Technology

®

��^�	�N��	

$��!�����	�!	���	����%������������������	�����!	���	��!�������'�	�����^�	����	���!���
!�����!%�^������������	����	�!����	�*����^����������$���������	����
�	%����	�����^�	�
�!��
����	���!�����������
�������!���%�	����	����

_�	�����Y�j�������	���!	����!	�����!!�!	���

��

��
���

L

K

+2.5<-2.5<

��
�6

.

60

80

��!����	��� �����
�?��@

KxL�����
�?��@

������
?��@

����6�
?��@

_�6��:	�	���=���
?�@

_�!!�
?�@ ���	����

��^�	�N��	���������	��:	���

M16x158 45 120 20000 596 5.24.60.16.160
60

M20x178 50 130 25000 796 5.24.60.20.180
M16x158 45 120 20000 780 5.24.80.16.160

80
M20x178 50 130 25000 945 5.24.80.20.180

��^�	�N��	�:	�����!!�:	���

M16x158 45 120 20000 600 #��
�3���3��3��::
M20x178 50 130 25000 803 #��
�3������"��::
M16x158 45 120 20000 785 #��
�"���3��3��::
M20x178 50 130 25000 950 #��
�"������"��::

Accessories

MGSMASMASS SPS TFS
S-31



70
170

80

[
-=
38

[�>

40
80

3

Modular
Assembly Technology

®

�� ��(�!��

$���+���X�� �������'��,� ���
����� ����������'���X����!�,���-

��������/� ����K����
�����
�������� � 

B� 
������� �� �����!�"�� ��  
�?!@ 7����%�-

�� ��(�!��FD�,��?�
 @� 346 5.51.L

�� ��(�!��FD�,��? ��@�� 2xC+1xAA 473 =-=�-D-"$

�� ��(�!��F\�!���?�
 @� 346 5.51.R

�� ��(�!��F\�!���? ��@�� 2xC+1xAA 473 =-=�-\-"$

�� ��(�!��FDm\�?����@� 692 5.51.P

�� ��(�!��FDm\�? ��@�� 4xC+2xAA 946 5.51.P-"$

������������� ��������
���
������d

�� �����!�"��AA

�
�����!��%��
���
�������

�
����$�����
��
����������

�� �����!�"��C

Accessories

MGSMASMASS SPS TFS
S-32



Modular
Assembly Technology

®

Accessories

MGSMASMASS SPS TFS
S-33

)� ���F^��X'�B��'

�������!�� 
��������,��Q�����+�X��*�����!� ���������*������!�������
���
��'.

��������/�*�����F�7n���� ��F����
�������� �����

R

H

[B

115

10
0

76

67 76

92

11

D R H

125 139 164

150 143 190
)� ���F^��X'�B��'

3500 2.94 "7"-)^��-�=�

B� 
������� U�����U����
 ?++@

D���
�?%@

��  
�?�!@

45
2900 2.64

7����%�-

"7"-)^��-��=

^����B��X��"������

�������!�� 
��������,��+�����+�X�����*�����!� �����,�����h� �+�����,����!�������*����
��!�������
���
��'-

��������/����
�������� �����

[���

12

M24

54

27
4 35

2

63

120
160

16
0

20
0


F[Z

B� 
������� ��� �����!�"�� ��  �
�?�!@ 7����%�-

^����B��X��"������ 6x& 5.35 "7"-^B��

�
��=�����
���
��������

�
�U� ���
���
��������
�
�$�%��
��
�����������

�� �����!�"�� &

�
�"����!�U� ���
���
��������



Modular
Assembly Technology

®

Accessories

MGSMASMASS SPS TFS
S-34

D��!����,�����,��+�?++@�

U������,�����,��+�?++@�

n �����*������,� ����?++@�

D����
���
��'��,� ����?�!@�

>�� #���=�

>��

�=� #��

^���������,� �������������,��+/�

���

���

��>

"���������7���,��+� ����!��"���� �

���

���

��>

���

���

��>

)�+���'� )����
��

(����  � B�����+����

$���� ���� a+����

B���� 7�!��

M D V

"�������������,��+� ' ��+�� �+����'�
�+�� ����,�� �������,��� �����,���������������� �����*��!���
�+������+��������� �!�-�`��� �
�+��������*��������

�+������ �,��+���������(  �+��'�"' ��+ ���������� �,���������'K����������
�� ��,��>��K�45������60�������X����������� ��� ,������,,��������Q�� �-�

 ����*����

��!��
��,���


�����
���

���!���
�,�

����,��+ ^�
�!�

���
,��

���
,��

+

\�
�++������X����� ������������*����>��F#���++�

\�
�++������X����� ������������*����=��F>���++�

\�
�++������X����� ������������*����#��F��
�++

\�
�++������X����� ���������*������=��!�

�� �
���
���
���������,�����,��+/��

Inquiry List of SPS



Tubular Framing System
TFS

MAS SPSMGSMAS TFS



TFS

Tubular Framing System (TFS) is a flexible modular system composed of special profile tubes 
and accessories to build a diverse range of flow racks and material shuttles. TFS is simple and 
quick to use, also low cost.



Modular
Assembly Technology

Tubular Framing System

The TFS is widely used in factories, warehouses and especially assembling process 
of household, automobile, light industry and electronics industries. It is an essential 
tool for logistics integrations.

Applications

Features
1.Simple
The TFS applies the simplest concept of industrial production. There is no need to worry about the completely precise data or the structural rules except for the 
loads. 
2. Flexible
The TFS can be put together easily as your need dedicate and can be improved and expanded at any time.
3. Flexibility
The freedom and flexibility of a tubing system coupled with the standard accessories result in an easy upgrade to adapt continuous improvement of production 
technology.
4. Reusable
The components of TFS are reusable – when the life cycle of a product or a process finishes, the original components can be converted to a new structure.

Tubular Framing System (TFS) is a flexible modular system composed of profile tubes and correspondig accessories to build a diverse range of possible flow racks, 
material shuttles, workstations and any other frame systems. Simple handling is the key feature of TFS and delivers maximum cost efficiency.

Tubular Framing System

process
ssential 

T-01
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Products Index

Products Index 

Tube D28 Profile Tube D28 Double Profile Tube D28 Profile Tube D28 10slots SW Profile Tube D28

DW Profile Tube D28 L Outer Connector D28 90° Outer Connector D28 45° Outer Connector D28 0-80° Outer Connector D28

90° Outer Connector for 
Double Profile Tube D28 

L Inner Connector D28 90° Inner Connector D28 45° Inner Connector D28 0-80° Inner Connector D28

Linear Inner Connector 
D28

Cross Connector D28 45° Bracing Strut D28 Parallel  Connector A D28 Parallel  Connector B D28

Parallel Adapter D28  Single Adapter D28 L Anti-Torsion Block T Base D28 Profile Adapter

Tube Adapter Slide Adapter D28 Cap Slide Strip Anti-Torsion Block

Threaded Insert Pivot Foot Fixed Foot Castor with Thread Castor with Plate

Page 04 Page 04 Page 05 Page 05 Page 06 

Page 06 Page 09 Page 10 Page 11 Page 12

Page 13 Page 14 Page 15 Page 16 Page 17

Page 18 Page 19 Page 20 Page 21 Page 22 

Page 23 Page 24 Page 25 Page 26 Page 27

Page 28 Page 29 Page 30 Page 30 Page 31 

Page 32 Page 32 Page 33 Page 33 Page 34

Page 35

Panel Adapter A Flow Roller Track High Rail Holder Flat Rail Holder

Bilateral Flat Rail Holder Cross Rail Holder Multi-angle Rail Holder Roller Track Brake Flanged Profile A 

Page 38 Page 39 Page 39

Page 40 Page 40 Page 41 Page 41 Page 42

Flanged Profile B

Page 42 Page 43

Page 36

Panel Adapter B

Page03-06Profile Tube Page07-08Technical Data Page09-29Connector

Page30-31Joint Accessories Page32-34Floor Elements Page35-36Panel Accessories

Page37-42Additional Accessories Page43-45Application

Suspension Profile 

T-02
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Profile Tube

SW Profile Tube D28

DW Profile Tube D28

Double Profile Tube D28

Profile Tube D28 10slots

Profile Tube D28 

Tube D28 

Tube D28 is suitable for connecting outer connector or tube 
connector,  and tube adapter is required to connect with other tubes,
Refer to Page 28 in this catalgue for more details.

��8

��4

��5

��5
��8

��9��3

TFS Profile Tube applies standard tolerance of GB 5237-2008, the surface treatment is satin anodized. Standard length of delivery profiles is 5800mm.

Profile Tube

T

P

T-03
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Description
Moment of Moment of 

Inertia
 Iy(cm4)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

1.6 1.6 1.03 1.03 0.48 TFS.D28.1

��5
��8

��9��3

��8

��4

��5

Profile Tube  D28 

Profile Tube

Inertia
4)Ix(cm

Profile Tube D28

Tube D28

Description
Moment of 

Inertia
Moment of 

Inertia
 Iy(cm4)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

Tube  D28 1.3 1.3 0.9 0.9 0.36 TFS.D28

4)Ix(cm

MGSMASMASS SPS TFS
T-04



Modular
Assembly Technology

®

Description
Moment of 

Inertia
Moment of 

Inertia
 Iy(cm4)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

1.1 1.9 0.8 1.3 0.68 TFS.D28.1.10

10.2

23

125

Description
Moment of 

Inertia
Moment of 

Inertia
 Iy(cm4)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

14.97 2.67 4.6 1.9 1.15 TFS.D28.1.D

65 237

Double Profile Tube D28

Profile Tube D28 10slots

Profile Tube

4)Ix(cm

4)Ix(cm

Double Profile Tube D28

Profile Tube D28 10slots

Profile Tube D28 10slots is mainly used for connecting panel or 
castor with plate, and it can only be connected by outer connector

T-05
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Description
Moment of 

Inertia
Moment of 

Inertia
 Iy(cm4)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

5.7 2.95 3.1 1.24 0.86 TFS.D28.1.SW

Description
Moment of 

Inertia
Moment of 

Inertia
 Iy(cm4)

Moment of
Resistance
  Wx(cm3)

Moment of 
Resistance

Wy(cm3)

Mass
(kg/m) Part No.

3.35 2.95 1.2 1.18 0.79 TFS.D28.1.DW

����23 ��9

50

30
.5

1.9

��8
��5

��3����

37

47.5
35

1.9

8.2

5.8 2.2

SW Profile Tube D28

DW Profile Tube D28

Profile Tube

4)Ix(cm

4)Ix(cm

SW Profile Tube D28

SW Profile Tube D28 is mainly used for suspending material box 
which can only be connected by inner connector.

SW Profile Tube D28 is mainly used for suspending material box 
which can only be connected by inner connector.

DW Profile Tube D28

MGSMASMASS SPS TFS
T-06



Modular
Assembly Technology

®

Dimension Calculation

Connector

Profile Tube D28 can be put together easily by different connector for different angles. 

Technical Data

Connectors can be divided by the way of installation into outer connectors and inner connectors.

Installation Mode

Installation for Outer Connector

Material: PA6 

Anti-Torsion Block

Installation for Inner Connector

rotcennoC rennI fo noitallatsnIrotcennoC retuO fo noitallatsnI

Anti-Torsion Block need to be ordered separately, refer to Page 31.

T-07
MGSMASMASS SPS TFS

100

20.5

100

67.5



Tubular Framing System (Profile Tube D28)

Bearing Capacity

Bearing capacity of connector:

System Comparison 

  750  1000   1250   1500   L(mm)

F

1500

q(N/m)
F(N)

q

1000

  500

Modular
Assembly Technology

®

Technical Data

9kg

18kg

180kg 40min

320kg 60min

Mass Load Capacity Assembly time

$$$

$$$$

PriceDescription

Tubular Framing System (Profile Tube D28)

Modular Assembly System (PG30 30x30)

q

96
0

1000 600 

MGSMASMASS SPS TFS
T-08

a

q

F

96
0

1000 600

q



Modular
Assembly Technology

®

Connector

M6x25 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDA

zinc plated

M6 Spring Washer
zinc plated

L Outer Connector D28

Material: Diecast Aluminum

1XDA             2X 

Description Fastening Set Anti-Torsion Block Mass (g) Part No.

L Outer Connector D28 117 TFS.D28.2.01.01

M=9Nm

22
50.4

22

50
.4

28.4

��
�

��



Fy

M

Fy=1100N
M=50Nm

a

L = a - 57

T P

T-09
MGSMASMASS SPS TFS



1XDA             1X 

Description Fastening Set Anti-Torsion Block Mass (g) Part No.

90° Outer Connector D28 61 TFS.D28.2.01.02

Modular
Assembly Technology

®

Connector

M6x25 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDA

zinc plated

M6 Spring Washer
zinc plated

M=9Nm

90° Outer Connector D28

Material: Diecast Aluminum
T P

a

L=a-64

Fy

Mx
Fx=1100N
Fy=1100N
Mx=30Nm

Fx

Mz Mz=20Nm

54

45

22

MGSMASMASS SPS TFS
T-10



Modular
Assembly Technology

®

Connector

M6x25 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDA

zinc plated

M6 Spring Washer
zinc plated

45° Outer Connector D28

Material: Diecast Aluminum

1XDA             1X 

Description Fastening Set Anti-Torsion Block Mass (g) Part No.

45° Outer Connector D28 64 TFS.D28.2.01.03

M=9Nm

34

T P

Fy

Fy=1100N

a

45º

L= 
  2 

a-5
1.7

a

45º

  L=
   2

 a-6
0.2

 45°
4

53

22

T-11
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Connector

M6x25 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDA

zinc plated

M6 Spring Washer
zinc plated

0-80° Outer Connector D28

Material: Diecast Aluminum

2XDA             1X 

Description Fastening Set Anti-Torsion Block Mass (g) Part No.

0-80° Outer Connector D28 145 TFS.D28.2.01.04

M=9Nm

Fy=1100N

T P

Fy

a

a

a

0-
80

°
0-

80
°

97

47

89

34

22

T-12
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Connector

M6x25 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDA

zinc plated

M6 Spring Washer
zinc plated

90° Outer Connector for Double Profile Tube D28

Material: Diecast Aluminum

1XDA

Description Fastening Set Mass (g) Part No.

90° Outer Connector for Double Profile Tube D28 �
�	" TFS.D28.2.01.05

M=9Nm

46

��

7165

55

��
8

�


M

Fy

Fx

L = a - 64

a

Fx=1600N
Fy=1600N
Mx=40Nm

Mz Mz=20Nm

q

F

  750  1000   1250   1500   L(mm)

F
1500

2000

q(N/m)F(N)

q

1000

  500

T P

T-13
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Connector

L Inner Connector D28

Material: Diecast Aluminum

2XDG

Description Fastening Set Mass (g) Part No.

L Inner Connector D28 117.5 TFS.D28.2.02.01

M=8Nm

50

20

20
50

��
�

��

44

M8x12 Set Screw
stainless steel

Fastening SetDG

Fy

M 

Fy=500N
M=8Nm

a

L = a - 60

P

MGSMASMASS SPS TFS
T-14



a

L = a - 60

Modular
Assembly Technology

®

Connector

90° Inner Connector D28

Material: Diecast Aluminum

1XDB

Description Fastening Set Mass (g) Part No.

90° Inner Connector D28 48 TFS.D28.2.02.02

M6x20 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDB

zinc plated

M6 Spring Washer
zinc plated

Fy

Mx

Fx

Mz Mz=15Nm

Fx=500N
Fy=1100N
Mx=20Nm

P

T-15
MGSMASMASS SPS TFS

41

20
50

M=9Nm



Modular
Assembly Technology

®

Connector

45° Inner Connector D28

Material: Diecast Aluminum

1XDB

Description Fastening Set Mass (g) Part No.

45° Inner Connector D28 45 TFS.D28.2.02.03

M6x20 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDB

zinc plated

M6 Spring Washer
zinc plated

M=9Nm

Fy=1100N

45º

Fy

L= 
  2 

a-4
6.1

P

a

28

46

20

28

T-16
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Connector

0-80° Inner Connector D28

Material: Diecast Aluminum

2XDB

Description Fastening Set Mass (g) Part No.

0-80° Inner Connector D28 108 TFS.D28.2.02.04

M6x20 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDB

zinc plated

M6 Spring Washer
zinc plated

Fy

Fy=1100N

P

a
75.5

47.1

0-
80

°
0-

80
°

a

M=9Nm

86.5

20

T-17
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Connector

Linear Inner Connector D28

Material: Diecast Aluminum

M=8Nm

1XDG

Description Fastening Set Mass (g) Part No.

Linear Inner Connector D28 42 TFS.D28.2.02.05

��
�

60

10

M8x12 Set Screw
stainless steel

Fastening SetDG

M

Fx=500N
M=15Nm

Fx

a

P

MGSMASMASS SPS TFS
T-18



Modular
Assembly Technology

®

Connector

Cross Connector D28

Material: Diecast Aluminum

M=9Nm

1XDH

Description Fastening Set Mass (g) Part No.

Cross Connector D28 
� ���	���	�	��	��

25 15 
�

28

28

��
�

�%����&'*+

M6 Hexagon Nut

zinc plated

Fastening SetDH

zinc plated

M6 Spring Washer
zinc plated

Fy=1100N
Mx=20Nm
Mz=10Nm

Mx

Mz

Fy

T P

T-19
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Connector

45° Bracing Strut D28

Material: Diecast Aluminum

2XDB

Description Fastening Set Mass (g) Part No.

45° Bracing Strut D28 178 TFS.D28.2.03.02

M=9Nm

M6x20 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDB

zinc plated

M6 Spring Washer
zinc plated

  750  1000   1250   1500   L(mm)

F1500

2000

q(N/m)F(N)

q

1000

  500

T P

28
81

76
.5

81

76.5
a

q

F

M

M=80Nm

T-20
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Connector

Parallel Connector A D28

Material: Aluminum

1XDF

Description Fastening Set Mass (g) Part No.

Parallel Connector A D28 22 ���	���	�	��	��

Fastening Set

M6x16 Bolt
zinc plated

DF

71

�

��
�

28

M=9Nm

a

q

F

400 Fx=1500N
Fy=1500N

Fy

Fx

  750  1000   1250   1500   L(mm)

F
1500

2000

q(N/m)F(N)

q

1000

  500

Load capacity increased by 150%.

T P

T-21
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Connector

Parallel Connector B D28

Material: Diecast Aluminum

2XDC

Description Fastening Set Mass (g) Part No.

Parallel Connector B D28 113 TFS.D28.2.03.04

M=9Nm

M6x16 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDC

zinc plated

M6 Spring Washer
zinc plated

Load capacity increased by 150%.
  750  1000   1250   1500   L(mm)

F
1500

2000

q(N/m)F(N)

q

1000

  500

T P

F

400

a

q

Fx

Fy

Fx=1500N
Fy=1500N

28

72

100

128

T-22
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Connector

Parallel Adapter D28  

Material: Diecast Aluminum

1XDA

Description Fastening Set Mass (g) Part No.

Parallel Adapter D28  67.5 ���	���	�	��	�"

���

9

��

��
��

59.5

M=9Nm

M6x25 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDA

zinc plated

M6 Spring Washer
zinc plated

a

q

F

400

Fx

Fy

Fx=1500N
Fy=1500N

Load capacity increased by 150%.

  750  1000   1250   1500   L(mm)

F
1500

2000

q(N/m)F(N)

q

1000

  500

P

T-23
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Connector

Single Adapter D28

Material: Diecast Aluminum

1XDC

Description Fastening Set Mass (g) Part No.

Single Adapter D28 60.5 ���	���	�	��	�%

��
	


��

���

��

"�


� �
�����

M6x16 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDC

zinc plated

M6 Spring Washer
zinc plated

M=9Nm

a

q

F

400

Fx

Fy

Fx=1500N
Fy=1500N

Load capacity increased by 150%.

  750  1000   1250   1500   L(mm)

F
1500

2000

q(N/m)F(N)

q

1000

  500

T P

MGSMASMASS SPS TFS
T-24



Modular
Assembly Technology

®

Connector

L Anti-Torsion Block

Material: Diecast Aluminum

55

14
��

�
��

	"
21

.5


�	"

���

22

70
 

15

15

M12
70 

22

M6x25 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDA

zinc plated

M6 Spring Washer
zinc plated

M12 Hexagon Nut

Fastening SetEO

zinc plated

M12 Spring Washer
zinc plated

Description Fastening Set Mass (g) Part No.

L Anti-Torsion Block 1XDA+1XEO 270 TFS.D28.5.02.01

M=9Nm

P

T-25
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Connector

T Base D28

Material: Diecast Aluminum

��


PG

���%	%

75

56


�

��

��
6

M6x20 Bolt

M6 Hexagon Nut

zinc plated

Fastening SetDB

zinc plated

M6 Spring Washer
zinc plated

Description PG Fastening Set Mass (g) Part No.

���	���	"	��	��1XDB 72T Base D28

���	���	"	��	��1XDB+2XFF�� 85T Base D28-8

���	���	"	��	��1XDB+2XDL40/45/50/60 95T Base D28-10

M=9Nm

8.2
2.2

10.2
4.0

10.2
6.0T P

M6x12 Bolt
zinc plated

Fastening Set FF

M6 T Nut
nickel plated

M6x16 Bolt
zinc plated

Fastening Set DL

M6 T Nut
nickel plated

MGSMASMASS SPS TFS
T-26



Modular
Assembly Technology

®

Profile Adapter

Material: Diecast Aluminum

Description Fastening Set Mass (g) Part No.

Profile Adapter 1XCP 27 TFS.D28.8.03.01

CP
M6x12 Bolt
zinc plated

M6 T Nut
nickel plated

Fastening Set 

M=10Nm

10.2
4.0

10.2
6.0

11
50

.5

10

2.5
11

R14

24

34

R1.5

a

L = a - 56

Fy
Fy=1100N

T-27
MGSMASMASS SPS TFS

Connector



Description Mass (g) Part No.

Tube Adapter ��	� ���	���	�	��	��

Fy

Mz

Fy=1100N
Mz=15Nm

Modular
Assembly Technology

®

Connector 

Tube Adapter

Material: Aluminum

M=9Nm

��
�

�"

���

22

58

T

MGSMASMASS SPS TFS
T-28



Modular
Assembly Technology

®

Connector

Slide Adapter D28

Material and Color:�>?�@+KQ�&'?U�>*V���V�����>?�@+KQ�&V�Y��Z�[>%#�\*�]^

Description Mass (g) Part No.

Slide Adapter D28 ��	" TFS.D28.8.04

M=9Nm


�


� ��

��
�

�*�?K�>?�@+KQ��������V�K?�_�+Y�]'��K]+'Q�����`'Q���]Q'���]'��K]+'Q�\K+_KK��+_'�@Q'`�*K�+V\K#
where slide adapter can freely move along the profile tube inside.

T P

T-29
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Cap

Description Mass (g) Part No.

Cap 2.6 TFS.D28.4.01

Description Delivery Length Mass (g/m) Part No.

Slide Strip 2000mm/bar 83 TFS.D28.4.02

17.4

8.5

3.3

31
.4

��
�

Caps for the ends of profile tube can prevent frons injuries 
and improve product appearance.

Material: ABS

Joint Accessories

Slide Strip

Simply clip the Slide Strip onto profile tube D28 to create the same 
horizontal plane as the joint connector.  

Material and Color: PVC, Gray

5

13

���

T P

P

MGSMASMASS SPS TFS
T-30



Description Mass (g) Part No.

Anti-Torsion Block 1 TFS.D28.4.03

Modular
Assembly Technology

®

Anti-Torsion Block

Using the Anti-Torsion Block ensures the profile tube is correctly 
aligned in the connector, making it easy to avoid assembly errors. 

Material: PA6

Joint Accessories

5.6

4.3

��"

T P

T-31
MGSMASMASS SPS TFS



��

Hm
in.

Hm
ax

.

L

K

+2.5 °-2.5 °

Description Mass (g) Part No.

Threaded Insert 47.6 TFS.D28.5.01.015

27
���

M12

Modular
Assembly Technology

®

Threaded Insert

Floor Elements

Threaded Insert is used for attaching profile tube to feet 
or castor.

Material: zinc plated steel

Pivot Foot

To support the structure where gradual height adjustment is needed, the pivot foot has 
a small swiveling angle and is used for slightly uneven floor,The connection between 
the pivot base and the spindle can be released with a tool.

Material and Color: Base-black PA6   Spindle-zinc plated steel   Pad-black rubber

Description D     
(mm)

KxL
(mm)

H min.
(mm)

H max.
(mm)

Max. Static Load
(N)

Mass 
(g) Part No.

Pivot Foot-PA 6 Base 

59 M12x90

M12x90

70

70

152 5.21.60.12.90

79 188 5.21.80.12.90

79

M12x130

M12x130 100

100

4500

9000

9000

10000

218 5.21.80.12.130

99

45

326 5.21.100.12.130

P

MGSMASMASS SPS TFS
T-32



Modular
Assembly Technology

®

Floor Elements

Description D     
(mm)

KxL
(mm)

H min.
(mm)

H max.
(mm)

Max. Static Load
(N)

Mass 
(g) Part No.

Fixed Foot-Steel Base

40 M12x70

35

50

M12x70 50

9000

4000

7000

124 5.23.40.12.70

60 181 5.23.60.12.70

80
220 5.23.80.12.70M12x70 50

M12x110 80 240 5.23.80.12.110

Fixed Foot

Fixed Foot have a non-movable connection between base and spindle.

Material and Color: Base Plate-steel, electrophoresis, black    
Spindle-zinc plated steel    Pad-black rubber

��

Hm
in.

Hm
ax

.

L

K

Description D     
(mm)

R
(mm)

H    
(mm)

Load
(N)

Mass
 (g) Part No.

Castor-Thread-Universal
63

32

63 104 800 550 5.41.63.M12

75 73 119 1050 670 5.41.75.M12

Castor-Thread-Brake
63 103 104 800 650 5.41.63.M12B

75 103 119 1050 770 5.41.75.M12B

Wheel Width
 (mm)

Castor with Thread

Thread Castor is connected to tube profile by threaded insert.

Material and Color: Base-steel sheet, plastic powder coated, black Wheel-polyurethane

H

R
M12

13

��

R
M12

13
H

��

T-33
MGSMASMASS SPS TFS



Castor-Plate-Fixed

Castor-Plate-Universal Castor-Plate-Brake

��

H

75
95

4566

8.5 13.5

R

H

��

75
95

8.5

4566

13.5

H

R

��

75

95

66 45

8.5 13.5

Description D    
 (mm)

R
(mm)

H   
 (mm)

Load
(N)

Mass
 (g) Part No.

Castor-Plate-Fixed
63 92 800 475 5.41.63F.T
75 107 1050 595 5.41.75F.T

Castor-Plate-Universal
63 63 92 800 675 5.41.63U.T
75 73 107 1050 795 5.41.75U.T

Castor-Plate-Brake
63 118 92 800 775 5.41.63B.T
75 118 107 1050 895 5.41.75B.T

Wheel Width
 (mm)

32

Modular
Assembly Technology

®

Castor with Plate

Floor Elements

Thread Castor is connected to tube profile by threaded 
insert.

Material and Color: Base-steel sheet, 
plastic powder coated, black Wheel-polyurethane

M8x16Bolt
zinc plated    

M8 Spring Washer   
zinc plated
M8 Washer  
 zinc plated

Fastening SetDW

M8 Pre-set Nut-10.2
nickel plated

Fastening Set

4XDW

MGSMASMASS SPS TFS
T-34



Description Panel Thickness Panel Material Fastening Set Mass (g) Part No.

Panel Adapter A

5mm~������ metal, wood, or glass 1XAB TFS.D28.6.01.01

T=12mm
wood panel

1XAC 20 TFS.D28.6.01.02

T>12 mm 1XAD TFS.D28.6.01.03

31
.4

23.8

10
20

10

�"	�

8.2

Slide Strip need to be ordered separately, refer to Page 30 .

M4x32 Bolt
zinc plated

Fastening SetAC

M4x35 Bolt
zinc plated

Fastening SetAD
M5x35 Bolt
zinc plated

Fastening SetAB

M5 Pre-set Nut
nickel plated

23.2

��8

17
.4

T

Modular
Assembly Technology

®

Panel Accessories

Panel Adapter A

Material: Aluminum

5mm<������ ������

P

T-35
MGSMASMASS SPS TFS



8
28

10
20

10

�"	�

18

23.8
8.2

23.2
15.2

6

T

��8

Modular
Assembly Technology

®

Panel Accessories

Material: Aluminum

Description Panel Thickness Fastening Set Mass (g) Part No.

Panel Adapter B T=8mm 1XAE 14 TFS.D28.6.02

M5x25 Bolt
zinc plated

Fastening SetAE

M5 Pre-set Nut
nickel plated

Panel Adapter B

P

MGSMASMASS SPS TFS
T-36



Modular
Assembly Technology

®

Additional Accessories 

Flow Roller Track

The Flow Roller Tracks with steel axles can be used as easy-running roller conveyors, guardrails or guide equipments for a long service 
life at low cost.  Rollers are made from high quality thermoplastic PVC material which has advantages of low friction coefficient, long service 
life, acid and alkali resistance and moisture resistance.  When workpiece exceeds the load capacity, more tracks should be used to scatter 
the pressure. The assemble incline angle is depend on the load and width of the flow roller frame.

Material and Color: roller wheels-ABS YW(Yellow) GY(Grey) BK(Black) Roller Track Frame: Aluminum alloy

T-37
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

10.5
38

6.5

5.8 34
.2 38
.2

25
41

L 

A ��8

6.5
10.5

5.8 34
.2 38
.2

25
41

38

A
��8

��8

L 

    30 TFS.D28.8.01.0130.BK

    45  TFS.D28.8.01.0145.BK

    60 TFS.D28.8.01.0160.BK

Flow Roller Track

    30 TFS.D28.8.01.0130.GY

    45  2000mm/bar 12.5 TFS.D28.8.01.0145.GY

    60 TFS.D28.8.01.0160.GY

Description A
(mm) Delivery Length Bearing Capacity Roller Color  (kg/m) Part No.

    30 TFS.D28.8.01.0130.YW

    45  TFS.D28.8.01.0145.YW

    60 TFS.D28.8.01.0160.YW

    45 TFS.D28.8.01.0245.BK

    60 TFS.D28.8.01.0260.BK

    75 TFS.D28.8.01.0275.BK

Flow Roller Track 
With Flanged 
Wheel 

    45 TFS.D28.8.01.0245.GY

    60 2000mm/bar 12.5 TFS.D28.8.01.0260.GY

    75 TFS.D28.8.01.0275.GY

Description A
(mm) Delivery Length Bearing Capacity Roller Color  (kg/m) Part No.

    45 TFS.D28.8.01.0245.YW

    60 TFS.D28.8.01.0260.YW

    75 TFS.D28.8.01.0275.YW

Mass 
(kg)

1.74

1.7

1.61

1.74

1.7

1.61

1.74

1.7

1.61

Mass 
(kg)

1.74

1.64

1.57

1.74

1.64

1.57

1.74

1.64

1.57

Additional Accessories

Flow Roller Track

Flow Roller Track With Flanged Wheel

MGSMASMASS SPS TFS
T-38



Description Fastening Set Mass (g) Part No.

Flat Rail Holder 2XAH+1XAI 342.5 TFS.D28.8.02.02

Description Fastening Set Mass (g) Part No.

High Rail Holder  2XAH+1XAI 351 TFS.D28.8.02.01

Modular
Assembly Technology

®

High Rail Holder

Material: zinc plated steel

M4 Set Screw
stainless steel

Fastening SetAI

Flat Rail Holder

Material: zinc plated steel

Additional Accessories

1

94
16.7

29 34

75

30.5

3048

15
�%	�

2940

16.7
94

1

30.5

3048

15
�%	�

T P

T P

M6x12 Bolt

M6 standard Nut

zinc plated

Fastening SetAH

zinc plated

M6 Spring Washer
zinc plated

M6x12 Bolt

M6 standard Nut

zinc plated

Fastening SetAH

zinc plated

M6 Spring Washer
zinc plated

M4 Set Screw
stainless steel

Fastening SetAI

T-39
MGSMASMASS SPS TFS



Description Fastening Set Mass (g) Part No.

Cross Rail Holder 1xAI 166 TFS.D28.8.02.04

Modular
Assembly Technology

®

Bilateral Flat Rail Holder

Material: zinc plated steel

Cross Rail Holder

Material: zinc plated steel

Description Fastening Set Mass (g) Part No.

Bilateral Flat Rail Holder  4XAH 355 TFS.D28.8.02.03

Additional Accessories

33.5
154

40

1

63.530.5 30.5

48

�%	�

16.7

48

1

60.5
30.2

33.5

24

6457
.4

T P

T P

M6x12 Bolt

M6 standard Nut

zinc plated

Fastening SetAH

zinc plated

M6 Spring Washer
zinc plated

M4 Set Screw
stainless steel

Fastening SetAI

MGSMASMASS SPS TFS
T-40



Modular
Assembly Technology

®

Additional Accessories

22
.5

45

15 15 15

16.3
93

32
9

17

�%	�� Description Fastening Set Mass (g) Part No.

Multi-angle Rail Holder 2XAH+1XHG 168 TFS.D28.8.02.05

Multi-angle Rail Holder

Material: zinc plated steel

Description Mass (g) Part No.

Roller Track Brake 36 TFS.D28.8.02.06

Roller Track Brake

Material: stainless steel

180

22

M5.5x20
self-tapping screw

stainless steel

Fastening SetHG

T P

M6x12 Bolt

M6 standard Nut

zinc plated

Fastening SetAH

zinc plated

M6 Spring Washer
zinc plated

T-41
MGSMASMASS SPS TFS



Modular
Assembly Technology

®

Additional Accessories 

MGSMASMASS SPS TFS
T-42

Description Delivery Length Mass (g/m) Part No.

Flanged Profile B 2000mm/bar 500 TFS.D28.8.02.08

Description Delivery Length Mass (g/m) Part No.

Flanged Profile A 2000mm/bar 600 TFS.D28.8.02.07

Flanged Profile A

Flanged profile A is used on sides of flow roller 
track. The flow roller track is inside of the 
flanged profile. The flanged profile is as the 
guide and protection rail to ensure the work 
piece runs on the roller track without deviation. 

Material: PVC/PVC Static-free

Flanged Profile B

Flanged profile B is commonly used between 
several flow roller tracks to ensure the work 
piece runs on roller tracks without deviation.

Material: PVC/PVC Static-free  

39

65

45.5

23 65

2

42

34

9

2

62

24

23
.5 D2

8

24
.5

min.45

48



28

1.9
37

8
6060

8
65

1.9
37

60

8
57

17

8
1.9

Description Mass (kg/m) Part No.Delivery Length
(mm)

Suspension Profile 0.51 0-5800 TFS.D28.8.05

Note: The length could be customized according to customer’s 
          requirements (Lmax.=5800mm).

Modular
Assembly Technology

®

Suspension Profile

Suspension Profile is used for hanging the 
material box by attaching it to the profile 
tube D28 with parallel connector A. 

Material: Diecast aluminum

Additional Accessories

54

6360

1.9

40

40

23

T-43
MGSMASMASS SPS TFS



NO. QuantityPart NO. Dimension

Modular
Assembly Technology

®

Application

1

2

3

4

567

1 289

8

9

10

12

11

10

11

12

14

13

3

4

5

6

7

NO. QuantityPart NO. Dimension

1 4TFS.D28.4.01
2 26TFS.D28.2.01.02
3

2TFS.D28.1 150mm4
2TFS.D28.2.01.015
1TFS.D28 587.5mm6
2TFS.D28.1 900mm7

8
9

10
11
12
13
14

2TFS.D28.2.03.02

6TFS.D28.1 785mm
24TFS.D28.6.02
6TFS.D28.1 580mm
3T8 Machining 609×814mm
2TFS.D28.1 700mm
4TFS.D28.5.01.01
45.41.63.M12B

1 4TFS.D28.4.01
2 TFS.D28.1
3

45.21.60.12.904
8TFS.D28.4.025

11TFS.D28.1 1210mm6
50TFS.D28.2.01.027

8
9

10
11
12

4TFS.D28.5.01.01

14TFS.D28.1 460mm
TFS.D28.4.02

24TFS.D28.6.01.01
4T5 Machining 1300×550mm

12Material box

4955mm

1165mm

8415mm

Trolley  

Material Table  

MGSMASMASS SPS TFS
T-44



NO. QuantityPart NO. Dimension

NO. QuantityPart NO. Dimension

Modular
Assembly Technology

®

1

2
3

4

5
6

789

10

11

12

13
14

15

16

1817 19

1

2

3
4
5
6

7

8

9

10

11

13

12

14
15

17

18

19

16

45.21.60.12.90
2
1

4TFS.D28.5.01.01
3

4TFS.D28.1 490mm4
4TFS.D28.15
4TFS.D28.4.02 1045mm6

18TFS.D28.6.01.027
8
9

10
11

13

24TFS.D28.2.01.02

7TFS.D28.1 1090mm
T10 Machining

4TFS.D28.4.01
1T10 Machining 1200×280mm

2TFS.D28.2.03.02

930mm

1200×600mm 1

14
15

2TFS.D28.1
2TFS.D28.1

16
17
18

2TFS.D28.4.02 445mm
4TFS.D28
8TFS.D28.2.01.03

19 8TFS.D28.2.03.03

215mm
1250mm

450mm

12 2TFS.D28.4.02 188mm

1 45.41.63B
2 5.34.40.STB
3

2TFS.D28.14
24TFS.D28.2.01.025
4TFS.D28.4.016
6TFS.D28.17

8
9

10
11
12

44.11.40.4040

6TFS.D28.8.02.01
1460mmTFS.D28.1

4TFS.D28
4TFS.D28.2.01.01
2TFS.D28

4

2

2TFS.D28.113
14
15
16

18
19

6TFS.D28.8.02.02
TFS.D28.8.03.01

21.11.40.040040.04(LDH/RDH)

21.11.40.040040.04 1557mm
6TFS.D28.8.01.0245.YW

4

823mm

560mm

100mm

300mm
1063mm

584mm

1480mm

17 43.11.40.01

Work Table  

Material Handling Trolley  

Application

T-45
MGSMASMASS SPS TFS



NO. QuantityPart NO. Dimension NO. QuantityPart NO. Dimension

Modular
Assembly Technology

®

1
2
3
4
5
6
7
8
9

10
11
12
13
14

6
6
4
8

54
2
8
8
2
4
2

19
6

22

5.41.75B
5.34.40.STB
4.11.40.4040
TFS.D28.8.03.01
TFS.D28.2.01.02
TFS.D28.1
TFS.D28.4.01
TFS.D28.2.01.04
TFS.D28.1
TFS.D28.8.01.0245.YW
TFS.D28.8.01.0145.YW
TFS.D28
TFS.D28.8.01.0245.YW
TFS.D28.8.02.02

270mm

1403mm
2940mm
2940mm
476mm
411mm

15 2TFS.D28.1 270mm

16
17
18

16TFS.D28.8.02.05
2TFS.D28.8.01.0145.YW 411mm
2TFS.D28.1 1685mm

21
22
23
24
25
26
27
28
29
30

2
2
2
2
6
4
3
6

14

TFS.D28.8.01.0245.YW
TFS.D28.8.01.0145.YW
TFS.D28.8.01.0245.YW
TFS.D28.8.01.0245.YW
TFS.D28.8.02.01
TFS.D28.1
1.11.40.040040.04(LDH/RDH)
3.11.40.01

TFS.D28.8.02.04

2001mm
2001mm
2178mm
2345mm

1575mm
500mm

21.11.40.040040.04 3000mm

19 2TFS.D28.1 800mm
1307mm20 2TFS.D28.1

1
2

3

4
5

6

7
8

9

10

11

12

13

14

15

16

17

18 19

30

Material Handling Trolley  

Application

21

22

23

24
25

26

27

28

29

20

MGSMASMASS SPS TFS
T-46



We reserve the right to update our product specifications without any notice and obligations.

Your distribution and service partner

Modular
Assembly Technology

®

Profession, Devotion, Keep Improving


	Company Information
	Product Information
	Application Samples
	Modular Assembly System
	Products Index
	Aluminum Profile
	Strut Profile PG15
	Strut Profile PG20
	Strut Profile PG30
	Strut Profile PG40
	Strut Profile PG45
	Strut Profile PG50
	Strut Profile PG60
	Angle Profile
	Conduit Profile

	Fastening Elements
	Pre-set Nut
	Square Nut
	T Nut
	Subsequent Nut
	Anti-torsion Subsequent Nut
	T Bolt
	Hole Reducer Bolt

	Connecting Elements
	Anchor Connector
	Die Cast Bracket
	Angle Profile Bracket
	Inner Bracket (with top thread)
	Linear Bar Connector (with top thread)
	Joining Plate
	Butt Connector
	End Connector
	Screw Connector
	Cubic Connector

	Profile Accessories
	End Cap
	Conduit end cap
	T Slot Cover

	Floor Elements
	Base Plate
	Leveling Foot-Pivot Foot
	Leveling Foot-Swivel Foot
	Leveling Foot-Fixed Foot
	Leveling Foot-Pivot Foot
	Cup pivot foot
	Mounting Plate
	Castor Plate
	Castor
	Base Angle
	L Base
	Foot and Castor Components
	Leveling Castor

	Panel Installation Elements
	T Slot Reducing Profile
	Panel Mounting Block
	Panel Mounting Strip
	Mounting Block

	Door and Window Elements
	Handle
	Guard Wing Handle
	Aluminum Handle
	Hinge
	Lock
	Magnet Catch
	Door lock
	Sliding Door Profile

	Additional Accessories
	Suspended Glider
	Swivel Angle Plate
	Potential Equaliser Nut
	Joint
	Frame Joint
	Mounting Adaptor for Roller
	Telescope Unit

	Profile Machining Code

	Machine Guard System
	Products Index
	Technical Data
	Protective Unit
	Protective Grille Unit
	Protective Grille Profile
	Bolt Connector
	Anti-torsion Subsequent Nut
	Spring Clamping Nut
	End Cap for Protective Grille Profile

	Clamping Profile Unit
	Clamping Profile
	Bushing
	End Cap for Clamping Profile


	Strut Elements
	Profile for strut elements
	End Cap
	Base Plate
	L Base

	Connecting Element
	Door Unit
	Swing Door
	Swing Door for Protective Grille Unit-Economical
	Swing Door for Clamping Profile Unit
	Components for Swing Door
	Al Removablle Hinge
	L Lock for Swing Door
	Ground Latch
	Door Latch
	Buffer Block for Swing Door
	Doormagnet

	Sliding Door
	Sliding Door for Protective Gnille Unit
	Sliding Door for Clamping Profile Unit
	Components for Sliding Door
	Profile Rail
	Pulley Block for Sliding Door
	Buffer Block for Sliding Door
	Guide Block for Sliding Door
	Lock for Sliding Door
	Friction Strip Components
	Die Cast Bracket
	Door Shutter
	Safety Lock

	Guard rail kick Plate Profile
	Machine Guard Kick Plate End Cap
	Machine Guard Kick Plate Profile

	Load Capacity
	Installation Information
	Machine Guard System(Steel)
	Panels and posts
	Doors
	Locks
	Accessories
	Proposal selection
	Standard of machine guard


	Stair and Platform System
	Technical Data
	Products Index
	Aluminum Profile
	Selection Reference of Standard Unit
	Aluminum Tube 
	Step Protection Profile
	Footrail Profile 40×120
	Step Profile 
	Strut Profile

	Tube Connector
	V Connector
	L Connector
	Angle Connector
	T Connector
	45°L Connector (Left)
	45°L Connector (Right)
	45°Y Connector (Left)
	45°Y Connector (Right)
	90°L Connector
	135°L Connector
	45°T Connector (Left)
	45°T Connector (Right)
	X Connector
	90°T Connector
	Cross Connector

	Accessories
	Stair Joint
	Step Ladder 
	Clamp
	Angle Plate
	Round Base
	T Base
	Side Base
	Guardrail Hinge
	Lock Adapter
	Panel Block
	Base Plate
	Pivot Foot 
	Base Angle
	Castor-Heavy Duty
	Hand Drive Support
	Inquiry List of SPS


	Tubular Framing System
	Products Index
	Profile Tube
	Tube D28
	Profile Tube D28
	Double Profile Tube D28
	Profile Tube D28 10slots
	SW Profile Tube D28
	DW Profile Tube D28

	Connector
	Technical Data
	L Outer Connector D28
	90° Outer Connector D28
	45° Outer Connector D28
	0-80° Outer Connector D28
	90° Outer Connector for Double Profile Tube D28
	L Inner Connector D28
	90° Inner Connector D28
	45° Inner Connector D28
	0-80° Inner Connector D28
	Linear Inner Connector D28
	Cross Connector D28
	45° Bracing Strut D28
	Parallel Connector A D28
	Parallel Connector B D28
	Parallel Adapter D28
	Single Adapter D28
	L Anti-Torsion Block
	T Base D28
	Profile Adapter
	Tube Adapter
	Slide Adapter D28

	Joint Accessories
	Cap
	Slide Strip
	Anti-Torsion Block

	Floor Elements
	Threaded Insert
	Pivot Foot
	Fixed Foot
	Castor with Thread
	Castor with Plate

	Panel Accessories
	Panel Adapter A
	Panel Adapter B

	Additional Accessories
	Flow Roller Track
	Flow Roller Track With Flanged Wheel
	High Rail Holder
	Flat Rail Holder
	Bilateral Flat Rail Holder
	Cross Rail Holder
	Multi-angle Rail Holder
	Roller Track Brake
	Flanged Profile A
	Flanged Profile B
	Suspension Profile

	Application




